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(TS U ( Objective Questions )

T WA 1 W 40 T, TP W99 1 F& IW Bl AT H 40 x 1=40

Select the Correct Answer of each Question from Question No. 4 to 40.

| WEIG: T o] 1 I ok el @
(i) X - & % FER (i) Y- 181 % THE=R
(i) 9™ ¥ I 9 w1 FRar gam (iv) ¥ ¥ 9% SR HI T gl

Generally a demand curve of commodity is:
(1) Parallel to x-axis (i1) Parallel to y-axis
(i11)  Downward sloping from left to right (iv) Upward sloping from right to left

2. Him 1 M o] 6 B S
(i) o1 agell ! HHd 9SA W T (ii) TG B e | uRew Bl €

(iii) YA o= ST © (iv) T @ @it

The law of demand is not applicable when

(1) Price of other commodities changes (ii) Quality of commodity changes
(ii1)  Change in fashion (iv) All of these

3. Tl a&g &1 wim waifaa et @
() ST E (i) SCRHT ¥ (i) AHLESHD G (iv) T W HIE @l
Demand for any commodity is affected from
(1) Utility (i1) Productivity (iii) Profitability (iv) None of these
4. HHI % qod H gfg B W =™ HT AT
() W& @ (i) T & (iii) emREfid ®dt ® (iv) 9 9 ¢ T

When price of coffee increase the demand for tea

(1) Increases (i1) decreases (iii) Unchanged (iv) None of these
5. U % oI § gfg § &R & A A
(i) dfs (i) s (iii) feer (iv) sTysfaa
Due to increase in Patrol the demand for car will
6)) Increase (i1) Decrease (iii)) Keep constant (iv) No effect
6. H9 & A H gfg o HRU 9 &I T H
(i)  wH (i) fo=r (iii) I (iv) 3TgsTfaa
Due to increase in price of apple the demand for apple will
(1) Decrease (i1) Extend (ii1) Increase (iv) No effect

7. SrEifieh foehm & RO woRd i Wi ghy SEe §
(i) o= =W (il) ™= AN (iil) o= AT (iv) gfe=nft o
Increase is the demand for wages due to industrial development is an example of

(1) Income demand (i1) Cross demand
(ii1))  Derived demand (iv) Competitive demand



8.

10.

11.

()  fer (ii) aRex=sie (i) AFEE  (iv) i
In short period there is no change in --------------- factors.
(1) Fixed (i1) Variable (ii1) Human (iv) Physical
SHICIBETC DR = i J— & fm = g fen
(i) 3afd gfg Fr=m (ii) 3cafd g™ fom
(iti) Scafd guar f=m (iv) fafda s/gaa f=m
Modern economics have propounded the law of ----------------
(i)  Increasing Return (i1) Decreasing Return
(ii1))  Constant Return (iv) Variable Proportion
----------- I & Gt wWieEl | giedd gwe 2l
(i) TUH (ii) &R (i) HHAd FA (iv) TER BA
In the -------------- Change in all factors of production is possible
(1) Short period (ii) Long period (iii) Intermediate period (iv) Market
period
FHA IAR
Ufadefia TeE Ht TR
SR 1 | [— HI B HE H IUEN Bl °
(i) A SeareH (ii) ired ScareA (i) HHA IAR  (iv) aIfie I
Total Product

Units of variable factors
The above formula is used to calculate --------————————————-

(1) Total Product (i) Average Product
(111) Marginal Product (iv) Annual Product

12. oAfte syeferer sy @

(i)  UEE A w (i) T IR i

(ili) W fafere wd (iv) =79 § |+t
Micro-economics is the study of

(1) National income (i1) National Production

(i11)) A particular firm (iv) All of these

13. = o o forad ot wd w89 &1 we s g 22
(i)  YSfart srefegereen (ii) GHTSTATE srefeereen

(iti) fafea stefeawen (iv) 38 9 *iE &l

In which of the following, that is coexistence of both private and public sector?
(1) Capitalist economy (i1) Socialist economy

(ii1))  Mixd economy (iv) Non of these

14,  SCURA FHYEA 9 i STAHROT ST 7

(i) Y=o ¥ (i) Tt 9

(iii)y fea @ (iv) o= 9

The concept of production possibility curve is associated with



(1) Samuelson (i1) Marshall

(ii1))  Hicks (iv) Robbins

15.  frerifea & dan & @ @

(i) Tofrms & wE (i) 3TEAIh! & H

(i) Twial & &H (iv) =9 |+t

Which of the following is the example of service

(1) Work of doctors (i1) work of teachers
(ii1))  Work of Lawyers (iv) All of these

16.  Tretifera & @ # anfeles o 82
()  efhfaem (ii) =gar (iii) ¥& @t W (iv) &I S G

Which one is economic good in the following?

(1) Television (11) Air (111) Sunlight (iv) Water of river
17. 39 i GHEN sEfaT @ ST gER Wi ©
(i)  ordifha (ii) d@ifm@ (iii) < (iv) 9ga SR
Scarcity problem arises because our resources are
(1) Unlimited (i1) Limited  (iii) Sufficient (iv) Vast
18.  TFE R I srefoeen & 4@ oMfefe qreet 1 WEAT FIA YSdl @
()  gSfemst (i) oSt (iii) Tafya (iv) g+t

Which type of economy has to face the basic economic problem?

(1) Capitalistic (11) Socialistic (ii1) Mixed  (iv) Every

19. @ enffer guemst & wRor ©

(i) orefifad s=od (i) ©iffa @meA (i) fof= gamar  (iv) 39 @+t
All economic problems are due to

(1) Unlimited wants (i1) Limited means

(iii))  Different priorities (iv) All of these

20 = ¥ @ w0 o\ w1 fawivar @2

(i) U (il) @@ (iii) fafma-wea (iv) 9 9 9

Which one is the characteristics of wealth?

(1) Utility (i1) Scarcity  (iii) Exchangeability (iv) All of these
21,  efoHERe i HEE W F 72

(i) @A HT eAEeA (i) |MEFAT T HITATH TAT

(i)  oTf¥w fawm (iv) 38 ¥ ®lE &I

What is the central problem of an economy?

(1) Allocation of resources (i1) Optimum use of resources

(iii))  Economic development (iv) None of these

2. IR GHEA 9% H gl FRAT ©

() TEE IR (i) =@ 9 s

(i) & ¥ 3W (iv) R 9 =

The production possibility curve slopes
(1) from below to above (i1) from right to left



25.

(iii)  from left to right (iv) from above to below

23. U <9 o onfdfe fag faslk s @

() st gEEA (i) ISR &1 SAHR

(ili) pfaw @i (iv) 38 9@

A county development depends

(1) Capital resource (i1) Size of market

(ii1))  Natural mines (iv) All of these

24, U GHSEE! AT HT Hol Se9d el §

(i) w9 enfSia & (ii) TTeeRTe FfaatiTar

(iii)  THE0T o e (iv) ifeerad ol e
The main objective of a socialist economy

(1) To earn profit (i1) Cut-throat competition
(ii1)  Control free economy (iv) Maximum social welfare
SUHIKAT qde Yel Sl %—

(i) A sreme o (i) wmifie srefemes o

(i) (31) 3R (&) <A H (iv) 378 9 forelt o &1

Consumer’s behaviour is studied in

(1) Micro economics (i1) Macro economics

(i11)) (1) and (i1) both (iv) None of these

26.  SUHITE HT G BT ST Hehdl @

() Tt & fatEm g| (i) 9% & =F& N

(iii) &1 g (iv) 38 9 ®iE &l

Utility is measured by

(1) Exchange of commodities  (ii) Sale of commodity

(i11)) By Money (iv) Non of these

27. A 1 yom fEm R0

() =W frm (i) Tm-Hmm= 3w e

(il) o YA e fem (iv) Sudien S

Which is the first law of Gossen?

(1) Law of demand (i) Law of equi-marginal Utility
(ii1))  Law of diminishing marginal utility (iv) Consumer’s surplus

28,  O-dHiq SYAfTE Y # giues §

() TR (ii) g (i) wew f@my  (iv) et
Law of equi-marginal utility is propounded by
(1) Gossen (i1) Pigou (i11))  Adam Smith (iv) Ricardo
29.  WE ST HT UM B0 AW ©

. ATO ... AMU ..o AQ . AQ

@ g (1) 79 (i) Ty (V) 3mo
We calculate Marginal utility as

ATU AMU A A
i) o (i) (i) = (i)

AQ AQ ATU AMU



34.

32.

33.

35.

36.

30. @ ol SYANE (TU) fushad gl © ad Eaia et (MU) g €
(i) = THw (ii) RUMCHS (i) I (iv) 378 9 ®ig -
When Total Utility (TU) becomes maximum then marginal utility is

(1) Positive (i1) Negative (iii)) Zero (iv) None of these
31, A dd s Ea®

() TU @ < Souad eial @ v/ ah MU & @l &1
(i) TUE Seoau gl € e MU ¥ & sk &l ol &)
(i) TU @ fiRd efmar @ S MU SRUlcHes 8 ol §

(iv) STg% g«

Which of the following is true

(1)  TU increases till MU is positive (i1) TU 1s maximum when MU is equal to
zero (iii) TU decreases when MU is negative (iv) All of the above
S e e ®
(i)  3T™ & AR ITA (i) 3™ & 3R Faqat

(iii)  (31) 3R () I A (iv) |t T

Indifference curve is

(1) Convex to the origin (i1) Concave to the origin
(i1) Both (a) and (b) (iv) All of these

ST 1 TTOMET aree fagia feee e
(i) ¥Ani@ (i) 9 (i) few@  (iv) o=

Who gave the cardinal concept of utility?
(1) Marshall (ii) Pigou (ii1))  Hicks (iv) Ricardo
Teh 39T o &9 H 3

()  SuAifTar & eAfusam wE (1i) At @ i S TR

(iii) IURA AR FHH H (iv) % @ q4Hg T8 K3l

As a consumer you will

(1) Maximize utility (i1) Purchase more and more commodity

(i11)  Reduce production cost (iv) Not like to purchase commodity
i % fau g Sw ©-

(i) % H T (i) WEA (i) @9 & H qORAT (iv) 30 § |l

For demand it is essential

(1) Willing for commodity (i1)) Resource
(111)  Will to spend (iv) All of these
<o ol o % Hoa o wH ol € ae
() T wed ® (i) =T st @
(iii) W feer w2 (iv) A se&dt X et of @

When price of a commodity decreases then
(1) Demand increases (i1) Demand decreases



37.

38.

39.

40.

(iii)  Demand constant (iv) Demand increases and also decreases

fiftr o fF e WehR &1 erdt ©

(i) fafvre (i) o3 (iii) g (iv) e

The type of given good is

(1) Special (i1) superior (iii))  Normal (iv) Inferior
Hi AR ged § waY e ¢

(i) fouda (i) gaet

(i) (30T (F) A (iv) 38 ¥ 3§ &l

The relationship between demand and price is

(1) Inverse (i1) Direct (ii1) both (a) r (b) (iv) Non of these
HiT k1 e SR e ©

(i)  I% ® HEd @ T TE AE S A HaY h
(i) I a%getl H wEd oY H
(ili) SUHERT T S AT AN TS TN & g 9y B

(iv) 3T 9 ®E T
The law of demand express
(1) The relationship between quantity demand and price of commodities

(i1))  Price relationship of two commodities
(ii1))  The relationship between consumer’s income and quantity demanded
(iv)  None of these

i e frEm wn) T g €
()  ANHEE® sl W (ii) Toenfaa & axgeti =
(i)  oTEvIw TG | (iv) =1 =ife &t aggeti |
The law of demand not applicable on
(1) Comfort goods (i1) Luxurary goods

(ii1))  Necessities (iv) Inferior goods



g 39ad w9 (Short answer type Questions)

W9 1.) SR Gl o (PPC) § 921 T8 22 I8 et 3R el fogehar &2

Y99 2.) YRA % YA UH & FAHI HI qUH DI

WO 3.) H=0F GUET 941 @ S A & I Bt 27

W9 4.) 4R 9 o1 aread 22

U9 5.) o @t (TU) & dHia 3wfia (MU) ¥ @ w1 &1

U9 6.) HHia YA 3 fEm @ e &+ |

W9 7.) T Y FA GEK T2 HIT HI BHA-BF ¥ T GAET FQ 27

W9 8.) SR fFE Fed 82 STl F-Fn fagmand 27

9T 9.) TfTEATA o] Td Teh a%] H AR T A |

TS 10.) | % ) n grad 22 9 qra § qRedd s i s W WosE g9E
Tedl 77

g swia wya (LONG ANSWER QUESTION)

W | wAfie srdumer U gHfie e $9 T g R FeR @7 S ofed wmesy)
W9 2) Hehel a9 o1 B2 Gehed 9T Y UM S9 1 S €
Y99 3) TSGR T TehIfhRIcHs Jiadiiar sl aReafid i
U9 4.) %3N T Fanell H SR sy
g 5.) ffafea siwel @ o fafy & g0 IR iddl R Tehel TR I i T

Hifsg
FE (F0)

i) EECUBCRCRE| 800
iy =™ 200
iii)  HouR™ 60

iv) focen ¥ g @A o -15
V) Tl T 100
vi) @ 500
vii)  STIHY H 200

viii) = 50
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1. (iii) 2. (iv) 3. (iv) 4. (i) 5. (ii) 6. (i) 7. (iii) 8. (i) 9. (iv) 10. (ii) 11. (ii) 12. (iii)
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g sa0g w9 (Short answer type Questions)

U9 1.) SR Gl o (PPC) © 921 T8 ©2 9% Qe 3R e fogehar 82
I/ - IARA GHE gk (PPC) 3Iuced 98 W@ dohriiee W o X Td Y & ScARA
Ed|

fafa= doreiet 1 qwiar 21 7 Sfed IR 9o fogewar @ 5@

(i) doem o gfg et ©

(ii) eiferer Germ eheieh & ST B @

Y9F 2.) URA & A Y & FAHI HT AU A
I - 9Rd & PAE 39 $ R TTh 8-
o MR ¥Y = ffd - I&m@
o ¢ W H IV =AUR AW+ ot sged w1
o TS W &1 W 7eral Yot @ 1 A = foet frawr (frar) + fakeht o (faa)
+ dfF (Fraa) + T &0 Fan+ o= TGSt (o) + 9 - 9%
o THY VW = Tl - 9+ Yol T - W

WO 3.) g gueErd 0 AR A b S et € 7
SW- S5 gEEnd e 2
(%) FI IARA BI7: IARA & a1 awgedi ¥ Fafea =9 st aue
(@) S I 817 ISURA dhleh ¥ Heafd =g 1 TaE|
(1) frgs foau I 817: axgeti & SYAN Haret & 9o faaRe 9 gefa
HHET
3 |l ot gk sreferereen Wt §1 3 WHEAd Soq= Bl © it (1)sTeitha
SAETIHAS i ol o Fred @i 21 (1) Ferl & Sehfeus SwE g9d 2




9T 4.) &1 9§ o1 e @2

I - wE f o W G w9 9 fatmg & wem % w9 0 wWieR Bl W @ i Wy
& qed & WY T Hod 1 HW off A 7, R Feeldt 8
WA R H, GE TH UH O] € S g ®9 § 9R FE Sl ¢ fafma w5 wem, ge
T TG, A& PAH F A, SR GeT H G |

9T 5.) &a swfm (TU) & dmid 3wt (MU) # @ T &1
I - U I T Gl ThEAl W g A ST & g A Hgq ga syt (TU)
FEd T
ITAN L el G&h STl A1 AfqH TP § W SUAAT &l g 3w (MU)
Fed R
() & MU fidt € @ TU <&t @ sredt < 9
(b) & MU 3= gt € @t TU etfuesan gt 21
(¢) =& MU ureas gt € @ TU wredt 2

Y99 6.) HHid YA 39 o & = w)

S - diwid ST g e g Jaqma € 6 w9 en fhd a5 1 STEn e ® d s
T dlell B el TR W frer arelt SwEifrar sedt St ?1 3w frem @ 9 ot A
21 (i) HE 5En YA e AT, S U %9 =E (Th 9w 99 ), T e
T (7 fF T S5 )
(i) 399 &} fowan omar gt =feal

Y9 7.) | § 1 GEWHA 82 HT i HiA-hM ¥ qel g9 w2l
I - T A% I HA B I AE TH91 I Ga © Fohe T gHR e qEte |ieE @l
i &l JATfad A e dcdl:
(i) =% F e (i) Hafoq aEget w1 e
(i) UMD ® TG
(i) IUAET ®I I
(iv) wfo= o qea 9Radd &t F9E

W9 8.) SR fFE Fed 82 ST F-F fagmand 2

I - T % Fuie e Fefatea 2
STl AT W SR YIS W 39 W ORI w1 sy e € el W awsge
FIa-Taha B B W AT W SR Rl oA e g 1 N WuHA &% ITER
"IN TR w1 o1 STevEs ®Y U IS T fav AE g, oA wely % A1 asgel qen
I sl R fasmaetl @ Hefua 2, S oo o ewedel 9 9 i wd 2l
R T fagiead - (1) a%g (i) &F (i) ®ar & fagar (iv) i gfe@fa (v) @

e




9T 9.) TfTEATH o%g Td Toh o] H IR T A

I - UiAEnTH o] o a&E et © el 80 Th-SW % 9<al W WA Y Gehd € A A
g ¥ qfadaeier g @1 afs fordt 9% 1 Hod 9gdr @ df SEH! Yfwere T o i A
9% Sl €1 S YR A fordt o % Yod W hHl Sl € O Heh! WITRT g i W
M2 W 1 ST WEY-AF-hIE!, - T
Tk TEE 3§ TE T T yE we-me g @)1 A fedt 9 1 gou g Wi
IS Tk I I A T S 3 S faudi At a5 a1 god W W A [ o
HT TN I ST | ITE WEY FR TF U, 99 T§ SRl

TS 10.) | & ) o grad 22 o A4 § qiede i Hi sl @ WO §9 e
Tedl 77
I - | I @ TR FrEaet W g R s 13w e @
() U H g fer i @
(i) YA & TR T 99 H s IRadd &1 2
(iii) Tehe afese o gea ufted™ *1 Gurer & e @
(iv) wefyq awgeti & goai ¥ #E giedd 9 e afg 379 9 fet of wrar o aftads
e @ W i Y@ o uRedd g ® A Al AN i AR AT NS HT AR A i
3R Y@ SHH! oA W Wil TE Afuen w0 Wl <l € R Ww W iR Wi L
SHi Hea W A T W WET Rl <9 2

g swa uT (LONG ANSWER QUESTION)

T | wAfe sl ud wfe st S9 T g R FsR @7 3w ufed wmemsy)
SW - =Afic o g srefarel § % ofd g gu ot 3 Tden Th-gE ¥ 3erT T ® SR

T A R faedt 2, afcsk 3 @ - F T 21 SR & for, g oeiglt ®R)
o1 Freffeor gafie stedomer o1 fawa @, Safs ol w sam § mogd @ @ fufo sfe
sfefome %1 fawa 21 g 99 &9 ot w% S o A9l 1 Aesd ) 9 FH41 @ 39
T GYH < % G A WX R AT E A IS SH e 3 % HYUl IR o
TSR &R o1 Tordll 3@ fo9iY & Scured d USFIR &R W 996 98 3 <90 & 9
FHAd TR w1 fhH TH oG P HAET W INE T IRER gR e ffved &
SR S F R U AYEl g% W HA Y YHIG Bl 2 IH WE AR efvre
Sfte srefemre i gfed L 2l

T R, Afte sredvme off gufic sl 1 yafad < 21 Ssew & forg, fafa=
SR eMfefer gohTsal & Scae W & R Wl el ST &R IR 39 & fafu= safaal
H A W E Ty G R e 1 sreforaen w e wed oAfRd URERl % wed
wEd @ e gt €l

9T 2) Tk O 9 €2 Wehel o T MO 69 T S R
SW - T eforaeen ¥ uh ffvuq emafy § g Yt fofor 1 gehat faw wed 21 5ol



e fEe o gwa fer GG fow 9 it ®d 21 @i fEv #=d 31 @ =i
e iR waa fer O faw A wffa w0 §) Wi fow 9 ome ? dued & o1
A SURH-STHl & U Hed " iR g (Fififa e erdfafa W) o1 =i 7w
SAeferaeen § SR TS UL H RSt i SR W % fau stevasw g ¢ fer
Tft aftemfaal S A9, SUso, ARG, Iieed Susel ofs % Wi o gfg W
Tohel e St faw et S 1 38 Tt Yoft fmfor off et s 2
39 YR Heha ferer w1 o freEfafed g3 % gR1 kT ST Wkt @i
e Faw = =i faEv + aea fer It fa
U9 3 TShITUHT TS TehTTIehRIcTeh TIaAiTdr sl TR il
Define Monoply and Monopolistic Competition.
I - 5 G W FRHi-asg el Yal 1 4 Uk SIS Bl © dl 56 TR
(Monopolist)
Hed © 3R T THIUHM 1 hi§ O UiEh & il 9 FohR TR 1 1ef & T
Tl SRS g TRl ™1 ST AUl U &1 fashdl g0 T ™1 fashd| THIYsR STUs
W Mono +poly$W@W%Monoaﬂ${9jwﬁPolyWﬂﬁﬁ@ﬁT%ﬁT
21 39 WohR TR o1 27¢f Bl € ek Wil fashanl o 9k W foRel g 1 T W
faghal idl € S 3§ owg A1 Y 1 g W gl FrEor Tear @ SueRt g e giaant e
g 2
TR TR - Thifwrers g o faem W Swrfed &t 39 2
THTTeRer FIGefi 1 Yiaaifial T8 TsideR &1 fafsd ®9 el ST Gl ¢ oo
Sre ® atfuenisra WehTieRen giaeitrar w1 feafa g e @1 ey g0 A =@ <@n e
2 5 @ & 9% % 3 SRS B B, TSl aeqd fHerdi- Sordt € wfehT T & @l
2l 379 TEY deHm, UfRT oS % HRU Aigl A EvA Ul Sl @1 39 Scaeeh o
A STel w o=H & fau R wfeergt @idt @1 g 3@ fefd § of g SR #
A Sl F I P SURT H THIUHR I &l g1 S Hiewe URL FHiehle Hrt &t
T A R & IRHNR R %1 3dRT IREHR I @ SOl 3R SHHR IEW
THIRERR BT it Teieh Scaieeh Tl © Wy SHeh Fiaanft €, o1d: =Hefer o 39
fearfa 1w wfeEifian el 2
U9 4.) TG TH Farsti H @ Farsy|
IC- 1) ogell % SR U SUHN & St HHT H1 SR € Wehdl g1 S & AU, Th
FHl 1 IcaeA et w oy gHa fag W e S 2, fRq s@e STk % 9w &
v e S @ B fRg Tw el & aR o Tl @ Hehanl Yare & Sced T
YA F S THA B HE SR T e g S F A, S f FE AAmE o
femneffal ol UM UKW w1 €, SHH! T LAY T 1 SH wwy famnedtai g sudm
oFf fopan <an 21 5 YR SRR, deial, M, dfwT, S enfg dene & aR H ot =i
2l




2) IEgeH & YN H THH SR & A T fFA S Hehar @ Telfr Jare & UG
I 3T IART & WM § T T&1 foran S Fehalll
39 YR G H, Iqsll 1 el & gfaw & gy T W & @R fRa S g
21 forg Genetl &1 SUAm qf stferd w9 @ Yar g i wHg oiR wm W & e W

Gehall 2|
9 5.) F=afafaa stiewel @ o fafy & g SR #Hdl W 9%a TR IAR I TT0H
EdlE
g (¥0)
ix) TSRd d o 800
x) = 200
x1) A= 60
xii) facen o 36 W e -15
xiii) e FerEE 100
Xiv) ¥ 500
Xv) AT h 200
xvi) &N 50

ga: GNP p = #9g0 9 oad + &FE + A
+ @Y + YoURE + U H
- onfefe werIar + fodel ¥ 3rg WeH oM
=800 + 200 + 50 + 500 + 60 + 200 — 100 + (-15)
FE ®0
= 1695 HUE &0
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Objective Question

YT WA 1 F 40 T, T Y99 H T&l S hl 999 il

40x 1 =40
Select the correct Answer of each Question from Question no. 1 to 40.

. ot sefyme sieRE @

(i)  UEE A & (i) T IARA i
(iii) W fafere wd (iv) =9 § |+t
Micro-economics is the study of

(1) National income (i1) National Production
(ii1)) A particular firm (iv) All of these
fre ¥ 9 frad ot wa ardsifie &9 1 98 oifad gidr 272
(i) Yot sreferereen (ii) GHSTETE s1efeeren
(iti) fafya stefeawen (iv) T8 9 ®iE &l
In which of the following, that is coexistence of both private and public sector?
(1) Capitalist economy (i1) Socialist economy
(ii1))  Mixd economy (iv) Non of these

. SCIEA WHHEAT Tk hi AEUROT SE §
(i) H=esA d (i) T 9
(iii)y fea @ (iv) o= 9
The concept of production possibility curve is associated with
(1) Samuelson (i1) Marshall
(ii1))  Hicks (iv) Robbins
. TreAiferd & Gen &% SeE ®

(i) Tafecs & wd (i) A=l & Hr
(i) Tial & &H (iv) =79 |+t
Which of the following is the example of service
(1) Work of doctors (i1) work of teachers
(ii1))  Work of Lawyers (iv) All of these

. Trifera o 9@ S o g 22
(i)  cfifaem (i) @ (ili) ¥ & e (iv) & 1 qE

Which one is economic good in the following?
(1) Television (i) Air (ii1) Sunlight (iv) Water of river



6. SOWAl 1 TEE TEfAT ® eFifen BUR WA €

(i)  orHifua (ii) Wfg@  (iii) @< (iv) 9gd SRl
Scarcity problem arises because our resources are
(1) Unlimited (i1) Limited  (iii) Sufficient (iv) Vast
7. 9 R 1 teforaen H go oMY Tune H1 WHAl HE el §
()  gSferst (i) FarSerst (i) fhfa (iv) gt
Which type of economy has to face the basic economic problem?
(1) Capitalistic (1) Socialistic (ii1)) Mixed  (iv) Every

8. |eft enfeier wweaedi & wRUr B-
(i) oifad == (i) Hifda |meE (i) fafe= gamar (iv) 379 9
All economic problems are due to
(1) Unlimited wants (i1) Limited means
(1i1) Different priorities (iv) All of these
9. 1 o o *F = = fawiva €7

()  SHAIfm (i) Sfaaa (i) Ofa-wea (iv) 578 9 99

Which one is the characteristics of wealth?

(1) Utility (i1) Scarcity  (ii1) Exchangeability (iv) All of these
10. TfeTaEen Ht ST T 1 €7

(i) @A HT SAEeA (ii) &l ST HITATH TAT

(i) i fasm (iv) 38 9 *iE &l

What is the central problem of the economy?

(1) Allocation of resources (i1) Optimum use of resources

(iii))  Economic development (iv) None of these
11. 3G G =h 1 &l e €

() T IR (ii) =& 9 9

(i) & ¥ I (iv) ¥R 9 ==

The production possibility curve slopes

(1) from below to above (i1) from right to left

(ii1))  from left to right (iv) from above to below
12. T 291 &1 enfefe faermg fasfik e @

() st gErEA (i) 9IRS SRR

(iii) U @it (iv) 38 @+t

A country development dependsupon

(1) Capital resource (1) Size of market

(ii1))  Natural mines (iv) All of these

13. U GHNERE] 1efeqeee 1 9 Sevd el €
() =y ewfSia & (il) TRt Tl



(iii)  FEEw goa e (iv) sTfehan e Hhoamo

The main objective of a socialist economy

(1) To earn profit (i1) Cut-throat competition

(111)  Control free economy (iv) Maximum social welfare
14. SUHEH HEER UG Sl B-

(i) afic sl o (i) THfte orefeme &

(i) (1) R (&) I o (iv) 399 9 Tt & =&

Consumer’s behaviour is studied in

(1) Micro economics (i1) Macro economics
(111) (1) and (i1) both (iv) None of these
15. ST HY A B S Gehet 7
() &gl & fatEm g| (i) 9% & =F& g
(iii) H W (iv) 38 9 *ig &l
Utility is measured by
(1) Exchange of commodities  (i1) Sale of commodity
(111) By Money (iv) Non of these
16. & 1 o frgm @ 22
() ¥ & | (i) Tm-Hmm= 3w e

(i) HH YR g M (iv) SuHieE & a=d

Which is the first law of Gossen?

(1) Law of demand (i1) Law of equi-marginal Utility
(ii1))  Law of diminishing marginal utility (iv) Consumer’s surplus

17. 99-dHia ST fee @ gfaoes ©

() A (ii) oL (i) TeA fmy  (iv) Rl
Law of equi-marginal utility is propounded by

(1) Gossen (1) Pigou (ii1))  Adam Smith (iv) Ricardo

18. FiHT= U HT M B HA §

.. ATU ... AMU .... AQ . AQ

(1) AQ (i1 AQ (111) ATU (iv) AMU
We calculate Marginal utility as

.. ATU ... AMU .... AQ . AQ

O g ) 7q () 31y (V) MU

19. S el WA (TU) 3ifeehaq a1 € 9 Smia ST (MU) 8 @
() oS (i) oM (iii) A (iv) H § =g &l
When Total Utility (TU) becomes maximum then marginal utility is
(1) Positive (i1) Negative (ii1)) Zero (iv) None of these

0. fAF I I T ¢



(i) TU 9 I S=a" 81 & 9d 9 MU & &l 2l
(i) TUE Sooa9 gl € 5fs MU ¥ & ek &l < 21
(i) TUa fiRA ofmar @ S MU R0l 8 ol @

(iv) SwdF g
21.9%a o fRQ ‘Sl w1 o’ kel S 22
(i) IRea R o (i) W2 d% Afw gl
(iif) e A foea (iv) 92 s 3w sfvean
Which is known as the ‘Bank of the Banks’ in India?
(1) Reserve Bank of India (i1) State Bank of India
(ii1) Bank of India (iv) Central Bank of India
22f/ § ¥ A R w1 Wi w22
(1) fafraa =1 e (i) & 1 AH
(iii) (i) and (ii) 3 (iv) 7ea &1 d=
Which one is included in the primary function of money?
(1) Medium of Exchange (i1) Measure of value
(i11) Both (i) and (ii) (iv) Store of value
23.Ffm A @ w1 g1 w1 fgdae s @2
(i) Hed hl TAMILT (i) oI 1 9=
(iii) (i) and (ii) I (iv) 379 9 ®ig -/l
Which one is included in the secondary function of money?
(1) Transfer of value (ii) store of value
(111) Both (i) and (ii) (iv) None of these
24 71 %t o wfmfaa ?:
() 7o fuRo (i) I =1 G
(iii) ot =1 wegm (iv) Sud=a qsft
The functions of money includes:
(1) Value determination (i1) Store of value
(111) Medium of exchange (iv) All of these
255 H 9@ #H gg1 1 wE T 22
(1) HeA opl HIYA (11) HeH <h1 &<
(iii) e hl Gl (iv) o3 A1 feerismo
Which one is not the function of money?
(1) Measure of value (i1) Transfer of value
(111) Store of value (iv) Stabilization of value
26.9Rd 1 GaH WSl §h 8

(i) gt fista o (ii) ¥R B2 §F



(iif) U2 S A i

India’s largest bank is:

(1) Reserve Bank of India

(111) Central Bank of India
27. 9Ra § Yl A S T 2

(i) IESICEISE]

(iii) W2 o Aw sfoan

In India currency note is issued by:

(1) Ministry of Finance
(ii1) State Bank of India
28. 9Rdra fola S Y T g8 off:-
(1) 1947
(iii) 1937
Reserve Bank of India was established in:
(1) 1947
(ii1) 1937
29. Hifgen Hifq wsifer 2:-
@) Ak =
(iii) Il
Monetary policy is related with
(1) Public expenditure
(1i1) Public Debt

30. U2 S A gvea = @2
(i) anforfere S
(iii) rafoiees S
What is central Bank of India?

(1) Commercial Bank
(1i1) Private Bank
31. f= & @ i & @2
(1) MPC +MPS =0
(iii) MPC +MPS =1
Which one is correct:

(1) MPC + MPS =0
(iii) MPC + MPS =1

32. APC +APS = ?

(iv) S 31w gfoan

(i1) State bank of India
(iv) Bank of India

(i) fea wfea

(iv) 9 fsta o

(11) Finance Secretary
(iv) Reserve Bank of India

(ii) 1935
(iv) 1945

(ii) 1935
(iv) 1945

(i) H
(iv) gen aeR Hifd

(i1) Taxes
(iv) open market operations

(ii) Bf=a 9%
(iv) 9 ¥ &g &l

(i1) Central Bank
(iv) None of these

(i) MPC +MPS = <|
(iv) MPC +MPS = >|

(i) MPC +MPS = <|
(iv) MPC +MPS = >|



@) 0 (i) 1 (i) oo (iv) 3™ ¥ HE 7=
APC + APS = ?
(1) 0] (i) 1 (ii1)) ©0 (iv) None of these

33. MPC & WM ®:
@) | (i) O (i) 0¥ Aft®, 1 FH  (iv) ©
Value of MPC is .

(1) | (1) O (ii1))  Greater than O less than 1 (iv) oo
34. NNPmp=?
(1) GNP mp - 191 (il) GNP mp + &I
(iii) GNP mp + 3T X (iv) 370 9 hE el
NNP MP =?
(1) GNP mp —Depreciation (i1) GNP mp + Depreciation
(i1) GNP mp + Indirect tax (iv) None of these
35. f & W @ wh wE ?2
: I . _
M K= Mpc @ K= Ups
R .. 1
(i) K= wes @ K= vps
Which one is correct?
: I . _
) K= Mrc @ K= Ups
I . o1
(i) K= wes @ K= ps
36. =1 # @ #F wh Wl @2
) Y=C+I (i) Y=0=N
(iii) C+S=C+ (iv) S9da gt
Which one is correct?
(i) Y=C+1 (i) Y=0=N
(ii1) C+S=C+HI (iv)  All the above
37. ‘erefemred w1 fuar’ fend shet ST @2
@) BN (i) Hreerst
(iii) e Ty (iv) S Afa=m
Who is known as the ‘Father of Economics?
(1) Marshall (i1) Malthus
(1i1) Adam Smith (iv) John Robinson
38. =1 H W A SR 1 HEH B2
) fir (ii) i

(iii) a9 (iv) 3= asft



Which of the following is the agent of Production?

(1) Land (11) Capital

(i11) Labour (iv) All the above
39. T # e

(i) A (i) STER HX

(iii) (i) and (ii) < (iv) T8 ¥ &g &l

Direct tax is :

(1) Income tax (1) Gift tax
(ii1) Both (i) and (ii) (iv) None of these
40. f=1 & @ R AR H 2
(i) A (ii) TR
(iii) forent =2 (iv) 378 9 ®ig 7@l
Which of the following is an indirect tax?
(11) Income tax (11) Gift tax
(111) Sales tax (iv) None of these
(oTg ST q9T)

Short Answer Type Questions
U 1. - USTrardt sreferaten @t weeul favraend e #7?
What are the characterstics of capitalistic economy?
Ty 2. - facvit fafm= &t @i wd ofd & sna fataal
Write the sources of foreign exchange-demand and supply?

9T 3.- AW AN i TR &
Define Opportunity Cost

Y9Gk T 4. -Sca1e WHWTEHT oeh W 31T oRT |HSAd 87
what do you understand by Production Possiblity Curve?

U9 5. - e oy § wr auE 87 U d-di ¥ a7 B
What do you mean by micro economics. What are the scope of it?

U9 6.) 3@ & Thid YATE i AT Hifaq

Define circular flow of Income.
Yy 7.) S%gel wd wanst # Sid dasu|

Distinguish between Goods and Services.
W 8.) 9Rd H g1 qfd & ferw foA A w1 A fobar S 22

Explain the measures adopted in India for the supply of money.




U9 9-afE I 3T 1 Ued 160 &g wud aur fafa &1 9od 400 g ®u §
T T G A A
Y 10.) TOTh i STAUROT i THSEU|

Explain the concept of multiplier

LONG ANSWER QUESTION

yya  1.) foce fafma R &t 9 S s9% 9@ S/ @1 9o Fifsl
Define Foreign exchange market.Explain it’s main function.
Y 2.) IR hifSu|
Calculate Depreciation cost.
e 3.)

GG 7000 FHUS &0
AT 9500 HUS &0

AR -~ W ! TUMET ST AR THhT Fepid ot sy
Calculate Balance of Trade and explain its nature.
W9 4.) hida G iR q@it & X gl &1 geEd § ol )
write a short note on the adverse effect of price ceiling and rationing.
9T 5. - faaen o vrg Wiem 3" (NFI 4 ) | =R 39T €2 9 Vg faia ( Net export )
¥ &y faer 87

What is the meaning of net resource income in foreigns ? How does it differ from Net
export.



SET-2
ST

(Answers)

1. (iii) 2.(ii) 3. () 4. (iv) 5. () 6. (ii) 7. (iv) 8. (iv) 9. (iv) 10. (iv) 11. (ii) 12. (iv) 13.
(iv) 14. (i) 15. (iii) 16. (ii) 17. (i) 18. (i) 19. (i) 20. (iv) 21. (i) 22.(iii) 23. (iii)2 4.
(iv) 25. (iv)2 6. (iv )2 7. (iv) 28. (i) 29. (iv) 30. (i) 31. (iii) 32. (ii) 33. (iii) 34. (i)
35. (ii) 36. (iv) 37. (iii) 38. (iv) 39. (iii) 40. (iii)

(g I U9T)

Short Answer Taye Questions

9 1. - Yoltarer sreferawen i wgequl fagaant ==m &2
What are the characterstics of capitalistic economy?

IW - Yofardt srefeaeen ¥ A fonan %o 9o 9 9 {Siat safel & 5/ fee s
2l

et fafere ISfardt Sem & TF o1 oFe STl B T USTael steforeen ww UE

sreferaeen B e stferentar fpamehedl & frfafea sifireer g 8-

(%) Sced & el W Tl e @

(@) =) ® frfd & o= & faw @ s e s 2

(1) gt F Yanet 1 wA-faka wh Ffeed wimd W) Fan R, S Ao R
e T

Ty 2. - facyit fafm= &t @i wd ofd & sna fataal
Write the sources of Demand and Supply of foreign Exchange.
I - foceht fafma &t =7 & g.:

1) focet ® sy 9 HaW wled & o)
2) faceti # foxita aREufael eiied & fow s - s, IR
3) foRel qgx1et & oA W weant & fau)
4) faeii o yoaer few & faw S9 - M, W, hed TR
5) fafmr 21 T o
faesht fafma =t afd & sha:
1) foRfeEl g = IR ¥ gy (SRgsti 9 danst &) @ls|
2) foRfvmEl g0 woae el




3) faceft wHesl &1 TER I/ H 9=
4) T o = o At RAET g ST T O A Y9
5) o%gsll T dHaned 1 il

U9 3.- EEX AN hl TRATA il
Define Opportunity Cost.

ST - AR AN k1 YR T MR I8 € foF 97 o9+ oreiifyd seotefl st iffa aedi o
ufd ek eIfrehad WA W I i ORI Il €1 UH A & forw S® et WAl &
denfeqen FAMT e SeAl 1 YAE HET USdl €1 S9, 9 1 YA - W % foau wee
T, 3 W B oM, O w3 % fou few ST gl 81 3 TRR gfies eTu
oy &1 3T fR FREH ¥ wm w9 R gae) ) ghd @1 Ak 9t ) e
AME Sl @l Wb S A Tl HI H hM T AN HET US| TH WhR 4G #fHen
o Tl € @ SH HREM & HE H1 AN HET US| TH FHR H N Hl & S AN
% 9 ¥ YHRA &1 5o Th FM H HH $ A0 TR M H ST ISdl € @ Teed HH Hl
(SHU *H) TR AR AT IR & & H a0 Th IcaRd d SURA & FIE Il §el L
TR I | A Wl € Al I SHAaEE W S o I% WW Bl € 9 U8 oAeEd i
T AN e 2

YISk T 4. -IUTE HHEAT ok | 0 -1 G9sAd 87

what do you understand by Production Possiblity Curve?
I - T IR HHEAT T T FHIEH i AET 91 IIed Yifientd JH o g Icdied

w1 S G el gt aegel den deneil & gt Hefad WAl % WHE Al wqE 2
YA THIEA HT T qU ST YR 99 ¥ 79 UH fAfed w9 @ Scaed
#R THhd €1 39 IRl o afx &0 fordh ©F @™ 9% % IR HI SMl Wed © al gH
el T 9% T A WA TSl €1 S HRO SR FATSHT o I T JARHIA o
ff wed B1 TH o H! GEEA U A K1 GHE A1 Gt YHR & o wwest
A S Ghl 2

U9 5. - oAfe edvmE ¥ o WWHd §7 THeh hiM-hi W AT T

What do you mean by micro economics. What are the scope of it?

I -SAUST T WIEH! IS Uik o HEHE (micros) § S g3 2| AR srefemred o @
S 1 AT Bl B WifeeT % SUR “oAfte srefvre fav wHi, foiv Gafws we,
qegf, sAfgmTa Sam qen fafufie awqet 1 stemm 21




W YER Afe A | SWifa g faw, Sudea &1 d=d fogia, @@-Hd
IYAfT B9 Frm, Sy i o=d fagid, saferd wd, frefi-saim snfe wfter g 21
9% ‘g fagia’ & ™ @ off S S @1 S v q SAfte stefune, sreferet & e
F 5 o @

U9T 6.) 3T & THT YAE hi AR iU
Define circular flow of Income.

S - IA, faf e R Susi u reforeen & Hewyut onfde faehemy e §1
afefer forarhratmal & <A sreferaen & fafu= & & S SIRHA-YSH =erdl w&dl 81 39
M UEH & HROT @ AR FF Th TG W ThH & ¥ T &9 & sr" yaed e wd
gl sefoan & fafv= &5 & 9 9@ ® TR ®Y Q@ WEled B4 WA H a I
<h1d JaTE el Wl 2l

Uy 7.) axgell W@ wansll ¥ AR aanu|
Distinguish between Goods and Services.

IH- 1) oGS & IR Td SUAN H S WA 1 I e Fehdl €1 SR % U, Th
Fdl &1 ST R Tk faem gg fag R fear S €, fRq TEe Sudm s ma @
qyerd fehan ST wehar B1 fepg et Wensti & SR § Tl € Wehanl Wensti % SR T SUEHT
% ST AT 1 HIE A @l Bl ¢ ISR & fau, S g % ereAes oqn faneftal Wi
TS WRY il €, STR! TH A o h I wug femneffa grr sudm off fepen
21 3 THR TERY, Feidl, TRk, iR, s et gene % aR § ot sl 2

2) SRSl & SULNT hl THE SERA & TWH ¥ e A S Gehar € Sefh darefl & SqHm
i T IR & TIH 9§ T Tl fhal S Hehalll
U YHR GEY H, gL 1 SWESH &1 AW & G99 UE WE & AR fHA 1 deha
B forg Qansti &1 Suam @ eifterd €9 @ a1 g Fuifa g9g iR wm W & fRa =
el 2l

W 8.) WA H 4 fd & fau fma A 1 v fman S 22
Explain the measures adopted in India for the supply of money.

SW - 9Rd ¥ g1 ufd & = Sepfeues At s gEw fman S 2o
(%) M; =C +DD + OD
zod e ®:-
i) SFa % 9 w3 A @ A (o)
ii) | SME (DD)
iii) fod o & 9@ 3= s (OD)
(@) M, =M, + SR &=d deh § 5|
(1) M3=M, + dl & & g HETY S|



() My=M; + SR T9d Gl § Ta%d T TR (NSC 1 Bigai) |

W9 9-Tfe I MA@ T Ted 160 IS BUI a2 Faid o Joa 400 g TS ¢ dF 4
T g J19 A

If value of net income is Rs 160/- crores the value of export Rs 400/- croros then find the
value.
IW - AR e = Fafa - smm

M = il - SR Sgem
=400 - (- 160) =560 HE
Y 10.) TUTH i STHERVN I FHSAEY

Explain the concept of multiplier.

ST - ¥ T IR & Frufor § faw &1 Wtk eyl iR st a1 ST
frawr o afterdd Tk stefeesen § o1, e SR USHIR o &R ki Ywifdd il &1 Sfel
e # 9fg et € @ e srefcTewen it ScURH &A1 HI T a1 €, 3R 3AfAY S
IR AR & TR F off gfg &1 ot 21 S IR, Fawr o it wh steforawen w1 ScRE
&1, ScIEA Ua USTIR | &t Y <t g1 e # qfiteds &1 T i &% faw e 1
TUTeh <h! LT 1 Fiade feha o

LONG ANSWER QUESTION

gya  1.) forel faftma soR =t 9w ST s9% 9@ w0 1 90 Fifsal
Define Foreign exchange market.Explain it’s main function.

I - faceit fafma ooR o7 oeiR e € foes fadslt qet o wlig 9 "= S 1 39 YR
g forRelt 921 & @R o fawt =1 Uw HenE g 21 el faeeh quet w fawt e
& Sdfeh AT ! TSR id §1 AEE-Fald wE o skt oo fakelt e &
fau stoft fadeh gwieti 1 =R gwiel o 5o § SR AU SRel gwie o fakel gwe o
EEld
fasit fafma aR o qea wfaurh 2: aifveg o, fadeh fatme o, om sifusa €ier
3R Hifger wfewE|
fastt fafma aeR g w9 9 frafafea w@ w2
) faeht fafma aR #1 vq@ w0 fafa= <o & s Fwa-wfa & el & 21 g™
e 1 B0 SeAUIheh E&IIaX0l & §NI Bl €|
(ii) T @ FET AR & fau 9@ w1 Hewen T 2
(iif) T & Wife @ s= % fau giaud yge w3, stefd faget fafma =g o s
Tiig-foshl 1 glaemd yeH & 2l
foeht fafma swm o = faf= =@l = w0 & fau foeht faw, efimfees
T, S g9, W@ T S SUSHRON &1 Fam fman S 2




YIM2.) HeHBIERI i

Calculate Depreciation cost.

wS o
i) NDP 2000
ii) FC forell 9 s 150
qreE A (NF1A)
) IS HEE W 250
Net Indirect Tax )
ii) GNP wp 3000

Z: NDP gc+ NF 1 5 = NNP ¢
:2000 + 150 =2150 = NNPgc
NNP gc + G TG F = NNP yp
2150 +250 = 2400 = NNPmp
GNP, — NNP mp = F7erd
: 3000 - 2400 = 600 IS T = TeIgH
9T 3.)

frata 7000 FHIS F0O
DI 9500 IS &0

AR — 39 T TUAT ST 3N 3G YHid o =qEy)

Calculate Balance of Trade and explain its nature.

TA: AW - 39 = faid -
= 7000 - 9500
= -2500 HUS &0
&l AR - A9 2500 HIAS €O o =S I T 2|

W9 4.) Higq Gife iR qofin & X gl &1 g § i w1

write a short note on the adverse effect of price ceiling and rationing.

IW - Hud G o] #6 & fau TWER H T gored ff s uedt |1 59 YRR wivd
et o1 sreferaen W Frefafed g9 ged B
() wifean TquERT w1 g% - o WHR G HhiFd ST AN w S @ 7 Scehl vl
Gqe HIHd ¥ HIH! HH Hd R o ok § 3d: a9 %8 8 i g1 39 @i e ufd
FH B AU F% IR IARE AT T FT OO S 24 21 I: IE Y9I © fF @ HIAd
Hifeln o] &1 ST q9 Sysieet & wfean fFem #t awqe el




(@) T & HE § T BT H HiSE - SuAEmet w1 o qu sy & fag e &t

SHMl T S TSl Bl 98l 5% ol - el %Akl ¥ ©el ©A YSdl 21 el HE 9’ I
HI THE W IHT R TU & ST TS & UK 39 YRR T Hi FHEN 9 30 T i
TEE W HE H IR HSAEAT BT A FEAT TS €|

I 5.

- faaeit W v Wrem M (NFI , ) @ =40 39 2?7 9% 95 Faia ( Net export ) &
&4 fir 22

S -89 A ¥ fF U <9 & o g <9 & A9 9™ 9 gmfa # Y6 WEE

i)

g Ifld e @d 1 T YRR SR 39 & e ot 39 39 ¥ oo gl i et weE
FTh A FAM Wd | 3 AR TH TH 20 I fOR9 W Y WA ST AW FHIAT ded ©
@ T Hl R FSE B 3T foRE W Y WA ™ TH W & 9 A gh g
9 H AT WEA-TAN YIH hA GG W I IR TH W KT R T OH R
franfaal 510 UM T T Garel & ok § T I F AR F SR el T

el o g5 WeH o % A e 2

foken @ wd=nfeE =1 3 wisfes

i) Rl @ ST 9 Wufd © Ww g @ (HUld o, oA, o 3R o)
iiiy et wufEl o foken o g wiaaia e

foell ¥ Y5 WA A oA ot B Wbl @ SR hUTHsh offl v feRwl ¥ w WA
A ¥ Bl € a9 TRe] SR T IR i gol | B gl 81 R oe faren 9
IS WIEF 3T RN Bl © el e ScaE TS S i qorl § &gl gl 2l

fadell 9 35 wed o SR g frefa § e

fosol @ g 9eA o gg Fafd stuan go fadsht faw 9@ stem srguRon B W@ ®H
il § @ o & e ® d 9% gs el ?) 8 UNE om o ¥ g fadeh few &
¥4 W G S R 98 Gs faseh e sreen g frafa df se] Sce w1 € Tk W gl
2, Safk fosell ¥ g eF 9 T SR 1 TE, T SR h1 Th 90 gl g1 fefd
W] 3R § foell ¥ g WA o e € T IR A fRA S ghn )

T YhR, Hohel TLT IS 3R Tohel o] SIS & ot o1 iR focel & g @M 1
% SR Bl T

faden & g e 3™ (NFI ) = GNP - GDP




e KeEnear udtenm JAtdAfa, desr

a¥ 2017 BT AlsdT W U U IALHTAT

B OMIT) ( Economics )

SET -3



YT T 1 F 40 T, TAHh Y9 H1 G&l S hl 999 hil

40x 1 =40
Select the correct Answer of each Question from Question no. 1 to 40.
1- 9@ ¥ foxfg = 2:
(i) | a9 31 9 (i) 1 e ¥ 31 fe@mR
(iii) 1 3ToRER 9§ 30 faawr (iv) 378 9 ®ig &l
Financial year in India is:
(1) 1 April to March 31 (i1) 1 January 1 to December 31
(111) 1 October to 30 September  (iv) None of these
PP A | L 9 Hefod &
(i) B IEE R PRI (ii) Tl STefemE
(iii) qE (i) T (ii) (iv) T (&) T (@)
Study of national income is related to ----------------
(1) Micro economics (i) Macro economics
(ii1) Both (i) and (ii) (iv) Neither (a) nor (ii)
3- T SR A 3F TATHT T TF Tl —ommmommee g foren o 2
(i) et (ii) TR
(iii) EdRs! (iv) Tepret
The General Theory of Employment, Interest and Money was written by ----------
(1) Marshall (i1) Ranger
(111) Keynes (iv) Ricardo
R CRC I o  A—
(i) T it (i) T o
(iii) arefass ISt (iv) ST gsht
Mountain and rivers are ----------
(1) National Capital (i1) National wealth
(111) Real Capital (iv) International Capital
5-  u sreforaeen fagen onfeiw W T 39 @ B R A ST ST —-ommeeee
) a5 afefeerEn (i) Tt sTefeawen
(iii) W AT (iv) 379 9 *ig &l

An economy which has economic relations to other countries is known as----------
(i1) Closed economy (i1) open economy
(ii1) self-reliant economy (iv) None of above



6- o= G B STAT Fl FH FE © —ommmeme

(i) it frmtor (i) B4

(iii) fafam (iv) ¥R & I
Consumption of fixed capital is also known as ------------

(1) Capital formation (i1) Depreciation

(i11) Investment (iv) All the above

A R UE I L —
@) % oI + A (i) fosrl qoa - =10

(iii) %9 OeF + geFadt st (iv) fawt e - Aemandt agget &

Value added is ascertained as ------------

(1) Purchase price + profit (1) Sales price - Loss
(ii1) Purchase price + intermediate(iv) Sales price — cost of intermediate
goods
8- ST M H AN ooemev g Bl @
(i) 3 fafy (i) g fafy
(iii) e fafy (iv) W & gt
National income is calculated through ------------
(1) income method (i1) output method
(ii1) Expenditure method (iv) All the above
9- fova =t we™ A wfed g8 ot -
(i) 1920 (ii) 1925
(ii1) 1930 (iv) 1935
The Great Depression of the world took place in ------------
(1) 1920 (i1) 1925
(iii) 1930 (iv) 1935
10- +1g 7 wer o ff srefemeeen §  -ooev a1 fefa =t 2
@) ORISR (ii) eTfese ST
(iii) 31Ul TSR (iv) drid SIS
Keynes assumed the situation of ------------
(1) full employment (i1) involuntary unemployment
(111) underemployment (iv) marginal unemployment
11- T R & —mmmeee
(i) 3 H aftEas/ e § 9iea (i) o™ ® uREa
(iii) e o aftead (iv) H & &g &l
Multiplier is equal to ------------
(1) Changes in income/ Changes in investment (ii) Change in income

(111) Changes in investment (iv) neither of the above



(i) difger  Afa (i) = Hfa
(iii) amfefe fifq (iv) 3 & T
Fiscal policy is also called ------------
(1) Monetary policy (i1) Budgetary policy
(iii) Economic policy (iv) None of these
13- ifes Hifa & ged o @i § gfg w6 HH oeeee- % R & Hehel ©
(i) %  Aifa (ii) "r@ frmon
(ii1) (i) T (ii) (iv) 7 (1) 7 (i1)
In case of monetary policy excess and deficient demand is possible through -----------
(1) Bank rate policy (i1) Credit control
(iii) (1) and (ii) (iv) neither (i) and(ii)
14- 3= 9% # den fod 30 F s Bt B
i) a (ii) T
(iii) = (iv) 379 ¥ ®E /I
Number of central bank in a country is = ------------
(1) Two (i1) One
(111) Three (iv) None of the above
15- = d g0 T B —mmoeee
) HreSIeh A (i) frsfit =
(iif) A S (iv) 3 |t
Central bank grants loanto ~ ------------
(1) General Public (i1) Private Companies
(111) Commercial Bank (iv) All the above
I - I T 1 — U
(i) THR (ii) H= o5
(iii) A o (iv) 39 9 &g &l
Credit creation is controlled by =~ ------------
(1) Government (i1) Central Bank
(ii1) Commercial Bank (iv) None of the also
17- T ¥ HH WHR I R AT H W 72
(i) IR HY (i) Tfd
(iii) TSR (iv) 3 |t
Which one of the following is the tax revenue of the government.
(1) Exeise (i1) Wealth tax
(1i1) Entertainment tax (iv) All of these

18- RS RES (G B 1 B O o R o — % N



) 3T G HeT (i) Frafa dreEmea

(iii) IAEA Jf g (iv) 3 |t
Balance of payment deficit can be corrected by ---------------
(1) Import substitution (i1) Export promotion
(1i1) Increase in production (iv) All the above
19- fefie gHA U Y T oo ¥ gE o
(1) 1999 (i1) 1974
(ii1) 1964 (iv) 1984
Abid Hussain Committee was established in---------------
(1) 1999 (i1) 1974
(iii) 1964 (iv) 1984
] | — Bl TN B A - T @
(1) EI (i) EXI
(ii1) EXIM (iv) EIM
———————————— is the short form of export - import .
(1) EI (i) EXI
(ii1) EXIM (iv) EIM
21- = o 9 fFg gRR & 5§ oA sifek figeran @
@) EEGRRCIG| (ii) =Te] @
(iii) TE S (iv) S =
Which deposit pay more interest--------------
(1) Saving account (i1) current account
(111) Fixed account (iv) All these
22- IR § T qE S w1 AHR R W @

(i) U2 S Ah girea (i) B2 d% 3w sfvea
(iif) fisd o effw sl (iv) 379 9 &g &l
Who has the right to issue the paper note in India.

(1) Central Bank of India (i1) State Bank of India
(111) Reserve Bank of India (iv) Panjab National Bank

23- IR § wfsg § w1 W 2
(i) Ugd e A givean (i) &2 &% 3w s
(iif) fistd o 3t gfea (iv) T=mE A b

The name of Central Bank in India is.

(1) Central Bank of India (i1) State Bank of India
(111) Reserve Bank of India (iv) Panjab National Bank
24- IR &% 14 F@ Seh 1 TST HLOT g3 ol

(i) 1960 (ii) 1969



(iii) 1980 (iv) 1985

14 Banks of India were nationalized in

(i) 1960 (ii) 1969
(iif) 1980 (iv) 1985
25- TS & SARH-USH 3ol i frg tefemet 3 fam
(1) T (if)
(iif) forem (iv) TEEE

Which economist has given the transaction approach of money.

(1) Marshall (11) Pigou
(ii1) Fisher (iv) Robertson
26- W2 §F HT TG H W
(1) 1951 (i1) 1955
(iii) 1957 (iv) 1966
State Bank was established in
(1) 1951 (i1) 1955
(iii) 1957 (iv) 1966
27- Trfiferet o o sfrean &1 afafda famar mm
(i) fisd o (ii) H= o5
(iif) w2 o (iv) ISTE e SR
Imperial Bank of India was transformed in-
(1) Reserve Bank (i1) Central Bank
(111) State Bank (iv) Panjab National Bank
28- i 1 fagla defua 2:
(i) Juret o (i) 39 i
(iii) o it (iv) 3= asft
Keynes theory is associated with:
(1) Effective demand (i1) Propensity to consume
(111) Propensity to save (iv) All the above
29- =9 o1 IR fagra frefaofed & @ g w® fR w22
(i) et | (i) ofd
(iii) EICIEE] (iv) 3TH ¥ ®E T/l
On which of the following keynession theory of employment depends upen?
(1) Effective demand (i1) Supply
(1i1) Production efficiency (iv) None of the above

30- 3R MPC = 0.5 €, @ T (K) =I:



O (i) 1
(iii) 2 (iv) 0
If MPC = 0.5, then multiplier (k) will be:
(i - (if) 1
(iii) 2 (iv) 0
31- I W R HIEIT O hi JHIfed HLal 272
@) Hria s=a ygfta (i) Hoia g9 ygfa
(iii) (i) and (ii) 3 (iv) 3T° ¥ ®E /I
Which factor affects Keynesian multiplier?
(1) Marginal propensity to save (ii) Marginal propensity to consume
(ii1) Both (i) and (ii) (iv) None of the above
32- %4 A 7o U U fRAr o & &
(1) EIREINED (ii) SUANT TR
(iii) TSR 70T (iv) T8 9 *iE &l
Keynes derived investment multiplier from Kahn’s:
(1) Income multiplier (i1) Consumption multiplier
(1i1) Employment multiplier (iv) None of the above
33. ®F W e WaA-vw ¥ wiwferd 22
(i) st @ wear @ (i) 9fdf st @ =t @

(iii) A SR gfd TR B @ (iv) 3 A i e

In the situation of deflationary gap:

(1) Demand Increases rapidly (i1) Supply increase rapidly
(i1) Both demand and Supply are equal (iv) None of the above

34 - SAF Haer i o 7S St gt 82
(i) T W (i) ¥5ea "=

(iii) el faRoT (iv) Sudsa gt

Which items are induded in Balance of payment ?

(1) Visible items (i1) Invisible items
(1i1) Capital transfers (iv) All the above
35. 4Sil @1 1 Tk WS HH 2?2
(i) HIHR S (i) fsit sfawo
(iii) e foseft e (iv) ST gt
Which one is the item of capital account?
(1) Govt. transactions (1) Private transactions
(i11) Foreign direct investment  (iv) All the above

36. 9Te]. T H1 T TF i @2



(i) 39T Al T T (i) e & Td

(iii) 399 TR w1 fm (iv) STdaa |t
Which one is the item of current account ?
(1) Import of visible items (i1) Expenses of Tourists
(1i1) Export of visible items (iv) All the above
37. TAH-I /A HEh BT
(i) 1] @ (ii) IS @
(iii) (i) and (i) (iv) 379 9 +%E &l
The components of Balance of payment are:
(1) Current account (i1) Capital account
(1i1) Both (i) and (ii) (iv) None of these
38, MR- &1 371ef T
@) el R0 (i) ST 1 A TS Afq
(iii) Hd kY TH SH (iv) 3= asft
Trade balance means:
(1) Capital trans action (i1) Import and export of goods
(1i1) Total debit and credit (iv) All the above
39. % Teh YAHE-IT h1 T 7S €2
(1) A (il) a=
(iii) e (iv) 3= asft
Which one is the visible item of Balance of payment?
(1) Machine (i1) Cloth
(ii1) Cement (iv) All the above
40. % Th YAH- H1 G TS @2
(i) fe (ii) &S T
(iii) HER (iv) 3= asft
Which one is the invisible item of Balance of payment?
(1) Banking (i1) Shipping

(1i1) Communication (iv) All the above



SAHTAT

(Answers)
1. (1) 2. (i1) 3. (ii1) 4. (i1) 5. (i1) 6. (i1) 7. (iv) 8. (1v) 9. (111) 10. (ii1) 11. (1) 12. (i) 13. (ii1) 14. (i1) 15.
(111) 16.(11) 17. (1v) 18. (iv) 19. (iv) 20. (iii) 21. (i11) 22. (ii1) 23. (i11) 24. (i1) 25. (i11) 26. (i1) 27. (ii1)
28. (1v) 29. (1) 30. (111) 31. (111) 32. (111) 33. (i1) 34. (iv) 35. (1v) 36. (iv) 37. (111) 38. (11) 39. (iv)
40.(1v)

(T ST U9T)
Short Answer Type Questions ( 3 marks)

TIT 1. - IATEA & YUt AR WR § gl afg AD >AS € 9 U g ekt 772
ST -IARA & PO IR & &R ¥ Y& AT AD 1§ 9fd AS ¥ Afersh g1 refeazen
T fEder i e W Yehe w1 B Fith WM AD HA Y AS ¥ I ® gHieQ
SCUEh! hl TEGST & T IUAE Wik W T T H QW K T2 ST e ww T
5 Wi o aifod & w2 som e oef © e Scaed zafaw AS | dfg @
g Yiohd 9 Tk didl @I 59 doh AD Tl AS & o IA: Hqo a8l 8 Sl

9T 2. - URA S TS 9N | AT U 3T T Teh el UA9Td @l hld § 3T ITaht
APC Ao MPC St St gt &, a2y Urek T 9o W & et 21 il ?
I IO I TRAiieidl Teh YR 9 Wl TR SNHG © foh sreforewen # erfaftd amwen
e W R SHE S SUWekl o el € (Wi ded W) o Saaed § ot gfg et ©
(3 oed W) oifehd 9Rd S T 29§ ScUed &mal % el ¢ oid: W& et wi
agdl © o SR | g BH i U SUeTed IcdeT W gEeh WK YEdl B

W9 3. - SR A Ufd UX SRel W SR HeT Whifaeh favrel s feerfar Uer awear 21
IW - &I, |/ gfd AS W FHA AN HT SR T ThHifdeh Ta0a &l afd 1 I &l
Tl ThIfaen| el q9 Bl & ST e % gl UMK % &R W Rl Wi Ul o stk
gt 7

W 4. —Shegitd ook Rl AT HUTEET N wEd 37

SW - v foet afas S & w& T ff 0T W 7 8 99 9 BT Sk G KO KT A HIA
? IR F=g o St wfagfadl & oMy W SH HO1 T A1 B 3H YRR B R
affem oreral & ®9 H <9 w1 S oHewen W e enfrd s 2




U 5. -TgT Iod o WHIUTeR ATUeh fE@ o |uft sl sl o i ST Hehel & o1 hrd
& #1 faem it
IW - %] o gomell & T H©A hicdls Hod HI9H &1 T9E o, {51 % g 39 Hicrs
F R FHA T T T GH oY F IHE & TT H Tod T RS F 21 T TR
a5 AR Yol H HIEd K H Y W oFdd i W Tehdl © D Horkawy (eHe- T
Tl WX B Sl € S a4 i fafie w2, gRewfaen, <fre o qm % w9 o
= fohal S Tehal B1 G51 & 39 F@ & hoa®y MR BH AT ARGl 3TE, @1,
B, 1 STIEH T bl B

WO 6.- g Sk THIINEA g 1 wrd Wt ohar &1 a?

ST - dF & UG W Sl H ThS g1 HI A Al B B TH SRl B Hd dh §
Il Bl B1 SAUE $ Sehl % UH Ueh S % Weh W ®, IR YAH H0d S gN
Bl 81 S9:-A dF & U@ BH W I fEr 10,000 €9 H1 A @1 € 3 B & U
A & 9 H 15,000 I K Uk A | IHAT b @ b FURR AT GHRNEE F o
Wl dhF T8 2 fF A 9% @ § ¥ 5000 €99 FH H R S| TH GHER AHS
WA-3 I AEYIRAT T US| THH BRI AUSITH ok Sgd A G H AR HIY @
F HIET aE A W GRG 1 (0 Y Hehd B1 iR THIENEH TE % hROT Tehal i
T 9gd %A 8 A 2

U9 7.-shid ek gRT WRT HeT ferment fmawt 27 dawsmsdn
IT-H=1T Sk gRI I K1 Aifgew Al B FEE e Sul ge e 1 $eig de gm
% IR God HI T died & fau gemeg g T 3 i g 96 % fae,
i foeeh, fadelt wfayfeal qen g Wl e qx Ayt & w9 6 e @)
9 A B TWHR GHAET HEE dh W GE IUR oAt B

9T 8. - YR AT HUT ot UEN TR oore H Ui wifal & &9 ¥ o= 272
SW - SUR Toi Wiftd § i SO WER w1 oA Afed SUR ot P 3@ U9 g 2
F0 I A st IS Wi @ R se W gmfd § S et ?

YT 9. - KT YTiaar qomarTes giftaal ¥ e = 22



I - THER BN A T K ¥ U TS R I 81 R q YRR B gl YN H,

Y- TR, AH H GG HY, AY:— faeh] F, IR H YA T 98 B S THR
% YR A W U Bl S Yok, Asad e, AT St

T 10. - IR oW GRT & 4T WEreFt ol O faawor ferdt wahi atet €7
I —(F) FEEA T GG TR AL F GR AN 3evAl bl Ui T FH W
THR 9 1 TEFdl ¥ T i Gl 1 GAGRO w21 e aie Aifa g
W F THR HHEA K1 e T8 YRR kil ¢ FE8 sifrshan @rw den @it
FH & dF o whfd fRar S g 39 a%gsll & SARA Bl 9w & a9 g
freaifed foram Sar @ S @ren & fou wifieie et 21 soe foada, wmifses
SUAIRTAT Al SRge % SR i el TErEd T Uiedifed fRaAr S ©
(W) 3™ T GATHRO:- Feosh Seferereen e HHioeh o7aeel Ww S o1 e el 8
SR oMF W IAqH STl 8| 39 faU TR Sie gR Wit GREM A, snfels
M IR TR HEl o W qaia o9 = w2

Long Answers Type Questions

W9 1.~ Wik T YaTg i @amumel ¥ i fefom fee feEer o dsit @t qorm e
@ & UM & YATE o W1 iU

ST - H TH A W B W - Lh W 3R JaE = R T HW R
Wi - fodt onfefes = #1 o9 Am1 8w ffved 9o fag @ A S @, @i
el B ST - 2001 H GRA 1 100 HUS SAHESA, 31 dE 2008 H Th HH i
%A Yot 5 HAIg F, 31 A 2014 H Tk Gad § MM § F=a A 1 L A
vaTg - foet omfefk =R &1 o® W 9 U wHAEfy SW- UH TwE, Th A, Thoa
% RF WO S €, o9 WAlE el Bl SSeUl:- Uk SifHeh ki Wiheh weigd, Th
e Y 9fd S Y TR, Tk a9 % SNH HUS SR Sl i Td yaE &
9 o= w1 YR GHE 1 G B UH Wik w1 *E gag G A e uw uw
AT STEUR0 B I8 Hael Sa4 o N MUl A o UMt @ gmEfua @1 @l R,
T YOE H e w9 ¥ ma e T @ ufd wweefy som yorw, s w9 K T
A ST B TR W U h T TH WLIE ¢, THI W GOW K A1 9l ke areft gt

H1 HE TH YAE 21 R BH TR H UMl B W TS GO Al 6L e i WEl ® Wi
ISt wd Feer 1 gor Ha1 df W Uil i srdoraeen H doft %1 AWeM Uw Wi €,
IECHECTIR EIC e G A A



I 2.- WA aeqel ¥ 9 9T €7 Seevur off €t

S -9 geft e fome SEt o o SR erfuer S W W R @ fast s & ferg wEm
el S 8, Aemad! SRqU Fecd @1 Headi U eifad a%gell % ST § SaRs &
fau fgdta el (Secondary inputs) & &9 H %™ L 81 A SGU S SR ShEAl 9
fopet T ScueA 3R R WS I B1 W HeAed! a&qy Scaed Uikl ¥ et € a9 A
AT TETH Wl T
Heged! aegetl & SV T: e Tl 5N Wl W W, wai ol & o wuw, wuen
foedl & faw um, feafaae o et & fau #gr &R o faskarei o WA fasharet
% I 39 ¢ A ot & fou u2 faafaam o, anfk

U9 3.- UL 3 Wieh T 3¢ IdA? THH o YW hid €7 U= T @ik & ol
U §7?

IT- TN E dEiwd ¥ RE 39 oeiwT yunell 9 8 fgw wEn sted @ik e o=
rafaa anT & W &% fore fmen s R
ot ot anfefer s & &M@ foaa &l SR & fou i ©% eyl fafy #1 soeR
T AR TR SR TEfE TR I R fFA W1 gt @1 T AR uReR stedr T
e # ofq § e faxia fefa @i S % fo RO 9 St daR St 2l
afe TR W TR A d@ihd stfeewer & & e & S & faw wrel swEnh
21 3@ YR, Te wderawen & fafu= &6 e fafe= fammemdl & sl sHeRR % =M
AR ST MUE Gl & aR H AR YIH hdl &1 KA SheAl P ATIR hi Gl
o Udg o SR st wied wd Sfea @
TG 3@ i & & q@ w1 8:
(1) e Th sreforeeen & ot el foae i A 2,
(2) 8 Wk W I A Al w1 el TH HHiel w1 SUR UM L )

T 3 @l & SUANT:

a) ek IUcIfed 1 YAk - Teh < i MR ITATHAT hl S F AT T TR
AW Tl SIS Wl U6 Tfed |ieq 21 98 8H U 30 & Wiehlaeh, Hed o
YT EIEE % SUEN W U SuefsrEl bl aarr €|

b) amfeleh fashm@ 1 AW - ULF Wi & ke B Th <9 & N fowm ud
FO & TR TS R w Ao A off gerEa e € 3 e onfdw fawm w1 w
T W GaEE % aR H ot SRR 3 )




c) M I fomor - T d@ied 86 SARA & fafv= @Al & o9 weE-o &
famo & aR ® off GuA UM w1 21 SO GEEdl U oH 39 hl A UK
Y oM, Telgl, S SR A9 % oA B & ar W ot 91 "ehd 2

d)  GEAHE UREd S THERN - TR oReih g6 rdeewen ¥ GiEAcds
el ot ot SRR a1 @l @1 U8 eH UK g H wigthes, fgdiae
T &5 & gorAs e | uiadHl i fKem, S 9 few & wR U "W
o qiade iR erefeqeen § fsit Qo wesiteh &5 & qoricds " & 9 o off
SRR Il 2

(e) T - U w@iswd g6 f9=-f9= a7 e fa=-fa= =l & &9 qorn & o
f TEEA A T

U9 4. - (FE )
i) GNP yp 10,000
iy  goIRE (d) 200
iii) I 300
iv)  oTfeier W 250

v) fReidaggaemsm 150
IYY GEel & SHR W 0ET fehfSg:
(%) NNP wp (@) NNP gc M) NDPrc  ¥) GDP yp
I -F) NNPmp=GNPmp - D= 10,000 - 200 = 9800 FIE Fo
@) NNPrc=NNPmp - SIUafRl + e Her&a = 9800 - 300 + 250

= 9750 HUG &0
M) NDP pc =NNP pc - ToR¥l 9 I @e o™ =9750 - 150
= 9600 HFUS &0
®) GDP yp=GNP mp - To_el ¥ 3§ WEA 311 = 10, 000 - 150
= 9850 HUS &0
yoa 5. - fmfaiaa aifesl & TSt & & NDP pe § Wl 3F &l TUTT kit
(HTE ®.)
i) GNP \pp 25,000
i) geae™ (d) 250
i)  NIT (IS 3TIETH) 200

iv) NFIA (focen 9 fraa qem o) 300
v)  GrdsiTe & HI NDP pe 9 W 3™ 350



ST -T1Si &% & NDP pc § < T4
=GNPmp - J&I8™ - NIT - NFI, - s &3 &l NDP pc 9 < 37|
=25,000 - 250 - 200 - 300 - 350=23, 900 HIE &0 |
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TS &A1 ¥ 40 Th, TAH T T G SW T

40x 1 =40
Select the correct answer of each Question from Question no. 1 to 40.
1. JUTHINT ORI BT Reyfer -
@) o oSt @ e @ (i) i o0 9 @t ©
(iif) A SR gfd TR B ® (iv) 39 W R e
In the situation of deflationary gap:
(1) Demand Increases rapidly (i1) Supply increase rapidly
(11) Both demand and Supply are equal (iv) None of the above
2. A Gger | ®F o w9 e et 22
(i) I W (i) %3 W=

(iii) el RO (iv) Swd=a gt

Which items are included in Balance of payment ?

(1) Visible items (i1) Invisible items
(111) Capital transfers (iv) All the above
3. 4t @ 1 T UE B 7?2
(i) TR 3 (i) =it siaem
(iii) vy forel fere (iv) Swda gt
Which one is the item of capital account?
(1) Govt. transactions (i1) Private transactions
(1i1) Foreign direct investment  (iv) All the above
4. ¥ W F TF AR B ¢
(i) 3T R T A (i) Wi & @
(iii) 399 TR w1 f (iv) STda |+t
Which one is the item of current account ?
(1) Import of visible items (i1) Expenses of Tourists
(1i1) Export of visible items (iv) All the above
5. TAF-¥I9 /e Tk B/E:
(i) =] @l (ii) ISt @
(iii) (i) and (ii) A (iv) 378 9 ®ig &l

The components of Balance of payment are:
(1) Current account (i1) Capital account
(111) Both (1) and (i1) (iv) None of these



6. SIR-9Y %1 Y 2:

(i) el RO (i) ST 1 A TS Afq
(iii) Hd kY TH SH (iv) 3= asft
Trade balance means:
(1) Capital trans action (i1) Import and export of goods
(i11) Total debit and credit (iv) All the above
7. %M Tk YAH-99 1 939 S @2
(1) A (i) a=
(iii) e (iv) 3= asft
Which one is the visible item of Balance of payment?
(1) Machine (i1) Cloth
(111) Cement (iv) All the above
8. M T JIAH-VY T 3T 1R T2
(i) fe (i) STert T
(iii) HaR (iv) Sug=a asft
Which one is the invisible item of Balance of payment?
(1) Banking (i1) Shipping
(1i1) Communication (iv) All the above
9. WA -9 § 3TEqe 1 HROT B:
@) TIhfaeh RO (i) efefed sRO
(iii) TeHIfae R (iv) Sud=a qsft
The reason of imbalance in Balance of payment is:
(1) Natural reasons (i1) Econmic reasons
(111) Political reasons (iv) All the above
10. % fafTe <X 1 TF THR 87
(i) feer fafma X (i) et fafma <2
(iii) (i) and (ii) 3 (iv) 3TH ¥ i T/l
Which one is a kind of exchange rate?
(1) Fixed Exhange Rate (11) Flexible Exhange Rate
(i11) Both (i) and (ii) (iv) None of the above
1. foeft fafa <= fauifa = @:
@) TER (ii) wrersie
(iif) fava o= (iv) | s gfd =t it
Foreign Exchange Rate is determined by:
(1) Government (i1) Bargaining
(ii1) World bank (iv) Demand and supply forces

12. 9@ &1 7 & FElE w6 @ fau sy 9% w0 o fafy st 22



(i) i R (ii) e 9 Hifd
(iii) % HIY UM H aga@  (iv) STdE |l
Which method central Bank adopts for controlling quantity of credit?

(1) Bank rate (i1) Open market operation
(111) Change in cash reserve ratio (iv) All the above

13. 570 9 i T G R B § GEUR BT e 2

(i) TR ST (i) Hifsh
(iii) (i) and (ii) 3 (iv) ST @t
Which one is the corrective measure for deficient demand?
(1) Fiscal measures (i1) Monetary measures
(iii) Both (i) and (ii) (iv) All the above
14. 5512 % H B &2
(i) EECRe e (i) o1 =4
(iii) (i) and (ii) 3 (iv) 3TH ¥ HE &l
Which is a component of Budget ?
(1) Budget Receipts (i1) Budget Expenditure
(111) Both (1) and (i1) (iv) None of the above
15. 9 Wt T 52k A @2
(i) T wifta (ii) gt wife
(iii) (i) and (i) (iv) =79 9 &+ &l
Which is a component of Budget receipt?
(1) Revenue receipt (1) Capital receipt
(i11) Both (i) and (ii) (iv) None of the above
16. TR & To%a T § Wi @
(i) ST (ii) Trm =+
(iii) EICIECT (iv) 3= asft
Tax revenue of the govt. includes:
(1) Income tax (i1) Carporate tax
(i11) Excise duty (iv) All the above
17. frefafed § @ %9 Toreg ffa & afmfaq @2
(i) lc| (ii) =T
(iii) [SlEE| (iv) ST @t
Which of the following is included in fiscal policy?
(1) Pub. Expenduture (i1) Tax
(1i1) Pub. Debt (iv) All the above

18. GEIERIfd 3Tt ST TH AW 7:



(i) At enfae (i) gfd emferem

(iii) 3Ty (iv) 379 9+ 7=l
Inflationary gap is a measure of:
(1) Excess demand (i1) Excess supply
(111) Short demand (iv) None of these
19. Tl foam =X
g - 1 g - 11
1. SRl T SF () offam o
2. WHisa H (@) =fsa =%
3. HerEmifd e (1) &t q51 Hifd
4. SAUERIfd fEE0 (%) % T H dhg
Make Correct Pairs:
Group I Group II
1. Bank of Banks A) Lender of Last Resort
2. Central Bank B) Central Bank
3. Inflation Cantrol C) Cheap Money Policy
4. Deflation Cantrol D) Increase in Bank Rate

( Ans. 1. (B), 2. (A), 3. (D), 4. (C))

20. Tt faem =1 .
e - 1 g - 1
1. 3T, MPS=0.4 () U = 00
2. AW, MPC=0.7 (@) Turh =3.33
3. 3R, MPC=0 (1) U =2.5
4, AN, MPC=1 (%) Ui =1
Make Correct Pairs:
Group 1 Group 11
1. If MPS=04 A) Multiplier = <2
2. IfMPC=0.7 B) Mulitplier = 3.33
3. IfMPC=0 C) Multiplier = 2.5
4. IfMPC=1 D) Multiplier = 1
( Ans. 1.(C),2.(B),3.(D),4.(A))
21. W&} e .

g - 1 g - 11



1. | A9 () | A

2. HI AT (@) |91 319
3. AD>= AS (77) TYTHIfd 3T
4. AS>AD (¥ HEEhIfd e

Make Correct Pairs:

Group I Group 11
1. Deficit Demand A) Surplus Demand
2. Surplus Demand B) Deficit Demand
3. AD = AS C) Deflationary Gap
4. AS = AD D) Inflationary Gap
( Ans. 1.(C),2.(D),3.(A),4.(B))
22. W&l e +
g - 1 g - 1
1. TRF THU (%) st @
2. I¥F TEU (@) sifie
3. gAY e (1) =e] T
4. TS RO (%) ST e
Make Correct Pairs:
Group I Group 11
1. Invisible goods A) Capital Account
2. Visible goods B) Physical goods
3. Portfolio Investment C) Current Account
4. Capital transfer D) Banking Service
( Ans. 1. (D), 2. (B), 3. (A),4.(C))
23. W&l e & .
g - 1 g - 11
1. =forfsoes S (%) fodfosw wed
2. =foifsae SR & SHE (@) "ra i
3. wr@ i (1) refis
4. ofoifrsh ST g R I () Feg Hi



Make Correct Pairs:

Group 1 Group 11
Commercial Bank A) Secondary Function
Deposits in Commercial Banks B) Credit Creation
Credit Creation C) Primary Function
Loaning by Commercial Banks D) Derived Demand

b=

( Ans. 1. (B), 2. (C), 3. (D), 4. (A))

24, & H qx S5 ok gR SR KT S 22

(i) = (ii) 9@ qg1

(iii) fom=m (iv) STgs @i
2591 fifq Hefea 2:

(i) @k == (i) &

(iii) <R RO (iv) gen =R fifa
26. 97T fi5d s ot TAma g2 oft:

(i) 1947 (ii) 1935

(iii) 1937 (iv) 1945
27 Afdren S fred Hefud 22

(i) =T guR (ii) sfeT guw

(iii) $fT gur (iv) STERYA GuIR
2839 ! gfte § faw 2

(i) fodta frem (i) oo fem

(iii) (%) @& (@) qA (iv) 3 9 *E &l
29.Few # Sgad & W MEC:

(i) =g © (ii) firar @

(iii) feem @ & (iv) =78 9§ &+ &
30. MPC + MPS = ?

(i) o (i) 2 (iii) 1 (iv) 0
31. 25

AY

(i) MPC =& (ii) APS &

(ii) MPS & (iv) 3™ &
32.9NR &1 | g9 g gfamfea fean

(i) 9. &1 9 (ii) &4

(iii) Wi (iv) T8 9 =g -
333 | T Gl @2

(i) Y=C+1 (ii) Y=0=N



(iii) C+S=C+1  (iv) Sw= |+
34. for=g o1 From w2

(i) 9wt AT | (i) 399 =1 ygfq 9

(iii) == 1 ygfa = (iv) &9 & *g &l
35.37R MPC = 0.5 ©, d 7oris (K) &im:

(i) Y, Gi) 1 (iii) 2 (iv) 0
3670l 1 T TRE SIMAT S Tehall &:

(DK=§ QUK=§

(iii) K=1-8 (iv) 3 & ®g &l
37. 451 = i feefa #:-

() | IS W e § (@) ufd oSt @ "t 7

(1) W AR gfd SR T ® () 39 | HE &
38 G WY USTEd HIUSE W HiAferd €2

(i) @ =4 (i) R

(iii) e &0 (iv) STger wedi
39.37q01 WM & T hiF WINEHATCHS HIS0S &7

(i) TSTEa HIIEUE (ii) s AMIRUE

(iii) () W (@) <Al (iv) T 9 *IE &
40,952 T FEH A 87

(i) a5 gt (ii) S =9

(iii) (%) @ (@) <A (iv) ¥ 9 HE T



1. (ii) 2. (iv) 3. (iv) 4. (iv) 5. (iii) 6. (ii) 7. (iv) 8. (iv) 9. (iv) 10. (iii) 11. (i) 12. (iv)
14. (iii) 15. (iii) 16. (iv) 17. (iv) 18.(1) 24. (iv) 25. (iv) 26. (ii) 27. (ii) 28. (ii)

(iii) 31. () 32. () 33.(v) 34. () 35.(iii) 36. (iv) 37. (iv) 38. (iii) 39. (iii) 40.(iii)

Y9T 1.) FIS HH 20 THE H1 IAET L @ 21 TH IART T W ATC, T AVC FHI: 40 &
s 37 ® 21 @ ®H &1 TFC = 81|

o s9da w9 (Short answer type Questions)

SET-4
SEHTET

(Answers)

I - ATC =Rs. 40, TC=40 X 20 =Rs. 800
AVC=Rs. 37, TVC=37x20=Rs. 740

Y9 2.) ARl &I U FL:

TFC = TC — TVC=Rs. 800 — Rs. 740 = Rs. 60

IR TS T (AR) | AT d9|a o™
(TR) (MR)
1 7 - -
2 6 - -
3 4 - -
4 2 - -
D
THE | 4 (AR) | A 3@ (TR) | GHid 3 (MR)
1 7 7 7
2 6 12 5
3 4 12 0
4 2 8 -4

o 3.) "I Ud gfd ke B R UR H e 2 Ged god & g3 H 30 gHewd)
SW - W. AEfe 4 W uS gfd BT o et & < UR B @@ fma on 59 ®E et Hed

29. (ii) 30.




% fau &=t & A 9R 1 TE@ Usdl ¥ U e Hqed god & fuRker § @i wd gl
< vl w5 weRd vedt 1 faw wim an faw g & g wem w frefor w@ @ geRan
2| ad H Gger 9 U ufd & e swed @ € 99d gl um @)

W94.) AR 99 T 3T F1 G ¢ 2

W - AR - 99 T qcqd Tk a9 & KA Th 9 & 99 A R gva fafdl & ot
e 4 2l
aﬁaﬁﬁﬁaﬁaﬁwmﬁmaﬁwm (Trade Balance) &&d 2
Ifg <91 & Frafa el @ sifyer & df SAIR -39 SRl (S=d ) B © IR AR
s frafal o erfuss @ A1 =R 9 wfdee (SR 1) e @

WgI5.) Te] @l I F B2

ST - T WG © R afwuihEl a6 efaiw wde fawt ISt wn ]S R S g1 e
9 B9 e gREqraEl @t faskl w1 WAl ¥ 9 qREdtaal s s W fRT T = Rl
2 3 € A BH St wrr- 99 Hied & S e
T YHR, ISt T 99 = wRe] aRamfe st gfaar - fageht afmmtet w1 el W =@

Y99 6.) 9IRA & YIAH UG & TH BT qUA B

I - 9RA & A 9 H WX ATH Bi-

=R 9 = frafd - s

. ¥ @ H Y =SAIR W+ FEa oged W

. UST ' E W sterE USt @ 1 A = fadeht few (fraa) + fakeh wmo (free) +
dfern (fraret) + 9 o1 Far+ o ot (Feret) + 91 - 9%

4. Y WY =G S - Y9+ S W - 9

W N =

T 7.) O @ 9 e 22

I - HE N o W GEE B9 9 At S werd & w9 § Wien S S g i e
& Ued & WY o o A1 HE f w2, qI1 e 2
WA =kl , g% Tk UHl 9% ® W 9T &9 9 9N @ e € fafma e aem, ge
1 AMG, Al YA BT qH, SR God 61 =

U9 8.) o] fafraa gomedt ot aftwmn )

I - ThH 95 & o=l Rl 3od g & gy fafma & & a5 fafa goneft w1 s
21 38 YTl § T A ST STevdehdl i SO RS I W HH & forg T I
1 i a&] 1 2 2



I F AU, T fREE ot eifafied ¥ I Yo’ ¥ wUS WW Al 1 SHd SR,
Sl 10 T & fafied wUg A I FREE 9 ] U R B1 59 YRR IHI At
FT A TS KT AETIRAT T & S F

W9 9.) HHTe v @ 1 Ay 22
IO - AT o1 g 9 o wgEl srefereen @ wefuq fafe=r A @ sfwdl o

e T Wl B, wefe orefere shedar @1 SRl % fau, gd IR, U8 oM,
TN, AN G, ThI, SUSI, graE 3, fafa <X difge wd aeesieie fifaat enfk
gufte sdyres & e W o R T IR H T AMHAS AU (Aggregative
economics) H e ST & S fafa= A # dig enuE deei, e fruRo wd
SAR-¥GTE & RN i W™ Hidl 81 36 YhR, GAMS 7eforme o1 Gee qel sreforaen &
FHrleTaEr | e 2

W9 10.) =AAH HEG (FHH GoF) ¥ T ARE 7?2

IW - 99 FHf TWER T TegH F € fF Tk weT aeR H w9 iR fd w1 o g
fauifid #ma Sl #1 3fic ¥ 3fad & ¥ a9 Sl & fedl # m wW & faw
TEHR Ueh a8 hiud i SO0 hedl 81 39 GHY hivd el Sl &1 STekhel TR gRI
foraml & fedl o1 S o o1 8l M 21 AfE i SRl i HIFdl I SHTUN 1 S 2
IE FR0 ¢ foF WHR FE P IR ® foU =HAq9 FHa o gHeT qod w1 SO0 H
2l

LONG ANSWER QUESTION

WO 1.) wiHa Gifelm R e & R g9l & gew § guit 1)

SW - Hd G @] FH & AU TR H [T Jomedt ot S gdt #1 39 YHR HEd
i o1 sreferaten W f=fafed sw9E vedr B
() wfea quERT w1 aEqQ - o WHR g HiFd ST dn w S @ 7 Sceh! vl
Gqe HITd ¥ HIET FH higd R o&] Mol & ofd: o9 w7 & i 21 39 g i ofd
FH & AU HE 9N SAREH AT o] I U W 2 B 3Fd: UE HuH ¢ T W@ HiEa
Hifelm o] *1 ST a9 Sysiest & wfean fhe #t awqe el
(@) TWH & THAE d IEE BT H Hicas - Sudemet & sy ey & fau e
F THHA R A TS &1 &l 3= Adl - e Hal H @Sl WAl TSl T AT FE AR




WH H A W FHT T I&U & ST &l B UKl T9 YRR A9 H SHET G 3T
fEe &1 aeqy U G W IR HiGAEA H EA HE qdl B
U9 2. -WHT WM R 27 Weh Gelt Nefeqawen ¥ 9uy Ui & e o 768U W Uy
I -GE A W agd U 29 k1 okqell o Werel i e Wi 9?1 UReR wEl @R
TR I 9 e T HEA TSl ¢ 3a: AT AT H kA =F b €9 H off @ o
Gehal ®, ifen oeqell IR Wensti i Wi arkE § d = 9 € S gt ¢ 39 gfe
W, TG G R i g€ kel AR @ S GRER, B AR WHR Th Afvea ety o wh
srefeeen | aegetl 9 Yarel i T W TE A ded 2
Y A & UTH
T Tell oo § WA Wi % qed weh retaned @
) froft (reran iRkt )3usi | (c);
i) freft frawr |1 (1)
ii) TR g &g o Gensdl @i Wi el W =7 (G); 3R
iv)  fags faf@ & 9 (NE=X—m)
T YR, AD=C+1+G+NE (X —m)

9 3.~ T arferent | dutd Susi wgfe (mpe ) it TOET it

AT () 94 (¥0)
2000 500
2500 700
3 (Y) T=d (S) MPS (AS/AY) MPC (1 — MPS)
2000 500 |AS _ _700-500
AY  2500—2000
2500 700 | = 200 _2_,, 1 -04=06
500 5 )

U 4. - afe drEd SUMT wgfa (APC) 0.2; 0.4; 0.7; & o 3fEa so/d@ wagiel (APS) oAl
MUTHT

Eiisi

T . APC+APS=1: APS=1-APC
)  APS=1-02=08
i) APS=1-04=06
iii) APS=1-0.7=03



U9 5. - HeT Ufd ol goifad @ 9l fafa= el Rt quis shifa)
I T eferaeen ¥ g1 gfd i wrenl W e Rl #1 3 9 e vHE wne Frefate
2l
. M S I Hifgeh G - hd o ki Aifge A w9 fd W HEeqo g9E
vedl 81 A Bigg dw Wl qR A e € Al gw qfd s STl gEd ek 9tk
S S Tl g Aifa o ® @ ge1 ufd s s
2. AR ol @t wrE fmio e wd Aifa - Sl wt o SRt w1 A ¥ gfg we w6
&l SfeRT YO & U SUers Tehdl W AR war T o & uw et sifuss e
ST Bl SaT & sifuer St 1 famaR g iR W kel S BN W 9ra fawn o
%I T TR S e ot SRl R grE fefor e 1 fawifa s @1 afg e
FHH BN A S ki wrE feEir emar sfuss @6l SR Afy euW stfue g @ W
i e %7 Tl R/ oF arell 5N oF w1 gwst off SRl kT g Fmior emar w6
geqferd Lt 2
3. R F I§HEE Aifd - % TWHR = & 99 HI Aifd oA © A gw ufd o fg
Bl gEd R A% TR o=d ¥ woie &l Afq oo € A g1 ufd o et @i
GO i U - SR Sl ot WRE IO Rl el ST ot TGl W Wi gest 9 off
T B ®1 AR ST ST W SAfe Tehdl T =Tt € o 9@ fmio % g eiR Atk
Sl HH AR WAl TR @ A e el S g Sear s Sfwn eed ot gw gfd @
gt et 2
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SET-5




(TS U9 ) ( Objective Questions )

Y9 W& 1 9 40 T, Y% T H FEl SW B T B

Select the correct answer of each Question from Question no. 1 to 40.

.97 & o9 ‘dopl o1 ' a1 ST ©7

(i) IR ford S (ii) B2 % iw gfoea
(iif) de 3 gfoea (iv) 2 o 3w sfvsa
Which is known as the ‘Bank of the Banks’ in India?
(1) Reserve Bank of India (i1) State Bank of India
(111) Bank of India (iv) Central Bank of India
2.Fm # @ #H gg w1 Wt s @2
(i) fafra =1 wrem (i) oI 1 |9
(iii) (i) and (ii) ‘1 (iv) eI =1 "=
Which one is included in the primary function of money?
(1) Medium of Exchange (i1) Measure of value
(i11) Both (i) and (ii) (iv) Store of value
3.5 § 9 w9 gE W fgfaas we @2
@) g 1 T (i) 9o 1 G
(iii) (i) and (ii) 3T (iv) 379 9 ®iE &l
Which one is included in the secondary function of money?
(1) Transfer of value (i1) store of value
(1i1) Both (i) and (ii) (iv) None of these
4751 & Faf o ufmfer 2:
@) e fyRo (i) 7eF 1 F=
(iii) fafm= w1 "ream (iv) 3= asft
The functions of money includes:
(1) Value determination (i1) Store of value
(ii1) Medium of exchange (iv) All of these
5.fm ® 9 %9 g5 o e T ?2
(1) HeA ol HIYA (11) HeT <h1 =<0
(iii) e 1 "4 (iv) o w1 feeremm
Which one is not the function of money?
(1) Measure of value (i1) Transfer of value

(111) Store of value (iv) Stabilization of value

40x 1 =40



6.9 1 Fed &S dh B:
(i) IReg Rsfa s
(iii) Ugd S A i

India’s largest bank is:

(1) Reserve Bank of India

(111) Central Bank of India
7. 9Rd H w4 A S R T

(i) IESICEIGE]

(iif) wWe o AE gfoa

In India currency note is issued by:

(1) Ministry of Finance
(111) State Bank of India
8.9 fisfa s ot wonor g8 oft:-
(1) 1947
(iii) 1937
Reserve Bank of India was established in:
) 1947
(ii1) 1937
9 Hifser fifq deifera 2:-
@) Ak =
(iii) [GIEE|
Monetary policy is related with
(1) Public expenditure
(1i1) Public Debt

10.9=a S 31fw sfoean = 272
(i) aforfeae o
(iii) afoiees S
What is central Bank of India?

(1) Commercial Bank

(111) Private Bank
117 & ¥ % 9 82

(i) MPC +MPS = O

(iii) MPC +MPS = I

Which one is correct:
) MPC + MPS =0

(i) 9RdE e dn
(iv) S 3ffw gfoan

(i1) State bank of India
(iv) Bank of India

(ii) foa @f=a
(iv) 9 Rsfa o

(i1) Finance Secretary
(iv) Reserve Bank of India

(ii) 1935
(iv) 1945

(ii) 1935
(iv) 1945

(i) L
(iv) g aeR Hifd

(i1) Taxes
(iv) open market operations

(i) Hf=a S
(iv) 39 ¥ &g &l

(i1) Central Bank
(iv) None of these

(i) MPC +MPS = <|
(iv) MPC +MPS = >|

(i) MPC +MPS = <|



(iii) MPC + MPS = I
12 APC +APS = ?

(i) O (i) 1 (i)
APC + APS = ?

(i) 0 (i) 1 (i)

13 MPC &1 9F 7

(1) | @) O (1i1)
Value of MPC is .
(1) | @) O (ii1)
14 NNPmp="?
(1) GNP mp - &9I (i1)

(ii1) GNP mp + 3T9& b (iv)
NNP MP =?

(1) GNP mp —Depreciation
(i1) GNP mp + Indirect tax
15 =9 9 o4 & 98 2
. |
<1> K= Mrc
I
(111) K= TCMPS
Which one is correct?
. I
(@) K= Mpc
I
(i) ~ I-MPS
16 =49 %4 & a8 27
6] Y=C+I1 (i)
(i) C+S=C+I
Which one is correct?
(1) Y=C+I
(111) C+S=C+I
17 ‘srefemen w1 fuar’ forg wvel San =2
(i) BN S|

(iii) Teq fEmy

Who is known as the ‘Father of Economics?

(1) Marshall
(111) Adam Smith
18 T & @ % SARA *I Seh 2?2

(iv) MPC +MPS = >|

oo (iv) T8 ¥ HiE L

oo (iv) None of these

0¥ AfYek, 1 H  (iv)

Greater than O less than 1

(iv) oo

GNP mp + &I
T 9 &g T

(i1)) GNP mp + Depreciation
(iv) None of these

I

(ii) K= _MPS

. O
(i) K= 1+MPS
L

(i) ~ MPS

) R
() K= ups
Y=0=N

(iv) S9gaa |+t

(i) Y=0=N
(iv)  All the above

(ii) e

(iv) St Ufe=m

(i1) Malthus
(iv) Joan Robinson



(i) qfa (ii)

(iii) A (iv) ST qft
Which of the following is the agent of Production?
(1) Land (i1) Capital
(1i1) Labour (iv) All the above
19  wos #W T
(1) AT (i) TR &
(iii) (i) and (i) (iv) 379 9 +E &l

Direct tax is :

(1) Income tax (1) Gift tax
(ii1) Both (i) and (ii) (iv) None of these
20 et § @ HH e B2
(i) T IR (i) STR *
(iii) forent =t (iv) 3TH ¥ 3§ &I
Which of the following is an indirect tax?
(11) Income tax (i1) Gift tax
(1i1) Sales tax (iv) None of these
21 9ra ¥ fafe a9 2:
(i) | e 9 31 W (i) 1 SHadt § 31 feger

(iii) 1 ST 9§ 30 faawr (iv) 378 9 ®ig 7@l

Financial year in India is:

(1) 1 April to March 31 (11) 1 January 1 to December 31
(111) 1 October to 30 September  (iv) None of these
PP i B | L — 9 Hefid ©
(D) LEEARE RIS (ii) TRt arefomes
(iii) (1) T (i) (iv) 7 (F) 7 (@)
Study of national income is related to ----------------
(1) Micro economics (11) Macro economics
(i11) Both (i) and (ii) (iv) Neither (a) nor (ii)
23 T 9RA SN AT TAHT 3SR TS HAl ommmmmmeee g foren T ®
(i) BN (i) TR
(ii1) Bt (iv) fenret
The General Theory of Employment, Interest and Money was written by ----------
(1) Marshall (i1) Ranger
(111) Keynes (iv) Ricardo

PV o - S



(i) T it (i) T =

(iii) Fredfas gt (iv) ST gsht

Mountain and rivers are ----------
(1) National Capital (i1) National wealth
(ii1) Real Capital (iv) International Capital

25 UH sieforawen foweT Snfeiw Wey WX 9 ¥ TG B A WA Q@ oemeeae

) a5 afefeerEn (ii) Tt sTeieaTen
(iii) W AT (iv) 379 9 *ig &l

An economy which has economic relations to other countries is known as----------
(i1) Closed economy (i1) open economy
(1i1) self-reliant economy (iv) None of above

26 9 G % SUAT hl BH FEA B oomoev

(i) it frmfor (ii) &

(iii) fafam (iv) ¥R & It
Consumption of fixed capital is also known as ------------

(1) Capital formation (i1) Depreciation

(111) Investment (iv) All the above

P R CE I | p—
(i) %A Aed + AN (i) foshl qoa1 - =10

(iii) %9 O + gegedt gt (iv) fawt g - Aeandt agget #i

Value added is ascertained as ------------

(1) Purchase price + profit (11) Sales price - Loss
(ii1) Purchase price + intermediate(iv) Sales price — cost of intermediate
goods

28  URT 3 I TOAT —eemmmev TN B ©
(i) e fafy (i) SR fafy
(iii) frewr fafy (iv) W & G

National income is calculated through ------------

(1) income method (i1) output method
(ii1) Expenditure method (iv) All the above

29 fava i we™ |l wfed g3 off --------
(i) 1920 (ii) 1925
(iii) 1930 (iv) 1935

The Great Depression of the world took place in ------------
(1) 1920 (i1) 1925
(ii1) 1930 (iv) 1935



30 w9 el o fop srefeme e o 1 feafq gt 2
@) ORISR (ii) eTifese ST

(iii) 3T TSR (iv) i SRS
Keyses assumed the situation of ------------
(1) full employment (i1) involuntary unemployment
(ii1) underemployment (iv) marginal unemployment
R B ol ©1 g —
@) 3 ¥ qfda/ fee # ufEds (i) 3™ ¥ qfEaA
(iii) frow o ufda (iv) T8 9 *E
Multiplier is equal to ------------
(1) Changes in income/ Changes in investment (ii) Change in income
(1i1) Changes in investment (iv) neither of the above
EY I o 17 - — Ff FEd R
(i) difeer  Afa (i) = Hfa
(iii) smfef +fifq (iv) 3 & T
Fiscal policy is also called ------------
(1) Monetary policy (i1) Budgetary policy
(ii1) Economic policy (iv) None of these
33 difges Hifa & wed ¥ Wi ¥ 9fg w wH e % R & el ©
(i) da ¢ Aifa (i) |
(iii) (i) T (i) (iv) I (1) 7 (i1)
In case of monetary policy excess and deficient demand is possible through -----------
(1) Bank rate policy (1) Credit control
(iii) (1) and (ii) (iv) neither (i) and(ii)
34 &= o wI g fRdt 39 H eeee T T
(1) = (i) TH
(iii) LiR| (iv) 378 9 ®ig &l
Number of central bank in a country is =~ ------------
(1) Two (i1) One
(i11) Three (iv) None of the above
ATl O B
) HreSI-eh A (i) frsit =
(iif) IS S (iv) 3 |t
Central bank grants loanto ~ ------------
(1) General Public (i1) Private Companies
(ii1) Commercial Bank (iv) All the above

36 HrE FREE e gN e 2



(i) TR (ii) ®=1T o

(iif) A b (iv) 39 9 ®iE ¥
Credit creation is controlled by =~ ------------
(1) Government (i1) Central Bank
(ii1) Commercial Bank (iv) None of the also
37 T U HH THR H F T K1 G 87
@) IAR (ii) wHafd T
(iii) TSR (iv) 3 |t
Which one of the following is the tax revenue of the government.
(1) Exeise (i1) Wealth tax
(1i1) Entertainment tax (iv) All of these
38 WM Her = ik fohal ST Gehdl & —oeemmmoee ® g
(i) AT WA = (ii) Fraid dieems
(iii) I gfs (iv) & =+t
Balance of payment deficit can be corrected by ---------------
(1) Import substitution (i1) Export promotion
(111) Increase in production (iv) All the above
39 3eig GO HIARE 1 T —mmmmmoeeee o g ot
(i) 1999 (i) 1974
(iii) 1964 (iv) 1984
Abid Hussain Committee was established in---------------
(1) 1999 (i1) 1974
(iii) 1964 (iv) 1984
1| J— Bl YR © A - Faid
(1) EI (i) EXI
(iii) EXIM (iv) EIM
------------ is the short form of export - import .
(1) El (ii) EXI
(ii1) EXIM (iv) EIM

o 3T U9 (Short Answer Type Questions)

1. IS T & agell ¥ @ Farsy)

2. W &% HHad UH T HT HH H i@ Fa|

3. Weh o] ! HIEA-HI A 2 B1 A€ AT ) qe0 W 10 giaww 6
g5fs Tt ® qt FiHa o foham wfae aftedq gmm?




4. TT 3 w1 ged fagmand = ©?
5. Gl NI i foha &t HmeT 1 9o Hi

e 39d 999 (Long Answer Type Questions)

1. 9NR 9o T MM Jod & o9 dadi o1 foero 3

2. qui gfqefitar wd erqul gfqefitar § sitgd qen di|iq 1 w1 wehfd Y
A

3. % U MY T THPA B2 BT oF B FA K1 G H I B

4. TEE T W Y 1 GHE B SHH O F1 G&A HicAgal 1 v
Eal

5. QUIGAEfiTar Us UHTRR | I SR 22




SAHTAT

(Answers)
1. (1) 2.(11) 3. (iii)) 4. (iv) 5. (iv) 6. (i1) 7. (iv) 8. (11) 9. (iv) 10. (1) 11. (ii1) 12. (i1) 13. (iii) 14.
(1) 15. (11) 16. (1v) 17. (i11) 18. (iv) 19. (ii1) 20. (i11) 21. (1) 22. (i1) 23. (ii1) 24. (11) 25. (i1)

26. (ii) 27. (iv) 28. (iv) 29. (iii) 30. (iii) 31. (i) 32. (ii) 33. (iii) 34. (ii) 35. (iii) 36.(ii) 37.
(iv) 38. (iv) 39. (iv) 40. (iii)

Short Answer Questions:

1. TMYH T8 & a&gell § @ dasy

I - (i) TIFIA a3 & HE H, Th 9% ! HiFd § wAl 91 Jhg

T W TG 9% w1 A H oft w0 @ g5far e 2

T TGN HHS H, Tk 9% i HAd H I AT HH T W TET K]

1 W A HH A gEf et 2

(1) Th %] ! W H IHH! TAMT %] I HiAd & f<en & &
qfad B 21 a0 AR, T 9% H W § TR T a9 B
®ma ¥ faoda faen # ufeds g 2

(ii) MY a%] 1 HiFdl 9 9574 91 HH BN W 95 & T -
H € AR o SR fogae o 81 o iR, Wk o
Il H IgEMY A1 HH TH W A% D HIT-9%h H a8 AR YET
T R fomea o 2|

2. HIT % Heged TH HIT I HH § R @)

I
HIT T Hefge | H
1. 3o @1ef ® o] i S 1. THT o1 @ IE FEd W
AT W SHHI FH AT (I FH HYd V) T B
A | A FHH hiHd T
It & A
2. TEH &I HRU B I 2. TEH G&I HRU B: I T
FRHI o R ®d g 99 i HIAT & A 3T
St hiAd H J3fg B SRl H gRedd g
3. 3OH W 39 W 9% W 3. 3HH TH 9% SR I T8 A
TR H AR (A aqE 3N) 9k T WO L &
fa Fd 2




3. U 9% H HIHI-HT @ 2 T Ak G w5 wen 10 yfaed w5
i et @ @ wwd o fora wiaera aftedq gmm?
SW - Fel, ep-2 ; AU H wfaw 9iexd= = 10 %
o foe wa o gfaed 9fieadd = A
ep - AT T e gied

Hd H gfaerd qfeds

2=1—0'<’JTA=E=5% (id | gfasa 9fiedq)

A 2

4. T TE & qed fagivand @9 22

I - UL AT FI TF 30 H TH 99 A Scunfed 9t offaq axgeti o Jamst &

Hifes qoa & &9 o Ry ffan <1 Gehar 21 78 g UE e & =R

fergroramen =1 Sard @:

@) TG 39 1 70T et T o -9 % fAu i S 81 Wi | 98
@ - 99 1 e ¥ 31 A & = hT Bl 2

(ii) T T TF JaTE uRon 21 38 oief ® foF Uy o w9 Wi
FaY &% SN oGS 9 Hensll % WelE ol WY WA Ll B

(iii) TR 3™ &t TN § hae oifan aggsti 9 ganeni =t & e fwen
STl €, T9H BH HeFed aeqel ol e el |

(iv) TSI T ki EHeN a&gel o el & Hifsh goa & 9 o Faqrn S
2l

5. Gd 96K okt fora st Hemes 1 90 i

S - Gl TR F1 w1 g w9 9 feafafed @ €

@) ol 9N & fshar o1 Fherar <31 ° gaafed gfayfd IR & 9w SH
W el et R

(ii) Ifg = st o waie qen # stfafted w9 ® a1 go SR w6t T
Ft Hfifg sTgrelt = S 2

(iii) 72 i 8 Wehd € fF Tol 9K &1 TRA & Foawy Sl & AR
el fet gef @ S Bt § SEeh oUW o @ o iy o
FHHT T A

(iv) G IR i foran @t Aifq o1 gR S steufaskiaa <o o gt €n
T AN S MEvaE el §, ifh 3@ Afd Rl Yherd & fau eavas
Tt o Fel TEl wE SR 2




" ST weR

1. 9NR §ed Td 9M 4ol & o9 gadi @ faeRo 3

Y - AR Jod 6 9 Jed | d9gd IR 3iad & ®d U W & ST Had @1
IR e ® SEfe W qed SHl & TR Hded 1 gReme =i @1 dfed, 9Nk
I ¥ 9 e & fiohe o &1 79fd 2t 71 38faT 9% wer o ? % SR ged
T i & 33T JohY hiedl 81 IR Jod 9 qod § SIfisR SUd sRe) ol
T B Ghdl Bl ITH dF HaY I Tk @tad gN =Rl R ST g 7

o & 9= gog &1 W Hid W 7 owEtn fagard W aeR g w1 e @)
o ¥ a8 W= ? fF 99R 09 9 ged % ST Taet Fredl @ A ST
i WA Hod & T 3T HI e |

R ISR Jed H 99 o 9 SR A A @/ w1 ferfd 9gd X a9k e 118 ®
Tl Ak SR god eifu € ot U feafa o ovg w1 Seued sifuss @ o
FOEIEY HIAd B FHI AW, Lk doM qAq IcEeh] i = gl I8 feafq 9@ a6
T WM Jaae IR Yo GE ol o SUeR 7 8 S S 9NR Jod 9 Jod
9 %A B q9 g feefa s\ @t ger ° gfd wm grft, fSee wetesy dek
I o 38 YR, SR Jod 9 god % SReX © S oid: 3 T B § R
IR qed § W= Jod gHIY T 1 gfd B /)

2. qui yicEfiar ue erqul wfemifiar ® offwa qen WHiq T i Whfd @t e R
S - 30Ed T % Wy § 9 Hewyul 9 € fF

(i) SGd 3 (AR) & JoI a1 HIHd el St 2

(i1) ﬁmm e | I IR IR R G| (demand curse ) ﬁ?ﬁél

(iii)y gl Sfaafiar & ofgq o Y@ U<t g Y@ Bt ® vk orqul wfadifrar o
afrea o Y@ et AR e 2
wof gfa=ifrar § 9St g8 AR Y1 I% want § fF Uk S g8 hiHd W W I 9% i
fhat oft omn o= Wbl 31 ®H W Sh SR i Tkl W TH & Hod Wi el 2, o1a:
AR =MR Bl B| 7€ fo @ T2 ® o ! Yoo g & ol Tk & siod el 2l
arqul wfeefirer o it &5 ofia o (AR) Y@ 98 =ardt @ ff wd %0 #mg | &
a%] HI IR THRE o Wehdl 71 i AfK 98 o 1 iy gehEAl ST WR A Sd
%0 HFd R € a9 @i fam § fwa o™ (AR) dun @i emd (MR) W @l




T w1 R IRt g ® Sefe oiga o™ & gort ® Wiiq o @t Y i oSt 9§
fRdt € Twn zafae & @ f sifofed sk o= & fau #ind seT wed @)1 eryef
e, TR, STearfyuei, Tehiiyswi gfaeifiar feefaal § AR dem MR st @
= # AR frdt g2 et 2l

(qui gfaafir

Y gfaafira
AR =MR (ST{U'f )

AR

MR

O Y

0] ST HIEAT Y

3. S 9 T T GAWKA € ? H1d ok & A b Grw o goiF wl
I - My g § % weequ ween §, foe enfiiw faww @ vicwfea fRen 2
deh 1 AR AT THHT YA B SHb g T shdl | [T 3N 81 Seh % ok
T frehell 21 3@ w5 1 1 A1 Sl W A3H YR h RA-9%c HAT THh (TRE
SfeTe HIET QAT B S Wl © TSR Seh adae fufq § uge @1 WFR qen il
% FE A nyfi dhl & faR@ wl grm s ge wen o @ R 1694 § § &
T TATS ol TGN o @1 MY SR 1 fashm gRw g

d 1 AR FE YER ¥ G T T fogel F qfamn w oo maes @ gEfean
#E gaur= aRem @l ?1 Afrd 31 aRwmetl @ g9 de W g & e w1 afiEm
foet < 21
W0 T & SgER” §% 9% e T e woi H g s & wmun % sifem
g & oy forqa w9 9 wieRr fRar s 21"

gl 3o ¥ Hifgh Feeen 3 FerR | TF 509 9F 2 21 T8 dF ER
% o B 2, W W % Wl ogwy Hifgew Hifd w1 fefor war @ odwn sH
fepeifeard M 1 JAG il B S S & Frefated 2

1) A fieA w1 TR

2) R 1 R SR qen Tl Yenstl b1 HeleH




3) SAEENTR Sehi & Tehs hIT h1 HIE

4) I STAWSET HIG! HIT 1 TEIU qAqT Jae

5) SRl & o aun HAfaH SRR w1 &

6) Sl & i TERNYE TE 1 HE

7) |r@ <1 I

goft qe § = dF T HE F GURA FAT S| GRAE od S o
3 Gl w1 G, <9Ed H e W W g Al @
4, TSF A W Y FA GHW T SUR! Y i G&A Sl H Gui |
S - famo & & § Ug ol UROT 1 WEqU T ®1 <9 W IART &
faf= wedl & Fedim @ S TN A" 1 ST Bl €S9 feg 9 S9 wdfi e %
o faqda o o S 21 U o qen 3w & enfdes faerw W wfte Wy g 2l
59 3w *) T e e el © S faeefEd el Wi @ i e UK e
<9 i erfaskiaa w1 goft °§ @ s @)
afel & ST @R “fdl 39 w1 9| e IS 9l & wgfde @eel W fEamia g
wfaard sifqer qen sriifas oawgetl #1 s 99E S W § fFed gdt @+ gand
Ff e wd B 9 3@ ot fiygs e em W U ety R UsE et Wi
MO | ek iSTEAl 1 WEAT KA gar @ foe fafetea e @
(i) T 3T 1 MO § el MOMT i GHEA S @dl B TH GHEN
GOl T TSl B
(ii) favaia eTishel 1 319d T Hewqul wfaE B WM, 9Rd w9 <9

o gt faiq & 2

(iii) Tgd W IEE qA YA ST HST % §R oF-S7 TEI el Sl UM
T o | T @ Ui, Hifer U S i MU geF | ! Wil 2l
R H! Afeell Tt Ha1 a1 W@E IS a&gsh ol R § ITAN TH IIE00
2 o= uig o o g qen 7€ T ST 39 RN UNE S whi
&t T Rl B U |

(iv) T F i TOET qo ga H Jod IRecl & ®RoT ot wfeasal gl
21 Joa-uiadal &1 GudeH i U GEl qod fdsie 1 WA T
TS AfkA, qoa s & fofor o eme wfeeal edt @ dun 9 gufa:
et Tl B

V) FEfahfad <IN ° T 3= &1 TOFN &l el &l Ut Fifh sTefeaasen
% Tk o2 9§ a5 fafma yafed e € aun 9 erdied B @)




(vi) R & 9 991 U, % HRO A HiSAE el o WY & fafa= <w o

T Hatyd Afqdl § S o g 1 3 wfeaedl @ e ot e
fogie e g 3% 98d ¥ a% &W R S Gehar € U1 T e Y
T T S HeRdl 2

5. gl gfEifen ud ThfueR A SR 22

ST - o yfaEifiar aem w9 fefq St @ e st qen fasmae w5t wem

aAferes Bt 1 I TH hal A1 fashar T fFa A1 WA gR SR Hod Rl e

& Tkl SR § Tad JGERTr S €, g ST Bt @ qen Hgul o o

GO qE S B 1 UHRRR IR H 9% 1 THAE fashdl el @ oIk a5 @t g W

SqT FEa giar @1 qol gieaifrar o TehifueR SR w6 frefd 6 e gu s S

R 1 T F% gehd 2

PMLIREIRGI TehTT&TehTT

1. quigfaafrar & fasharei &1 e § TSR § THAE foashar g 2|
e Bl 2

2. famastl =t Hem ifuss BF % | 399 Y &1 qui 19 9 S @

3. oU EEEY B 2 U o] 1 SR Bl €, & ol i
Tehe TamgY T8 Bl

4. 39 IEM H WHI K1 Wad YA q FH &k JAI W THIURR H Thee gl
Ffetea g 2

5. 9% W GHEYAl & SRl fagne W fosmed W @ 9gd w9 g 2l

=9 el Bl

6. I % HoI § HHAMA S S | kiR fafy= s # qou faug oY
Tl 2|
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Objective Type Questions

T AT 1 W 40 T, TP U9 T FE SW o |

40x 1 =40
Select the correct answer of each Question from Question no. 1 to 40.

. TeH foy & ATER TR
(%) Wifas wean &1 fogm & (@) wifaa e o fomm

(1) o7 o fagm @ (%) SAEvIhdAIeTal - Gaet famm 7|

According to Adam Smith economics if
(a) Physical Welfare Science (b) Limited means related Science
(c) Science of Wealth (d) Wanthess related Science

2. =99 § fRg snfdfe fopaneti @1 onfE den oid @ed ©
(%) 3@ (@) 399 () fafaa (=) faaeo

Which one of the following is the beginning and end of economic activitiecs
(a) Production (b) Consumption
(c) Exchange  (d) distribution

3. TR %:
(F) T fomm (@) Segian; fomm
(1) TS} Ta AeRiet fam A (9) TH § g T8l

Economics is :-
(a) Positive Science (b) Normative Science
(c) Positvie and Normative both (d) Non of these

4. YSitarg W WAl 1 @i g e
(&) W (@) =it (1) o @ Wl (9) 379 9 Hig T80

In Capitalism the owrership of resourees are under:-

(a) Public (b) Private
(c) Public and Private  (d) None of these
5. 9Rd H B:

(%) USarsl stefegaen (@) fafya steferawen
(1) TUNER sdeaeen  (9) 34 9 @i T8l

In India There is :
(b) Capitalist economy (b) Mixed economy
(c) Socialist economy (d) None of these

6. Tafsm srefereren =t qen fagivar 2:
(&) freit = (@) Gt @i
() F-gud w1 fq (§) S wd gestie @i S

Main feature of mixed econmy is :
(c) Private ownership (b) Publice ownersip
(c) End of Class Conflict (d) Public ownership both.




7. <& GHElq IWEfTE I B € 99 %A ST gl €
(%) Fem (@) sAfersan
() I () 39 9§ &8 T

When orarginal utility is zero then total utility is :
(a) Minimum (b) Maximum
(c) Zero (d) None of these

8. v fordt o & Tod ® FH o T
(%) A S dt € (@) A ued @
(M) A feer Wt @ (W) AW St @ 99 et off 2

When the price of the commodity decreases then

(a) Demand inereases (b) Demand decreases

(c) Demand Constant (d) Demand increases and decreases both
9. HM &% forw M St ©

() o] i g (@) WA

(77) @9 &I HT aH (91) 379 ¥ |

For demand the factors are necessary.
(a) Desire for good (b) Means
(c) Willingness to Spend (d) All these

10. tfrare eegent i | B @
(F) =R (@) dAEER
(77) WHfEw AERR () SHIE AMEsR

Demand for necessary goods are.
(a) Elastic (b) Inelastic
(c) Relatively elastie  (d) Unit elastic

11. frfefea o 9 forg a&q 1 A0 eeER el 872
(F) T (@) TH (M) ER- Faeqd  (F) 79 9 HiE T

From following which commodity demand is elastie?
(a) Wheat (b) Salt
(c) Dimand — jwellary  (d) Non of these

12. SCURA T HEA
() ofF (@) 3949 () fafma (9) =9 9 w71l

Factor of production is.
(a) Land (b) Consumption
(c) Exchange  (d) None of these

13.3cared 1 e ©
(%) ST &I T & (@) o F 0
(1) SYARTAT 1 G (%) T 9 |l

Production means :
(a) Todestroy utility (b) manufacture commodity
(c) To Create utility (d) All these

14. 3cqfa gfg fam & sfala Sccd s&a




(F) RAETRE (F) TIF R 9
(M e gE XA (F) G0 T |

Under low of increasing returns production increases.

(a) Decreasing (b) Constant rate
(c) increasing rate (d) none of these
15. %1% ¥ e w9 9 framia g 2

(%) 3dfd Jfg T=m (@) Idfd g9 o

(M) 3a@fa gfg fFam (1) 379 9 |ft

Which law operates mainly in agriculture.
(a) Law of increasing returns  (b) Law of decreasing returns
(c) Law of constant returns (d) All these

16. 37 9d @Fd | o WY GiHid dnd
(F) Wt (@) =&t § (M fer W@ & (9) T8 9 *E &

When average cost decreases, margainal cost
(a) decreases (b) inereases (c) constant  (d) none of these

17.510-310 foent ) gl aedl €, sfed o
(%) wedt (@) a2t 2 (M fer wd & (F) =8 T *E &

As units of sale increases average revenese
(a) Increases (b) Decreases
(c) Constant (d) none of these

18. fhrel & erguR qui wfeaifirar & goa w1 fefcor e @

() IARA =T 5 (@) HHid YT g/
(1) W TS 9fd gN (%) 399 9§ whig &l
According to Ricardo under perfect completion price determined by
(a) by production cost (b) by maginal utility
(c) by demand and supply (d) none of these
19. Sefehrelt qET god &1 fuior g ?
%) A gW (@) A1 W@ qfd & TEAE dqed
s

(1) | de gfd & TR Hged g} (9) 39 9 FE &I

Long run general price is determined by
(a) by demand
(b) (b) by temporary equilibrium of demand and supply
(c) permanent eqquilbitrium of demand and supply

(d) by all these
20. THTTURRT SGAT oNH qsft Afuehad Y Hehdl & Sd:
%) IHH IAEA 3fehay 2 (@) IHHT FHHd AfF 2
(1) 3iEd T <A © (%) dHiq AT, dHiq T % SR 2

A monopolist maximize his profity when
(a) His production is maximum (b) his price is maximum
(c) average cost is minimum  (d) marginal cost is equal to marginal revenue.



21. Tora srefomest o1 stefees 1 SH% wEl Sl ®

(i) < (ii) (iii) wwfer (iv) ten fam
Which economist is known as father of economics.
(1)  Robins (11) Pigou  (1i1) Marshall (1v) Adam Smith

22, FefeTaEeN I BT THEN 1 7?2
(1) ®eFAl &1 eteed (i) |EAl 1 e
(iii) smfeier fashra (iv) 3T | &5 Tl
What is central problem of economy ?
(1)  Allocation of resources (1) Optimum use of resources
(111) Economic growth (1V)Non of these

23.T% W H1 el o fasik & €
(1) gt Harem (i) STSIR T 3THR
(1il) rpfdas @fs (iv) 38 § 9+t
Economic development of a country depends on:
(1) Capital resources (11) Size of market
(111)  Natural minerals (1V) None of these

24, U ATEH T Hee T

(1) =afte srefeme 9 (i) gafte v 9
(iii) (F) W@ (@) A (iv) W 9 HE T

Consumer behavior is related with:

(1) With micro economics (11) With macro economics
(111) (a) & (b) both (1V) None of these
25. SUACTAT T AT HT S Febell ©
(i) ogetl & fafma 9@ (i) ol & 99 9
(iii) g1 @ (iv) ¥ 9 &E &
Utility can be measured by
(1) Exchange of commodity (11) Price of commodity

(1) by money (1V) None of these
26. Eiq TR H T T F B

() g (D) S i) g5 (v o

Marginal utility can be measured.

() 53 (D) S i) o (V) oo

7. § ¥ B9 T 2
(%) TU TS d% S=aq9 Bl © & d% MU &% el ©



(W) TU 79 d% =99 Bl © 99 d% MU I & e gl §
(1) TU ¥« fifA ordl @ S/ MU SBUTcH® 2 ofTdl @

(91) SYgw |t

Which one from the following is right?
(1)  TU increases till MU is poritive (11) TU is maximum when Mu is equal to zero

(111) TU decrease when MU is negative (iV) Above all

28. 1T IR gou H Hew el @
(%) fowda (@) & (1) (F) T (@) H (F) 96 | Dl Tl
The relation between demand and price is
(1)  opposite (11) direct
(iii) (a) and (b) both (iV) none of these
29. GMHI=I: Teh o] T HiT o g et
(&) X - 318 & FHRR (@) y - 3181 & FHRR
(M) =€ § T A" Rar g1 (F) W Y 9¢ FW T g3l
Generally demand crurve of a commodilty is
(1) parellal to X- axis (11) parellal to Y- axis
(111) Left to right downward sloping (iV) right to left upward sloping
30. %11 1 Hed | gfg B W =M™ H AN
(%) o&dl © (@) Sedt & (1) ruiEfid @t © (9) T 9w T1
Due to change in coffec price, demand for tea will
(1)  Increase (1) decrease
(111) not change (1V) None of these

3. 9§ 9 &H 9§27

(1) MPC +MPS =0 (ii) MPC +MPS =<
(ii1) MPC +MPS =1 (iv) MPC +MPS = >|
Which one is correct:
12 MPC +MPS =0 (ii) MPC +MPS =<
(ii1) MPC + MPS =1 (iv) MPC +MPS = >|

32. APC +APS = ?
@) 0 (i) 1 (i) oo (iv) ™ ¥ = 7=
APC + APS = ?
(1) O (i) 1 (ii1)) oo (iv) None of these

33. MPC &1 A @:
@) | (i) O (i) oW few, 1 FT  (iv) ©



Value of MPC is .

(1) | (i) O (i)
34. NNPmp=?
(1) GNP mp - =4I (i1)

(iii) GNP mp + 3T9<&1 & (iv)
NNP MP =?
(1) GNP mp —Depreciation
(i1) GNP mp + Indirect tax
35. f=1 & @ ®H T T 2

I

(@) K= Mpc
I
(i) ~ I-MPS
Which one is correct?
} I
@ K= MPC
I
(i11) K= T-MPS
36. 7791 § ¥ 3H & 9 27
@) Y=C+I (ii)
(ii1) C+S=C+I
Which one is correct?
(1) Y=C+I
(i) C+S=C+I
37. ‘ srefomen @1 T’ fRQ @1 S 2

(i) BN
(iii) Teq fEmy

Greater than O less than 1

GNP mp + &I
T ° FE Tl

(i1)) GNP mp + Depreciation
(iv) None of these

I

(i1) K= _MPS

) R
() K= ups
o e ]

(i) ~ MPS

3 O
(i) K= 1+MPS
Y=0=N

(iv) S9ga |+t

(i) Y=0=N
(iv)  All the above

(ii) TTee™

(iv) s Afea=m

Who is known as the ‘Father of Economics?

(i1) Malthus
(iv) Joan Robinson

(ii) dfst
(iv) Sud=a qsft

(i1) Capital
(1v) All the above

(1) Marshall
(ii1) Adam Smith
38. f7 & 9 i SEH 1 Th €2
(1) M
(iii) a9
Which of the following is the agent of Production?
(1) Land
(111) Labour
39. T W T
(1) AT

(iii) (i) and (i)

Direct tax is :

(ii) STER *

(iv) 7 @ =g &



(1)
(iii)

40. =1 H @ A A9 w22

(1)
(iii)

Which of the following is an indirect tax?

(ii)
(iii)

Income tax
Both (i) and (ii)

AT T
IEEIRC TS

Income tax
Sales tax

—
.

8.

9.

(i) Gift tax
(iv) None of these

(i) SRR &

(iv) ¥ 9§ i e

(i1) Gift tax
(iv) None of these

o 39T W99 (Short Answer Type Questions)

SUNIERT He™ W AW B2
. Hd g2 A gfaee X 9 9 qHeRd @)
et arfersht & MU & &5 ®, SEh! TEEAl § TU &1 Tal @

Units of MU
Consume

1 7
2 10
3 8
4 6
5 3
6 0

THIEE @ 9 1 9% ©7

Fa faug =i = =1

fors ! WeRdl 9 GHICSE AHES il adid|

S B YA SAfufery Heradr i s
IS §eh & Toidl Gaeft Teeyul &l &1 5|

. {1 I a3 @ S g 8?2
31 3 %9 agg-fafma yonelt & wfewal w T fwar?

T 1 IR | o Aok a1 B2
10. 951 3 @ a5g-fafma yonelt & wfeTeal w1 T fman?

e 39a 99 (Long Answer Type Questions)

1. o T ok srefemaeen o fraw A gfg 400 U ®o w1 € IR FAfefea
SUGT -t fEam g B



I (FUS Fo) 1000 2000

SYIRT (RS Fo) | 800 1550

2. Ueh AT TS Y@Td i Wedl § A 3R hi 3ie H qRadIeiid TJ9d &
from =1 gvEEdl

fa o >

3, TAfafea gl @ NNDI i U] Shifeg)|

(U o)
(i)  GDP 2,000
(i) fodell @ 3y wem o (<) 50
(i) G TuEE T 250
(iv) feer dsft 3usm 150

(v) 9 fava 9 frea o] @0 100

(vi) T 1 @ oiell g% el THH W@l €2

4, a&geAl wd gare | TR wdrd|
5. | & A= Al 9% &9 90 W@ 82



SET-6
STATHTAT

TS T

(DT (2) @ (3) T (4) @ (5) @ (6) (7)) @ (8) & (9) % (10)
@ (11) T (12) & (13) 7T (14) 7 (15) @ (16) & (17) @ (18) =&

(19) T (20) = 31. (iii) 32. (ii) 33. (iii) 34. (i) 35. (ii) 36. (iv) 37. (iii) 38. (iv) 39.
(iii) 40. (iii)

&g 39UT 99 (Short Answer Type Questions)

1. SUIRT HeH W A1 WA ??

ST - W9 UH I AT gE oM i { gE dimdl W agge & fHd
ffeea 99 | 39 geR @ & foh ITR 3W AN 9 Afenan Hfe I
g gatyd "an fog sudie & faq 9ger fog sheangm 9% 39 A |
FHE IREa TEl O Hfh IRadT HH W ITRT Faw Awad TE @I
W ST SUSER oo fAfyed o iR & g wiudl ¥ sifushad Hdw
W O 1 YOS il © AR FEl ifehad G o1 faeg SuHieRn Hqer
FHEA T

2. T g8 diHiq yfaeer s X 9 R GHYRd B

3T - Fed g8 I YIqeAde S i 9S8 § B I ook qo fog @i
AR SARR Bl T ST SE-S1 fht og 1 SRIT HAT Hhl ST
F T 99 98 98 YA Nfafed R & fau gEd ovg 1 FH shEal
I ol dIR @dl € 39 YR Ueh SN Sd 319 SN § X o%]
TS bl oGdl € qd ¢ AN W TEe % e G Ww i & fag v
IEIST T THEAT FI T T T VR H, T gE WA G 39 e sifus
Tqfte fier W@ @ Sat & Eqite ot s TR T ovg 9 el =i

3. T aferrt & MU < g2, SHS! WeEdl ¥ TU 1 Udl @I




Units of MU
Consume
1 7
2 10
3 8
4 6
5 3
6 0
I -

Units of MU TU

Consume
1 7 7
2 10 17
3 8 25
4 6 31
5 3 34
6 0 34

4. WHICAEEH @ 9 1 G ©7?

3T - THIIESH 9% 3 & & 9iegAl & U8 fafy= Sam & geidia s
2 TSFY SUIE® T 99 SR Ui Y Gehdl ¢l 39 UhR, Th GHIRS
% Al (99 T geh) & 39 fafa garm @ gefiia s @ e gae
Ol § Scde Bl @1 ST whied % SER “Uw HH SRS o 98 9%
gl @ 59 W Scree @ sifenay it < feer et ®”

5. fe &1 Hemd @ wHcaRs gHfES ® S|

3T - I H 49 T SRS & AU 3% THIORs 9% 3 9hd ¢, o=
HIcaRs gk HHEMEGS el Sl g1 IS Sa fohdl Tk Wied i R Wt
TR FEF T AET H SRR Sl & I IH GIEE B AE H S €, dl
SISeh o1 SIS Teel i 3TUeT 3ffyeh &g Siar @1 39 fafe= &’ ot =g
FT ATl TRl H THERS AACET FHE W@

K\ 1P,
1P,
1P,

O g4 X




fom & X e W oM 3R 4 @1 W YSH I <A W ORI Py, 1P, IP; HE:
I FHICIES T ¢ THH Toieh STl WHICUSs Ueell HHIES o% 9
fyeh IURA & TR i Had Ll 2

6. THa faug &1 =AmE H|

I - THIURH & qq@ -t T aRifafqat omd € & oo
HAT-HAT

Fasll ¥ UH & a% F1 STHI-3TH HHd oA L Al =1 fafa= wansti w6l
T & o e - wdl WS, S - - faeg e g1 70
e & SgER, “9aE 9% & fau g o g 9 sifew gou 9| I
Tea-fadg et smar 21"

7. S g YSH SAfufeery el i Sdrd|

I - W4 o =] WAl 9 WEhl i S @i o SRy °, T fAfye
G ek, Stfueh i3 e ) eqAfa a1 @ o 39 SARMeRfehy el S

21 39 W& I ghaun S Sfud SHHa & SMER W I 219Ul 39 fay S
I eIl B 98 gfaen o favearg met qon Aifial & 34 2

8. HAUIIH oF % Toldl Heeh Hewqul s i ward|

I - S A UEH & T & ®q W off w1 w@ T S Geeh qeegof
#d frfafea 2:-

(i) qMEehl & Sio-aAT & WHEH &1 A e

(ii) UEeh o Tl TR T A LAl

(iii) gt gfagfaal, TR sl Bt TRIg-fasht &

(iv) S I8l ATHIST AT A FYAT AT 3T/ hLAl

A« . o o
(v) % STTH AEehl & <ok, JIFE, To9d SAMS &1 TAM ThHA X 37

@ § S| | 7

(vi) S T Urehl & wfatify & w9 A 1 W €

9. T I YR B FM FF G 7?2

ST - {1 HI oW gRAmEd & S @ S g & fRE A fR U o W
e 2

gl faed & ogER “Hg1 o' € W us 1 & ail”

AferTi & ER ‘g1 o8 a% € 59 gme w@iefa g 81"




fafq=r gReTwetl & ¥R W g% 1 Th Stad qRET < S Hehel € foh o
T U %] © S fafma % mieem, e & 6, RN % T U Jod
o & &9 ° T1; opre Eg €9 ¥ SR i 6l ¢ weh Toh 9 g5 ©
R g8 fafmme qg1 7 21 vew = 3@ wWier W ereavas el 2l
10. 951 7 9 a&g-fafma gomelt & wfewal o R fHa?
- R & SAT@RR a4 JarT A feifeha @1 & axq-faf=a gomett &t
Hiegal = R a2
(i) o1 fafma & T & w9 ° % w2
(ii) %1 Jod & AU & &9 § HE i €
(iii) A A f9a/ehdl & AYE 9§ I THE1 1 FHEE fha
(iv) ol qod-Hud & WA H1 hE w2
(v) goel Blaol 1 1 Lt 2
(vi) 1 WG I & TISS 1 HE Il 2

T TE 51 o WAM 9 MY Aa-Siod W ad1 3Td giasn

S & T 2

Long Answer Questions

1. 9 T ek etefeaeen o fraw o gfg 400 U8 ®o #1 € IR FAfetEa
ST - TS g ©:

3 (FHUS Fo) 1000 2000
YA (RS Fo) | 800 1550
A - T8l i SU9N Y9 (MPC) 3R TN (K) o1 0T Sife) ST
SUH-He & STIER,

AC =750 HUE o (1550 — 800)
AY = 1000 S Fo (2000 — 1000)

(i) o § g (AY) = Kx AT = 4 x 400 = 1000 FUg Fo

. 75
(ii) UM =9 § gfg (AC) = AY x MPC = 1600 x .75 = 1600X — = 1200 FUS Fo



(iif) o 99 § g (AS)=AY- AC = 1600 — 1200 = 400 IS Fo

. T STIYE T @i &t 98l 9 |/ 3§ &l 3fe ¥ IRedeiia srud & o™
H T

S - YRad=eiie a1 fem Uw afedmeiicl 9em wt gehEal iR | Sdg &
o HaY i od g1 39 U % SER, o WiEAl i TR t@d g, S48 TH
Reeiiet |eF i ShEA & gig FE T A Tedd A i SR W Sedl gE W 9
Jfg et 2, Rt a9 wedt g8 X @ gfg =t ® SR ofd A Tud & e URY
STt 81 39 YR 39 frem ) frefafe 99 et R

3TETN - 1 : o o @itad H L fag Tk (T¥@n sggfa & 99 & 3 THEA ah)
Tod g W 9 Tedl T

STETM - 11 : Tho So (@fed H L § M fag da (312 T ® o9 &1 4 ¥ 6
THEAl qh) wedl g8 W U wed 2l

STEERA - 11 : o o (@M= H M fag & A€ (1@ sTIgA H 59 &l 6 ThisAl &
% F) e 2l

30 frfafea SSeeor o e =t 9eEd 9 SHEE T

97 I IHEAT FHoso faieal
1 2 N
2 6 afaeen [
3 12
-
4 19~
5 18 arareer 11
6 18
-
7 2
6 ] sraeen 111
Y
TP

FA AR (FoSo0)

STAGE-I |STAGE-II] STAGE-III

L M X



99 1 ghISA

a o 2

3. Tr=fafeaad siiehsl ¥ NNDIS! UM Sifad|
(G ®o)
(vii) GDP 2,000

(viii) fodenl & 35 @@ em@ (=) 50
(ix) T§ TIIT R 250
(x) Teer oot 3usm 150
(xi) ¥ fova 9 f7oa 9] ST 100
&e: NNDI = GDP ,,,,— NFI, - feer qsit 3usi + v fova & fraa = siawo

=2, 000 + (-50) — 250 + 100
= 1,800 S Fo

(35 T8 R Teel & GDP,, § WA 71)
4, a&geAl wd gare | TR <l

I - (i) IR & IARA Td YN & o™ HHT 1 A B Fehdl &1 SR &
fau, ©h wdl @1 s el e fowm wmg fog W e S ®, fRq s@e sum
H® THI & qvEE fHA S Gehal @1 ferg TH Qere & R W & @ "ehanl densti &
IR TS IUAN & o AT K1 HIT AR &I B TWehdl Bl IR ® fau, S9 &
#E e o0 foeneffal o wer URY wd ¥, ST TH LA Ul 1 SH 9
foreneffal g Sudmr off foRan ST @1 S YR eER, dehiel, TR, dfw, star enfe
Yenati & ) o off B 2

(i) =&gefl & SYNM ! TS SURH & M § 3 a1 <1 Ghal € Safer daat
% IUANT hl T SARA & WM H T A& fRA S Tehdll 39 YHR HEU ¥,
aEqe w1 I SIS W GAHr & GG TH T % SAER {HA W Hehdl &
fhq Tanetl w1 Su9ET A tferd w9 W a1 year g i gHE e M W #

e ST gkl 2

5. WM Y = ol g e G @l B2

ST - /D T g TH B € T e fag WA @ ole §EE Edl @1 UE e

feorfaail o e -

(1) <& O W@ - X- 31 & GHHE=R Th afas 3@ gidt 81 a9 36 g fog
W AT H W S et ®, I8 Yulae ereeR Wi et feedt gt @ srefa v
o S -\ uierds Bt & AT ! w0 o e 9Rede g 2




(2) 9 Hi-oh AR -3rfig i feafd w1 g @ @ s yde fag W oHim

1 o TohTE R @t 21 3W feufa § o oo A ®ima o ufteds g 2
(3) 9 T H W@ Y - A B FGEHER T ST WM Bl © A 3Eh Yk fag W

A F A= I A #1 g oiaan deRE A ot fofa g €, etufa wima

A g ot gfeds 89 W off A7 %t 91 § w8 uiads T g

= dHl feafaal o = few o Yen fas § sdrn T R

Y

ED

(A)
ed=00
i
(C
ed=0
D X

Y

D (B)
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Objective Type Questions

U9 & 1 § 40 T, TAE U9 I TRl IR I

40x 1 =40
Select the correct answer of each Question from Question no. 1 to 40.
1. &A@ oS graH-39 ¥ gfmfad 22
(i) T oo W el @ (i) i st @ et €
(iif) A SR gfd TR B € (iv) 399 W R T
In the situation of deflationary gap:
(1) Demand Increases rapidly (i1) Supply increase rapidly
(i1) Both demand and Supply are equal (iv) None of the above
2. TAE Gger o ®F @ 92 e et 22
(i) T W (i) *1¥a W

(iii) Toit 3o (iv) 9 gt

Which items are induded in Balance of payment ?

(1) Visible items (i1) Invisible items

(111) Capital transfers (iv) All the above
3. dft @ 1 Th 7S B 22

(i) HIHR ST (i) it sfawo

(iii) el foseht e (iv) ST gt

Which one is the item of capital account?

(1) Govt. transactions (i1) Private transactions

(111) Foreign direct investment ~ (iv) All the above
4. <] @Al 1 Teh 9% i 82

@) 3¥F Wl 1 ST (i) Teh & Td

(iii) 399 TR w1 f (iv) ST Teft

Which one is the item of current account ?

(1) Import of visible items (i1) Expenses of Tourists
(ii1) Export of visible items (iv) All the above
5. -39 /e S B/e:
(i) =], T (if) I
(iii) (i) and (ii) 3 (iv) 3TH ¥ HE /I
The components of Balance of payment are:
(1) Current account (i1) Capital account

(ii1) Both (i) and (ii) (iv) None of these



6. SIR-9Y 1 Y 2:

(i) el RO (i) ST 1 A TS A
(iii) Hd kY TH SH (iv) 3= asft
Trade balance means:
(1) Capital trans action (i1) Import and export of goods
(ii1) Total debit and credit (iv) All the above
7. %M Tk YAH-99 1 939 T @2
(1) A (il) a=
(iii) e (iv) 3= asft
Which one is the visible item of Balance of payment?
(1) Machine (i1) Cloth
(ii1) Cement (iv) All the above
8. I Uk WAM-9IY ol 31GYT T B2
(i) fe (i) STer T
(iii) HaR (iv) Sud=a asft
Which one is the invisible item of Balance of payment?
(1) Banking (i1) Shipping
(ii1) Communication (iv) All the above
9. WIAM -9 § 3TEqe 1 HRT &:
@) TIhfdeh RO (i) efefer sRO
(iii) TeHIfae R (iv) 3= asft
The reason of imbalance in Balance of payment is:
(1) Natural reasons (i1) Econmic reasons
(111) Political reasons (iv) All the above
10. % fafTe 3T 1 TF THR 87
(i) feer fafma X (i) et fafma <2
(iii) (i) and (i) I (iv) =79 9 &+ &l
Which one is a kind of exchange rate?
(1) Fixed Exhange Rate (i1) Flexible Exhange Rate
(i11) Both (i) and (ii) (iv) None of the above
1. foeft fafa <= fauifa = @:
@) &R (ii) wreTSie
(iif) fava o= (iv) | s gfd =t it
Foreign Exchange Rate is determined by:
(1) Government (i1) Bargaining
(ii1) World bank (iv) Demand and supply forces

12. 9@ &1 7 & FElE w6 @ fau s 9% w0 o fafy st @2



(i) IF R (i) e SR Aifa
(iii) Th3 Y TIIM H i@ (iv) ST 9

Which method central Bank adopts for controlling quantity of credit?
(1) Bank rate (i1) Open market opration
(111) Change in cash reserve ratio (iv) All the above

13. 570 9 i T G R B § GEUR BT e 2

(1) TSR (ii) Hifsew
(iii) (i) and (ii) 3T (iv) ST @t
Which one is the corrective measure for deficient demand?
(1) Fiscal measures (i1)) Monetary measures
(iii) Both (i) and (ii) (iv) All the above
14. 5512 % T HH &2
(i) EECle e (i) =1 =4
(iii) (i) and (ii) 3 (iv) 3TH ¥ 3§ &I
Which is a component of Budget ?
(1) Budget Receipts (i1) Budget Expenditure
(111) Both (1) and (i1) (iv) None of the above
15. 91 Wt T 52k hiA @2
(i) T Wit (ii) gt wife
(iii) (i) and (i) (iv) =79 9 +E &l
Which is a component of Budget receipt?
(1) Revenue receipt (1) Capital receipt
(ii1) Both (i) and (ii) (iv) None of the above
16. TR & o T § Himfed @
(i) ST (ii) Trm =+
(iii) EICIECT (iv) Sud=a asft
Tax revenue of the govt. includes:
(1) Income tax (i1) Carporate tax
(ii1) Excise duty (iv) All the above
17. Frefefea o @ &H e fifa & afwfea 22
(i) Al = (ii) =T
(iii) [SlEE| (iv) ST @t
Which of the following is induded in fiscal policy?
(1) Pub. Expenduture (i1) Tax
(1i1) Pub. Debt (iv) All the above

18. GEIERIf STt ST TH AT 7:



(1)
(iii)

Inflationary gap is a measure of:

(1)
(iii)

i e

T HT

Excess demand
Short demand

19. W&} e &

1
2
3

4.

g - 1
. Sl 1 S
. Hfsa o=
. gerEmifa o
STqehifa T

Make Correct Pairs:

Ll A A

Group I
Bank of Banks
Central Bank
Inflation Cantrol
Deflation Cantrol

(ii) gfd smferera
(iv) 379 9 =+ 7=l

(i1) Excess supply
(iv) None of these

g - 10
(%) AfqH RURT
(@) »fsa d%
(M) i g Aifa
(M) ¥F R ¥ I

Group 11
A) Lender of Last Resort
B) Central Bank
C) Cheap Money Policy
D) Increase in Bank Rate

( Ans. 1. (B), 2. (A), 3. (D), 4. (C))

20. 9&T fgem = .

1.
2.
3.
4,

g - 1
3T, MPS =04
3R, MPC =0.7
I, MPC=0
IR, MPC =1

Make Correct Pairs:

el S

Group I
If MPS=0.4
IfMPC=0.7
IfMPC=0
IfMPC =1

wE - 11
(%) U = 00
(@) Ui =3.33
(1) TR =2.5
(&) U =1

Group 11
A) Multiplier = 00
B) Mulitplier = 3.33
C) Multiplier = 2.5
D) Multiplier = 1

( Ans. 1. (C), 2. (B), 3. (D), 4. (A) )

21. 9&t faem R :

g - 1

g - 1



AT 3791
I AT
AD> AS
AS>AD

Make Correct Pairs:

b S

Group I
Deficit Demand
Surplus Demand
AD > AS
AS > AD

(%) I ST
(@) 9 3919

(77) AYTHIfG T

(&) HEhifd STada

Group II
A) Surplus Demand
B) Deficit Demand
C) Deflationary Gap
D) Inflationary Gap

( Ans. 1. (C), 2. (D), 3. (A), 4. (B))

22. Tt faem = .

1.
2.
3.
4.

g - 1
ART T
T T
EEICIERECH

kSR

Make Correct Pairs:

Sl Al

Group I
Invisible goods
Visible goods
Portfolio Investment
Capital transfer

g - 11
(F) TSt @
(@) i

(1) =Te] T
(&) ST e

Group 11
A) Capital Account
B) Physical goods
C) Current Account
D) Banking Service

( Ans. 1. (D), 2. (B), 3.(A),4.(C))

23. e} e

g - 1

2. arfurfegess S o sEd

3- 9@ fmior

4, afoTieres St gRI kUl A1

g - 10
(%) fsdtasw =
(@) grg i
(1) wefHes &

(®) Ha= =M



Make Correct Pairs:

Group 1 Group 11
1- Commercial Bank A) Secondary Function
2- Deposits in Commercial Banks B) Credit Creation
3- Credit Creation C) Primary Function
4- Loaning by Commercial Banks D) Derived Demand

( Ans. 1. (B), 2. (C), 3. (D), 4. (A))
24. W Teh & 1 HIT o Bl ©
() X - 9 & gAR (i) Y- 318 & FEAWR
(i) 9@ ¥ 3 A= w1 fwar gan (iv) =¥ ¥ & SR I =@ g

Generally a demand curve of commuodity is:
(1) Parallel to x-axis (i1) Parallel to y-axis
(i11))  Downward sloping from left to right (iv) Upward sloping from right to left

25. A 1 Fm @n] 18 g S|
(i) o9 oeqell &1 HiHd 9% S € (i) %] B Ol W qREwE g @

(iii) HYH SEA S @ (iv) =9 ¥ =f

The law of demand is not applicable when

(1) Price of other commodities changes (ii) Quality of commodity changes
(ii1))  Change in fashion (iv) All of these

26. Torelt =& &1 | gfaa et ©
() SHEf@ A (i) SUREHA 9 (iil) AIEEERA § O (iv) TH ° B TR
Demand for any commodity is affected from
(1) Utility (i1) Productivity (iii) Profitability (iv) None of these
27. HTHT & Hod H gfg B W =A™ HI A

()  ed @ (i) st & (iii) emuREfdd ®dt ® (iv) T @ *iE T

When price of coffee increase the demand for tea

(1) Increases (i1) decreases (iii) Unchanged (iv) None of these
28. U & oI H gfg § &R &I A9 H
(i) dfs (i) s (iii) feer (iv) sT9sTfaa
Due to increase in Patrol the demand for car will
(1) Increase (i1) Decrease (iii)) Keep constant (iv) No effect
29. §9 & YA H gfg & RO 9 HI WA H
(i)  wH (i) fo=r (iii) I (iv) 3Tgsrferd
Due to increase in price of apple the demand for apple will
(1) Decreases (i1) Extend (ii1) Increase (iv) No effect

30. STifieh foehm & HRU worgd i Wi ¥ gfg ST §



(i) ™ "I (i) A | (i) SFA= =T (iv) gfqarft |
Increase is the demand for wages due to industrial development is an example of

(1) Income demand (i1) Cross demand
(ii1))  Derived demand (iv) Competitive demand

RIS [ - [ - — Al | g gRexa el g
(i)  fer (ii) aferdefia (i) FFEE  (iv) “ifaes
In short period there is no change in --------------- factors.
(1) Fixed (i1) Variable (iii) Human (iv) Physical

(i) Sfd gfg f=m (i) 3cafa g9 =

(i) Scafd Fwar f=m (iv) Rafda s/ fr=m
Modern economics have propounded the law of ----------------

(i)  Increasing Return (i1) Decreasing Return

(iii))  Constant Return (iv) Variable Proportion

KK J— I & qff wed | ufeds gy 7
(i) U (i) &R (i) ASE @A (iv) TR S
In the -------------- Change in all factors of production is possible
(1) Short period (ii) Long period (ii1) Intermediate period (iv) Market
period
34, el 3l
URedeiiel WeF H T
SR 0| [R— H A HE H IYEN B ©
(i) et e (ii) 2ired ScareH (ii) A 3R (iv) TIfiE IR
Total Product
Units of variable factors
The above formula is used to calculate

(1) Total Product (i1)) Average Product
(i11) Marginal Product (iv) Annual Product

Short Answer Questions:
arg fator § s o 27

What do you mean by creadit creation ?

1. 9fg ofEd S9N gfd (APC) 0.2;0.4:0.7 & d 39 ==id ord (APS)
! IO hifSTq|

If Average Propensity to consume is 0.2, 0.4, 0.7 then calculate the average
Propensity to save.

2. SAUR - Y A1 AN § 2
What do you mean by Balance of trade?

3. focuit fafma amm =1 aftam s

Define Foreign exchange market.




4. 9K |17 & e wRe Faqr)

Discuss the determinant of market demand.
5. IUACTAl faversor &t e o Seoid i

Decribe the limitations of utility analysis.
6. TG HAEH Tk 1 2

What is Production Possibility Curve ?
7. STOER ANE ¥ F AWH 7
What do you mean by opportunity cost ?
8. w1efere &1 ferat wmEmd 72
How many branches an economics has ?

9. UL M @ik & fohgl T STANT ! T

Mention any two uses of national income accounting.

Long Answer Question

1. fr=fafed aifeer 9, TR, MR, 3R AR 1 TUFT HifST:

HEd (Fo) 10 9 8 7 6 5

AR (units) 1 2 3 4 5 6

2. TH g W {@fad &t werd | gfd & fred sl geeEu
Explain law of supply with the help of a tableand diagram.
3. ST Fqe U 1 ARE 27 SYAATA faeew o & SfHR W

YT G i Al ki FdBEU

What do you mean by consumer equilibrium? Mention the assumptions of
consumer’s equilibrium through utility approach.

4. W H gfg & FRA B Tqand|

Give reasons for increase in demand.

5. {81 % qaides (A1 RIS ) HE Sl GHAT|

Explain the tertiary (or contingent) function of money.




SET-7
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(Answers)
1. (i) 2. (iv) 3. (iv) 4. (iv) 5. (ii1) 6. (i1) 7. (1iv) 8. (iv) 9. (iv) 10. (ii1) 11. (i1) 12. (iv) 13. (1i1) 14. (ii1)

15. (iii) 16. (iv) 17. (iv) 18.(i) 24. (iv) 25. (i) 26. (iv) 27. (i) 28. (i) 29. (iv) 30. (iii) 31. (iv) 32. (iv)

33. (i) 34. (ii) 35. (i) 36. (iii) 37. (i) 38. (iv) 39. (ii) 40. (ii)

Short Answer Questions:

|. §rg fmi 9 =0 emed 82

What do you mean by creadit creation ?
I - grE Fmio aifed el 1 T o € eyl s B g et @
A & ok et w1 i steEn d@ st | gfg) aifisg de ko w St
TR O S 1 TR #Rd €1 9 ot fawg <@ FEi s ® iR SER
o ol % U H Siet o i e 2

2. A oigd 3 9gfd (APC) 0.2;0.4;0.7 € <« 3i&d a=id W@ (APS) i

AT HifSIT|

If Average Propensity to consume is 0.2, 0.4, 0.7 then calculate the average Propensity
to save.

I - : APC + APS = |

. APC =1- APS

() APC=1-03=07

(i) APC=1-05=0.5

(i11) APC=1-0.8=0.2

3. AR - I T WA T ?

What do you mean by Balance of trade?
S - AR - 99 ¥ dd TF 98 & IWE UH W b WA AEm 3R A
fafal & oHafterd fefe @ 21 a&genl & frafd iR el & 99 1 =R 9w
F8d T TR =l A, 399 Fafal § @ 399 ol i WS BH U 9 & SATUR
-~ 9 H TEH IR qHd T
MR - 39 = 339 TAa - 399 W
Ifz 39 & Frafd sl 9 eifusw € @ AR -9 oTEwe (JI9d 1) el © SR
afg et frafdl @ eifes € @ =R - 99 yfdashd (S ) BT R

&g 4,




3TIRA (A 9=d 1) AMR 9 = i > T

gfderel (A1 =1 1) MR A9 = 3 > Faiid

T 39 % FEfd iR e gfyee O & 9Ok e € e ot w eafy o ww
< H AR -9 I d SRS (SEd H1) BT A AR (S H1) BT 2

4. foceft fafraa am =61 9ftamn i)
Define Foreign exchange market.

SW - foreh fafma 9om @8 R g @ oo faceht qued &t 'l 9 9=
S 81 39 YRR UE feREl W % ©Hie ° faml 6 U GENE YEy
it focelt gureti 1 fohl o1 % Grom@ gwel &1 fam! & © wEfs
AR SR TRIGI i &1 mama-fafd e ol =i oo fadeft spmar
% foaq ot fokelt gwusfi =1 = geli § ogend € @R oo Ry gwie i
fadsht qerenl agerd € fadsht fafma 9w o qea ufaarht € aifoer o, foagsh
fafa <o, o= stfysha Slet 3 it wifkerd |

5. 9N | &% e SR eqm)

Discuss the determinant of market demand.
IC - O+t FRSE S AfFEE - IRaRl ) "5 @ gufad e ©, 9 o 6

1 ot gurfad @ €
q %
@) & ohl hIHd
(ii) IS I 2 H IRadH|
(iii) Hafyq a&gsti &1 wimal § gied|
(iv) el ¥ aRed|

T FHRH b AAE, SR AT I FAfId HH A 3T HE@YUl HRb

frefafea €
@) SHEEA Td IRaR] i G&Al
(ii) A 9 g9 1 faawo
(iif) RN Hifa

6. U faveror &t HHIet w1 oo Hi
Decribe the limitations of utility analysis.

I - (i) STl foveve w5t Th yqE @9 g8 € 6 S 1 ges
a9 HgwE 2l
SYATET Tk TR T 9acHd STEUR0 ¢ ofd: =6 TdE St
H T A S Rl




(i) U fogeioor 1 @€ A= T 9o &1 @i Swifin fer wdt €

et A 1 orkde H dl gE i SUAATl T oAted 9 T SAfer

% T STerT-3Ter Bt 2
(iii) a% oo sfaursreia aegel W an] T & 9l
(iv) Tk %] &1 STANM & 999, TH IR =Afe & FER IRed mar wdl

2l

3d: T YHR i AR d5aAd @1 dielt EUre & ar § faefaa f=m
& 9T ST Gehd|
7. 3T ST 9% 1 27

What is Production Possibility Curve ?
I - TH IART HAEA oO% O€ el € S & a&gell % S99
SEA-Gee i feamar @ R ww sreferewen gw fRu gu WAl wd
qhArsl B G0 STEAR HEH SIfEd fRAT ST GhAl q1 T TSR H, SR
AT Gh WIEA TS dehArastt @ KT gE BH R aEgel 9 gensti & 9
fashedl o Twiar @1 &Y ¥, I8 w9 & GAT H Fam 2
8. TEER NG W F AN &7

What do you mean by opportunity cost ?
ST - SARA G9E 9% gd oarar @ TR Ak W fRe w% o % Saed o
gfg & TEd © A W SHO 9% 1 AN FHIA B ST Tk o Hl SRR
ArTd fRdl gE o] i o8 "1 N9 Ugell S 1 IARA R & AU SiE
gedl Bl SSERU % AR W HHFEH i ST AN Skl hi 98 HEAT € TeR1
T Tl 81 R U @edl we deheerst wt FeEar | a1 g9 5 fufer dve
G T SR HX Tohd © AT 15 B9 SGohl 1 SAARA HY Tohd &1 3T
a1 ® fF 5 fafeem o 99q 1 o o 15 UK ssh 2|
9. srefuet i feperl v €2
How many branches an economics has ?
I - ferE ) g favmasg wret fogd ©1 38 g Smensti ud sufawm
A anffepa fepan 1 Gekar @1 forq s1efome 1 < gea vmEm €: sAfie stdume @R
THfte aTefeme|
(i) =AM ALAVMA (Microeconomics) - THH AfKIG TAF THEA & R
1 I fRa Sl B, ST Wk o%] i HhiFd 1 R0, Th SUHie, Th
wY onfg o1 EER okl 39 wiHa fagia o wer S 2
10. T A @i & =l 3 SYART ol sam|




Mention any two uses of national income accounting.
I - TRG @ d@ihd & < 39am ot 8:

(i) oTfefeh SYAfs 1 Fadh - Tah I hi Afh ITATSH hl S d AU
T @i Wed SRl W U gqfad @ieE @1 98 ' T <9 %
GTehfcieh, AMET T Sl eFl & YA @ U STATsu ol S 2|

(i) oM fashr@ &1 AT - UE oGl & e TH Uk I & SMYH
famg wd ol Foam & R T Ken # A A ot g wd € 3
el anfer fohra & W ud 9ol goyrere & 9R W oft S 24 2

Long Answer Question

1. Tr=fafea aifers 9, TR, MR, 3R AR ol TUMT SHifST:
HEd (To)| 10 9 8 7 6 5 4
HET (units) 1 2 3 4 5 6 7

Calculate, TR, MR, and AR from the following table:

Price (Rs.) 10 9 8 7 6 5 4
Demand (units)| | 2 3 4 5 6 7

g - 89 SMd © T Smd = AR

2.

AT (HEAT) | PA AR R (Fo) AR X SHEAMR (Fo) TRm — TRn-1

1 10 10x1=10 10

) 9 9x2=18 18-10=8
3 8 8x3 =24 24 18=6
4 7 7x4=28 28 24-4
5 6 6x5=30 30-28=2
p 5 5x6=30 30-30=0
7 4 4x7=28 28-30=-2

Toh IYEl Te Y@t &t e | qfd - e ol )

Explain law of supply with the help of a tableand diagram.

ST - qfd #1 o aq ® fF o a1 w9 WA W T awg H g wt A
o @Y R W STA! HiFa & faen o & gRadq e € stefd #iHa sgd ™




Ifd-Tmn ot Sedt € SR FiHd S R g Hedl ff 71 Waw o, 7w fEw s @
#1 FAd 3R TR qfd I TF & o A word € IR s Fwor ufd o and
T HT R T B 2

ofd & fem w9 il gt % S ud enfed gR sarn W 2

gfd e W SR
X %] ! HIAd P 1 2 3 4 5
(T o)
X &% ! gfd sx 2 7 11 14 16
(ZehrEal #)
qfd e
Y S

HAd
—_— N W R~ W

O 4 8 12 16 XU

3. SN HqeH 9@ 91 ST B2 SUATAl fagieruur & SR W SurerT
G i @ Sl SRy

What do you mean by consumer equilibrium? Mention the assumptions of
consumer’s equilibrium through utility approach.

I - SUNERT - Hqor Tk U feufa ol s @ e SusieRn o o i
I& *1 TlT W AfyehRan Tgfe I et § SR SEH o adae = o ufted
T T hlg Yfd T8l qrE S|

ST Tl i I 39 THR T:-

A=A

YA faevor gR1 SUHET Fqe i STaURuN fH=fafed Araae W senia

() SUWE faamsiial 8 ST SEYd STt Hdfte stuan SyAfin i stfushdad
HE 2
(i) SYAIT 1 HEeIcHS AT §9e 2



(iii)

(iv)
)

4.

3 -

ST 1 qg1 & &9 H /O ST Gehal @1 3R K i Gid ST
feer Tt 21

Tl g8 @Hid STAifiTar 1 fEm on) g 2l

FEgeT H wId < g € oI feer W B

A H gfg & HRA H Taed|
Give reasons for increase in demand.
A ¥ gfg etun | o < R fomes WH () w eref §

SIS §RT SE AT (IS S hIAT W G B AT WG T A 3Hb

FfeTed ROl 8 9%d T

(@)

(i)

(iii)

(iv)
5.

3 -

O

SUERT HI A H g - 5o STWERT ®i o™ H ghg e St © ol o
I HHd W T HI AfE A TS AR AT AT T IR AR
feger smam|

WM %] &1 iFd § gfg - I fordlt Tk a%q &1 TG a5 Hi
$iHd W gfg & St © @ SH a%g &A@ A gig 8 W ?, of:
Hi-aeh < AR FaEe a1 81 SSEl & fay et &t siud | ghg en
W =@ H AT § gfg B W €, Fife o™ | wiwl ¥ WE H R
fager St 21

Tk T Bl HMAd H HH Tk I Bl Ik 9] I AT H HH & A
g 3@ o9& # A H gfg el iR A o I SR fawsw S
3T % foU, /@ AR F1 hiAd W HH el ¢ o U 1 6l 9
STt 2

a5 % 94 W IuHEIST & ®fa H qRadd

o forelt Top o%g % U | SRSt %1 &9 § qfiedd gl @ a9 39
a&g HI W GG Wl ® AR AT I I AR fEge i Bl S &
faw, afx < Sifaew el S Blis afys 90 w3 © @ Sfas
A BT AT TG S|

AR & qaas (A1 STREAS® ) HAl Sl o

Explain the tertiary (or contingent) function of money.

1 ED qeA 3R ek (Contignent function ) frefafea 2
T 3 &1 famor - oy teferasen d IURA &1 &M IURT &
fafg= Tl g faaeR fvan w1 @ <f9 T o #1 SART I




(%)

w9 4 fFar S 2, ofd: o9 faao i 39 weas o9 fRar S o=nfeu
1 3 % fafa= el & i Aeisd, =, @ SR o % w9 A
T 3 & foor & M i SEE o <l 2

SRS 1 STHehad Hfic - Tk ITARK 3fushad Hfic I & &
fou aegetl Tarell w1 W YER TlEd ® O ydw 9% # HiEd SR
IqHT HHiq IYAATE SeR gl S|

(@) IS & ifyshan Hfic - Th bl Afd dqfic I & &

(M)

(%)

(3)

fau a&genl @ Sl @l 3@ YR Tled € fEd e o @i simd 3R
IYh! HHA STAAT TR 8 S|

SR hl AIHTH MH - Th IACH IS I A9 hl AfHTH T
wEd ® A U SaRd & fafe= wrerl w1 Sl gREAl w1 wE e
aifet fad f6 g @ea 1 $iad 3R 3G W9l IAREHA aUsk 8l
i

GrE 1 YR - GRE STk Ia@E i e Heeyul fawivar #1 iR
g e fafva yomelt @1 qed SUR gE1 §1 9 i qfd W fef s @)
TH YN, Th MYTeh AeTaee | q5l U & MR & &9 H HH Il
2l

WAdl - g1 a Gl § gl w®A ®9 21 gR B fpdt off it
st aegell 9 9fi, Wi 9 SR, SEd, TR, ed, el o] @
®Y H o<cl S Gehdl 81 39 Rl & O & HROT & AN G H A
F T
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TS &A1 ¥ 40 Th, TAH T T G IR A

40x 1 =40
Select the correct answer of each Question from Question no. 1 to 40.

1. e g1 eredeme &t < R o & wery | e wet e @2
(%) gAY @A (@) 2P & Ufd deed
(1) AN T GhWcHS (TET) (%) wrafier gftesmion
2. T ity fop erefemren @ @2
(&) ®ad FheHF (Toaam)
(@) 7 T HHReHsh AR 7 & Aeyicash fom
(1) & fagm o saenl 1
(%) T TI9ME AUl el Sifh 39 ard W R o § R stefeme &1 v
HF IR oy 3239 & forg e 2
3. fopdlt ered-oaeen =t W@ WHEN % gy fHEEd €2
(&) fafma
(@) &R g fha ™ fofg
(1) o7l sheam
(F1) WG T I AT AR hi Tgerdll
4. SR GEAEA] Ok o WY | I el e ©?
(%) Thdesrgar st gfshan skt =amen
(@) 1 aegett &1 fafq= e o e
(FT) WEA & Y376 H AT
(%) qof ISR a2 gui IaeA i fefdl
5. ‘HTgoR!’ STV Tl ‘Hehl' ST WeRl o1 TANT Wayed TR stefemeht g fRan
TN?
(%) W™ €& (Maurice Dobb)
(@) TR frw (Ragnar Frisch)
(M) TR THy (Ragnar Nurkse)
(F1) S W & (JM. Keynes) |
6. oA AATMS fehden TAT LT 272
(&) Hara fagewo (@) fyvs yorelt (lumping method)
() Hifser fererero (%) @1 fageron

7. 1ef-ere 1 FHTRR §2@ (circular flow) 1 A 1 Gy fHEQ 272
() =AfE (@) gafeya
(1) fteHE qun THCH T TR 9rY (F) 9-l J9 el



8.

10.

11.

12.

13.

14.

15.

16.

el SUAMT AfeRad €, 5l

(%) HrHr SwEifiE = ®

(@) doe ST fushad ©

(1) HrE ST ST TSR % SR @

(%) Sirea SuifT sAfushan 2

T I AR wl qHT R gE0 e % g a1 81 sh@et e fhe fam
% Irid Bl 8?2

(%) =@ 1 fem (@) wfawa g fom

(1) vl g e (=) gfd Frem|

YT Tee | BN, 56

MUx Px MUx Px
(%) >— (@) <—
MUy ~ Py MUy Py

MUx 2 . .

(M) MUy = By (%) SEF | ° FE &l

HiT 1 o 31 9 AE A R, fhud i g g T €2

(%) USRI i AT AT AT T T aE FHI AT

(@) I&] I HFd q&1 TS AT HT AT

(1) &G I HIET AT THS FGEITT YT RT [

(%) %G HI T KT WA TN THE b UK KT WU I

- &ATHE 3Ih U-ISUHFA-Fge &1 A & fau 74 5 9 g amon
1 WA HLal 82

(%) STHAA-h (@) F-9H= ITifTar

(1) a% * Afkan IART (9) SWH H 9§ hig TRl

Hi-ah 1 SR 1 AR foaedT (upward shift) 39 R Heha et @ T

(%) %9 HHd | Afuss gEn g wn (@) 3 wHa W Al gen o
s

(1) S HEd W HA 70 H G (%) SF o 9 HE &l
ffte= <ol 1 Am-o B

() &t (@) =Rl siR F= frar gan

(M) orff AR 9 fimar gen (9) <R SR S Sl g3l

Fiodl H ufads & g9E § AT 1 A § uRadd shecem:
() wH toran gfg (@) fa=R star g
(1) S YS! T (91) BUTcHS SA¥ET HhRIHEH [
FHid feR W@ W Iue & A" ¥ gig 1 aRkemd gem:



17.

18.

19.

20.

21.

22.

23.

24.

25.

(%) T H fomr (@) 9 ¥ 9fg

(1) g H g aladq T2 (91) A-deh T o SR S

i & YA faveror § Tt wrraet § oo wel Tl 8?2

(%) TX I o ST JoifEer & (@) % I HIFd TR T
(1) U H1 faamyul IR (9) Y& g favsa g
= § 9 SH-91 %Y e[ 22

() Tk S <R SR A= frar @

(@) 9% w1 STW-fag HT 3R I T 39 R v HIO € Tk 9 & <A
3N M W o &1 el | fifee a1 @

() Tk SuHiE & forg < el % st wfder w5t e g e @

(%) Tt a%g & *Hd § URadT &1 SGH! 11 S O R HA GG
HIHI-99E HEA T

YAl & Gegoi &l fag 98 @ el HHd 1o seie 3@n:

(%) IEEAT-a% B FR (@) SEd-a% & T @

(1) SEMEFd-5h i Y HI B (%) SIEAI-Th ol el 2
IEHd-orsh forgeryor & gfauee o

(%) sfas fewret (@) . aE.uead

(1) HRiA (%) fesa den Tl

U 1 Hifger-319 TEeR WY W Tk a%] 1 HI19d ®H eF W I8 &l 8
o

(F) HHI-T@N W UG 1 A9 I AR fodqs =

(@) ima-En arff AR fogs S™

(1) Ul i Afas T § gfg @l

(¥1) STy |
Teh 3IqH A FHH 9% & (A HhiAd 399N @ &1 S gl
() RUTHS (@) 31 (vertical)

(1) 9@ &1 3R (backward)  (¥) F&RHE (positive)!

UfSteT-osh (Engel Curve) 98 <31l € fF o1 9@ W T 31a9ash o i
T T A

(%) @gdt T 9 gig wt @ (@) wedl ¥ el ©

(1) *9 2t 7 (%) feer &t 2l

Fid ¥ yfaerd S § 9% H1 AT w A0 § w9 gfavd 9fs 9 W RHA G
T @< 1 Ok I BATTZ

() 1 % SRR (@) 1 ¥ stferw

() 1 9 %A (%) I

Hfe o & oIy o1 Wi &« R

() EcHS (@) 3=




26.

27.

28.

29.

30.

31.

32.

33.

34.

(1) HOMHR (=) 3

Ife fopelt asg 1 AT Sl € o SEh! HiHd SgH W SUNET Bl SH o] W
g

(F) 3T & ©W (@) =g

(1) = (%) S § ¥ HE T

et a%g &1 wmd | gRadq &1 R =AW &3 fam afx ggeht om & am
AUREfdd Tt © df SHRT WIS

(%) faafast & TOA=R (horizontal) (W) 31U (vertical )

(7)) ¥tk @l (positively sloped) (¥) F0THS @l (negatively sloped) |
Tt gul T gRel & e wfaeemed &t ofre g

(%) A (@) I 9 ik

(1) 9 9 HH (&) 3=l

qfd w1 i o1 Ty TR o St gfd @ foe uReds § @ © e wRor g
:

(F) M (@) &Hd

(1) STRA AN (=) urfafyer feerfdl

T &1 A A g1 W, WHER A g

(%) g (@) RUHS

() A () s o § &iE

IR 1 T G0N 1 G TRl §?

(F) IUNERT E H1 T a=d (@) 3T & IUSH

(77) IUET G H T TRE W SAfRe A (F1) IUHAT HT
EREIES]

e o 9 frd SusierT 1 a=d H1 "I T8 9 TR 82

(%) 3UART & AU g1 S HH ST feer g

(@) YT i g9d q HiHd B FAe] T

(1) Y& I% H A=A

(%) o= a%g & *E TWHEE= T A

SR 1 = o faervo § feew 3 7 ¥ @ S-S gnon & g=@ T2
fepa 22

() HE-TeI e (@) gE-gHsi qRkadd

(1) IE-qed aRaad (91) HHa-qed aRad|

YT i F9d & Fhew § 19 ° § 59 yaR 1 ara ferfd ae sam
a9

F o 3fea g m?

(%) d&dt g3 ard (@) =t g8 Aard

(1) TR ara (%) ST o U HiE =l



35. 3 ScaIg. SAferhad e, <
() HH SIS S AR ¥ %A ©
(@) du SR 3iiEd 3R 9 sifush
(1) = IR ST IR B IR @
(%) HH AR HOTHS B
36. Tk Tooenqul IcISeh REd STAMl o a9 i fohd ofaen H IcaR vl

=R ?
() JUY ST (@) fgda saeen
() A st (=) gt sferEent

37. UM % HiAwe 1 gy SR % 39 UiEdd 9 ® W
(%) IARA & Feft WeA H T & AU H gRafda g
(@) e Ul | afeds g
(1) & Al | 9Redd qon o1 i o) @

(=) foedt wem ¥ giads 9 g
38. Hid-STeH ST He ¥ 9IS Bial 2

(%) TR ® oefuE gfawd (@) Y9 & SEAE ik
(1) Y9N & feer wfawe (%) wafieh gfae|

39. Hid-STAd ICARA Her & TAR FTaeea 1 @ ¢
() I (@) A

(1) SHE & TR (F1) HiE oA g feer qfdn
40. TH FEE o5

(F) TR &R SR S ©

(@) IgM-fog & St (convex) ©

(1) TR AR BT HH STEA 1 AR Fehd LAl ©

() TH-TR I H1d

oY 39U W9 (Short answer type Questions)

WO 1.) ScRA 9o 9% (PPC) o o1 99ehd 22 I8 fe X % fagswd &

U9 2.) =4 &R dehieh T8 GHed ¥ ghg PPC &1 o ifedt iR o S @2

U9 3.) H=ia GHEd @ € 3R A & I el @l

U9 4.) fohos o SRS B, 39 99 &l A H

YIH 5.) | ST (TU) @ HHid TR (MU) H @R T

Y9 6.) 3 & Fhid YAE i AT hifaT|

Y9 7.) SRgel UE daedl H i warEu|

T 8.) 9Rd ¥ w1 gfd & forw for Al w61 @ S €2

gy 9.) fr=fafaa eifeel @ g fafy = g 9Nk FHal W ghal T AR it 0T




i) TSEd F A
ii) =IE|
iii)  HouR™

Fg (¥0)
800
200
60

iv) foden # g WA o -15

V) 3T Herar

vi) oY
vii)  3THIE T
viii) &S

100
500
200
50

YT 10.) ¥RA o SNV S o sFfientol 1 Giqw guiq Hifsu)

Long Answer Question

1.) UeIRE 1 oI Ha Hif)

wg ®o
i) NDP 2000
ii) FC focell 9 s 150
qregq A (NF1A)
i) S ITITH A 250
Net Indirect Tax )
ii) GNP wp 3000
YO 2.)
frafa 7000 FUIE &0
3T 9500 S &0

AR — 39 ! TUMAT HIST AL ST Tpid W &aqEy|
Calculate Balance of Trade and explain its nature.
W9 3.) hidd i iR q@f & X gumEl w1 gew § qui w1
W9 4.) HIT ® HIOd A Y 1 GEES T T A G 2

W9 5.) Al srefere ud gHfe steforey 9 Th g W R 87 33w fed gy



SAHTAT

1. (&), 2. 9), 3. (), 4.(71), 5. (@), 6.(F), 7.(71), 8. (&), 9.(71), 10.(7),
11.(9), 12. (@), 13. (@), 14. (1), 15. (@), 16. (@), 17. (@) 18. (),
19. (31), 20. (&), 21. (@), 22. (&), 23. (@) 24. (71), 25. (M), 26. (@),
27. (@), 28. (&), 29. (@), 30. (%) 31. (M), 32. (@), 33. (), 34. (H)
35. (), 36. (@), 37. (), 38. (1), 39. (), 40. (@),

oY S9UF W9 (Short answer type Questions)

W9 1.) SR G o (PPC) § 921 @0 ©2 I8 Qe 3R e fogehar &2
W - IARA G9EHl 9% (PPC) 3ucisy HHe Td dohdi W aeg X @ Y & Sced
Eal

fafe= Fomamet =1 Siar |1 9% et IR 9 fogswa g &

(i) deeq o gfg et &

(ii) @iferer Gem deheieh & SUAM B 2

Y9 2.) T4 &R dehieh T qaer | gig PPC & = qifedt @R o Wi €2

I - 3= TR deAe PPC = Sifet o1k 2ofeit o 9 @ i o/=8t dehlsh & g1
XU gu durer 9 eifuss Scued W9 B O @1 wE A gfg ot PPC w1 it iR o S @
Ff PR dahtr <t &S B d oifus Hared g ot stfueh SR Y HHIe S @l

W9 3.) = gEeEd 1 ? IR A b S et )
I B gHE fe 7
(%) I ITRA BI7: IURA & fafq— axqsli § dafem == o g9e
(@) S I 17 SR dohleh § Hefdd =g 1 TaE|
(1) fras fau IR 817: axgeli & SYAN war & 9o faaRo 9 dafa
THE|
3 et o g rederewen ®i g1 4 SEed S Bl ® edifeh ¢ (1)srfia
AEYIHATSA i ol | FWeF WiHd 21 (i) el & Sehfeusds SwE G9e 2

U9 4.) Torus T IR @1, 36 99E & A B

I TE THE aEgEl TH oSl % IWE ol % wId 9 Hetud € o ed fHe I
fou € S e wifew St eifren god ekl Wehd 22 AR TEehT ST BT © al EehT drad
gem T = axgedl wd wamshl &1 Iaed faw ok o & forw & e =few sed o
1 S TR TS e W TS 1 Sfted T A df feer g A oIk fivm so et
Td el & " R @ Ted el SR T HE off wednehit I S TEl SR T




AR faw feHl B e o W SR @ Al TR Al 9 Tied ¥ "e™ 96 OE iR g
SCUChT 1 GATHT ot HH B SQM SR SRR b1 GAThT HA ANl fh 30 o &4
a9 FE? T We IARA T T IR Q0 SHEA F1 Saq-T S| gqieT =aq i
TS 9% @ Hare & o udE T

Y99 5.) & WA (TU) TI HHid W@ (MU) H i T 3
I - UG I TE Geft SHEA W U HHid ST & R/l A H TH | ST (TU)
FEd T
IUAN L Alell T STTelt a1 SAfqH Sl ¥ Wk SUANTar &l dmia et (MU)
FEd T
(a) & MU firdl @ @ TU sedt € sedl X 9
(b) S MU I et & d TU eifesham gt 21
(c) & MU RoTcaeh gl € al TU st 2
U9T 6.) I & =hid YAIE i SATEA hifaq|
I - S, fatmE ek Sudin s sreferaen & weequl onfde fwahend g €1 3
afefer fopameranrdl & SRH ereferaen & fafv=1 &5 & 9 IQE-YSH worar @dr 81 39
M YEH & HRU S IR G THE €Y Y Th 47 Y TR 49 & o yarfed g
©d B reforaen & fafq=1 &5 & o= 9@ % =9 ®9 ¥ Yeled B4 & Sl & A=
FT FTH YATE el Sl

UyF 7.) IR T Fanstl H Sia syl
I- 1) IS % SR T SULNT & Ste HWA Rl 3 B Tehdl 1 S & foig, T
HHl w1 I frEt e favm wwa fag W e s €, g we SuMi wm W %
e TR S e €1 fohq TE Fanell & WR § el @ Hepan Yore & Scued o
UGN & o GEA T g R TE el ¢SS &% T, S € i reAush o
foneflal =1 9eM URY I B, SHH! TH LA ol w1 @ gua famneffa grn suwm
ft fopan ST 21 T YRR SR, denidll, Mehl, dfRT, oEr onfE Fensi @ ar § off '
2
2) a&qetl & SUHNT hi THH SARA & M W e fema W1 Hehal @ i el & SqHm
T THh SURA & UM O Tl T fhan s gl
39 YR 99 H, &gl 1 el i YO & 9Ed @ WM & AJER fRaA S gl
21 foRg Gaell 1 Su At ifrar w9 @ dar gR1 Fruffd gma ok T w & fea W
Gehll B
W 8.) 9Rd W %1 qfd & forq feme =i w1 WA fepen S 22
I - ARG § G Ufd % 7 Sepfeqsh w1 WA TR ST ©:-
(%) M, =C +DD + 0D




TOH e @:-
i) SFar % 9 w3 AR 1@ A (o)
ii) @ SEW (DD)
iii) R o % 7@ = S (OD)
(@) M, =M, + SR &=d deh § 5|
(1) M3=M, + ol & UE g HEY S|
(]) My =M; + SR o=d WA § g w1 AREr (NSC &l Bigeh) |
vy 9.) F=fafaa siiwel @ o fafy & g 9Nk FiHdl W el TR IR I TTUAT

HifSg|
FUg (F0)

ix)  TSgd 9 o 800
X) &N 200
X1) =™ 60

xii) fooen ¥ YE WA oM -15
xiii) Tl weTEd 100
Xiv) ¥ 500
Xv)  AIAY H 200
Xxvi) &N 50

gd: GNP \p = TG 9 dad + @ TH + =
+ Y + JI_E + ATHFY h
- 3T wWear + foell ¥ 3 e oM
=800 + 200 + 50 + 500 + 60 + 200 — 100 + (-15)
FAIE O

= 1695 HUS &0

Y9 10.) 9RA & ST Sehl & o{eRLul sh1 HATw o0 wHifeg

ST - 9RA § AR SR % T ® < GEF & B STIEEd v o SR TR-sTgfed
o S| orgfad Sl & ff IF TR T ANt &7 % oS, fo a9 & o, iR
foreft S| wreiSfTR &9 & A% off T TER B T GRAG VL OF TH IUH GeAnh o
3N 3= UL el doh| ARG A" Skl 1 e = § feemn R

oo }

qresifTen fastt & & fereht S
&9 & A% ECD

!
' '




Long Answer Question

1.) HoIRE w1 Hod J1d whifeg

wS o
i) NDP 2000
ii) FC forell 9 s 150
qregE A (NF1A)
i) IS THeIs W 250
Net Indirect Tax )
iv) GNP yp 3000

Fel: NDP pe+ NF 1 4 =NNP gc
:2000 + 150 = 2150 = NNPgc
NNP ¢ + & FATFE F = NNP yp
2150 +250 = 2400 = NNPmp
GNPmp—NNP mp = JIIH
: 3000 - 2400 = 600 HIS 0 = HoIgd
U9 2.)

IERI] 7000 FIUE &0
ST 9500 S &0

SR - YT HT TUA HITC 3R TGhRT Yhia o sdqBy)

Calculate Balance of Trade and explain its nature.
Tol: AW - 39 = - s
= 7000 - 9500
= -2500 FHUG &0
&l MW - 3T 2500 HAS ®O & S i odwm &l
W9 3.) Higd i iR e & X gt & g § qofa w1
ST - ®Hd Gife @] F F AU WHR H AT Joredt ff ST Tedt €1 39 YRR R iHd
e o1 sreferaen W et g9 ged B
() wifea TurERT w1 aEq - o SR G hiFd T dn w S @ a9 Scaeshl vl
Tge Had ¥ FIET FH Higd W o9& (ol & o1d: a9 &7 & i ¢ 39 g i gfd
FH U FE a1 SAREH I o HI ORI U 2d 2| IFd: US WS © T W HEa
Hifelm o] &1 ST a9 Sysieet & wfean fhe #t aqe el
(@) WH F HE G U BRI B HfeaE - SudiFmst & a&qQ @icd & fau e
I THME W T USdl 2| Rl S ol - ol Akl § ©el @A USdl B1 SAUel % 9N




TWH & THA W FHF R U & ST T&l &1 Uil 39 YR WH H THHAT 3T
fEe &1 aeqy U G W IR HiGAEA H EA HE qdl B

WO 4.) T F HIUd A= F T GEEd 2 W A F M GA 22
I - qod W UREdE % Wortewd a%] i Wi W W SAAess uieds e @ 39 g9 Hi
T o= Hed 2l
T T HIFd A= HI HOT T G
T W g we - %G T AT H STUIGR IREd x
%] I HHd | Ui aReE e

AQ P
Or,EpZE—E

SRl = AQ = =% & "I H uRads
AP = &g ® qfEd
Q = AR w7, P = Rk oo

I 5.) Al speferes U THfe srefores %9 Th g W R 37 33w wfed "y

SW - =Afic Td gHftc tefored § # ofd g gU ot I Tden TH-TW U 37er T 7 3R
T A R faet 2, afck 3 @ - F T 21 OSSR & for, g weiglt ®R)
1 Fraitor qufie sy &1 faua @, wafs fadt © sam o a9l R @1 fufor sfe
oot %1 fowa 1 fog 9@ 9 Tt ©% ST o A9l i AeRd ) 9@ HAT @ 39
W G W & I ASRY R R TR B Y9E TSI TEH WE < H G0 IRA 9
UMR &R 61 fopedl 32 fogiv & Sy o UMK &R W 996 TS IR <9 & G
FHd TR HI fFE TH 9% HI HEd W I9E M IRa gR sua Hivea &
AT 3 AT H1 U AU o W KA G A B 21 3@ dE Tl Srefue
fte srefomet 1 guifaa e 2
T 3R, SAfte sredvmen off gufie srefvmre 1 yaifad w<ar 21 Ssew & forg, fafa=
Hfeard aTfefer shEal & SARA W & W T FH SART TR AR 3w & fafa= =afwm=i
# O ) & gy A6 R g 21 sreloqeren w g 99d SAfFwE wRerl & 9=
yEd o geifad gt &)
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SET-9



Objective Type Questions
U9 WA 1 § 40 T, Y% Y97 H TEl I T R

40x 1 =40
Select the correct answer of each Question from Question no. 1 to 40.

. T srefomeht & erefeme 1 S wel 9T 7

(1) fs== (ii) iy (iii) i (iv) teH @y
Which economist is known as father of economics.

(1) Robins (11) Pigou (111) Marshall (iV) Adam Smith

. refeaEel i ST A =1 B2

(1) el &1 sTEed  (i1) FTEHl 1 Ry

(i) oA fasmg (iv) 399 ¥ =is T&1

What is central problem of economy ?

(1)  Allocation of resources (11) Optimum use of resources
(i11) Economic growth (1V)Non of these

. T 29 o TR T faslk s @

(1) Yot g (il) 9NIR 1 3THR
(iil) wsfas @ (iv) 3™ ¥ gt
Economic development of a country depends on:

(1)  Capital resources (11) Size of market
(111)  Natural minerals (1V) None of these

. U HIER T Heay R

(1) =afte srefome 9 (i) THfte s ¥
(iii) (%) W@ (@) A (iv) T 9 &g T

Consumer behavior is related with:

(1)  With micro economics (11) With macro economics
(i11) (a) & (b) both (1V) None of these

. SUAITTAT HY AW HT S et 7

(i) =getl & fafma & (i) =*qstl & g9 9

(iii) =1 ¥ (iv) 379 9 =g &l

Utility can be measured by

(1) Exchange of commodity (11) Price of commodity
(ii) by money (iV) None of these



6. THTd STANRTT FT T TH HQ el

.. ATU .. AMU ,.... AQ . AQ
(1) 2 (11) ) 0 () —= v)  —-
Marginal utility can be measured.

.. ATU .. AMU ,.... AQ . AQ
(1) 2 (1) ) 2 () —= (v)  —

7. F= H 9 ®F g ©?
(%) TU TS o Sooad Il @ Si9 ok MU SHcHeh eidl €
(W) TU 9 dF SeId9 Bl € 16 dh MU I & ek Bl €
(1) TU @& fiA ol @ S/« MU RUTcHsh 81H oFTal @

(91) SUgH |t

Which one from the following is right?

(1) TU increases till MU is poritive (11) TU is maximum when Mu is equal
to zero

(111) TU decrease when MU is negative (iV) Above all

8. WM IR qou § HeH Bl ©
(%) fawid (@) g9 (1) (F) @ (@) IA (F) 376 9 & T
The relation between demand and price is
(1)  opposite (11) direct
(iii) (a) and (b) both (iV) none of these
9. WHM: Th ok 1 | & Bl e
(F) X - 3 & THRR (@) y - 181 & AR
(1) W W 3T Y A g3 (F) @ ¥ ¢ SR =gl g3l
Generally demand crurve of a commodilty is
(1)  parellal to X- axis (11) parellal to Y- axis
(111) Left to right downward sloping (iV) right to left upward sloping
10. TR 61 oI § gfg 8 W =A™ 1 A/
(%) agdl & (@) =it & () Syufidfdd wdl € (9) 379 9 g el
Due to change in coffec price, demand for tea will
(1)  Increase (11) decrease
(111) not change (1V) None of these

11. 3TUHA H ..., el § g gRadd el gidn:
(%) fer (@) dfed=eia (1) AFdE () ifds
| R SCIE 1 AN & WY Sl —agal @
(%) feer @r@ (@) aRadeia ara (1) TR (9) Heida




13. W% Sifafiad s &t fashl @ o 8T &t ... FEd 2
() Hmld 3 (@) A ™ () Hd E () AW
| /S AR o a&qd THME HiEd W S S @
(%) qoiafaarht IR (W) THISHR (1) STeqfesR () SR
15.9fd =1 e1ef B
(%) IcAIfed &gt st A (@) 3afsd a&g3ll 1 "Er
(1) ot & fou g a&ged & wE (9) | Sced Ud SaAdd Sy

(%) % % qea (@) &g &l qfd
(1) Hed TF o] i g (%) =% i |
17. TThaT TG BT s T 9 9ed R o=F H 9aR T T

(%) Rferd goa (@) ied ged (1) dma qed () 39 § ®iE T@l
18. T8 aISIX § AR = MR &Hl 872

(F) THIRR (@) THITYRR gfafim

(M) (F) W (@) <A () gl FiqEr
19.fFE IR § MR I A1 HOMHS Bl 872

() THIHR (@) TR (1) (F) T (@) I () qof
20. %4 & HqeH & fau emavas @:

(%) MR=MC (¥@) MR > MC () MR< MC (&) MR=MC=0

21.TeH oY & STIER stefeme
() wifqer weamn & faaqm ? (@) dfqa @l & famm €
(1) ®F o fomE @ (%) STETIhAaEHar - Heeft famm 2

According to Adam Smith economics if
(a) Physical Welfare Science (b) Limited means related Science
(c) Science of Wealth (d) Want lessness related Science

22570 9 fra snfe fmanstt @1 onfE qen ofd #ed @
(%) 3@ (@) 399 () faf (%) faaeo

Which one of the following is the beginning and end of economic activitiecs
(a) Production (b) Consumption
(c) Exchange  (d) distribution

23. AL
CORCICEIHRERIE (@) Aeefansl fagm
(1) TS Td AeRierst fagm A (9) TH 9 $is T8l

Economics is :-




(a) Positive Science (b) Normative Science
(c) Positvie and Normative both (d) Non of these

24, qftarg H @l w1 TiHe B 2
(&) Wl (@) fsit (1) i @ Wl (9) 379 9 hig 81

In Capitalism the owrership of resourees are under:-

(a) Public (b) Private
(c) Public and Private  (d) None of these
25. 94 H €

(%) qoftaral stefeqawen (@) fafya steferawen
() TENEE Ao (¥) TH 9 ®IE 8l

In India There is :
(b) Capitalist economy (b) Mixed economy
(c) Socialist economy (d) None of these

26. fafsra sreferaeen =t qea fawma 2:
(&) freit =fH (@) Gresi-e @i
(M) o-Tus w1 3id (W) S0 ud geste @it gEl

Main feature of mixed econmy is :
(c) Private ownership (b) Publice ownersip
(c) End of Class Conflict (d) Public ownership both.

27.¥/9 HEld ST I B € 99 H ST Bl €
(%) fFeam (@) afasd
() = (%) =78 9 i T

When orarginal utility is zero then total utility is :
(a) Minimum (b) Maximum
(c) Zero (d) None of these
28. 5 fohddl 9% & ged § wft STl € 9
(%) | aedl & (@) | HEd 7

() i feeR Wt € (W) Wi wgdt @ a” wedt ot 2

When the price of the commodity decreases then

(a) Demand inereases (b) Demand decreases
(c) Demand Constant (d) Demand increases and decreases both
20. 91 & fau g sl @
() =% I T=0 (@) geH

() ©E HE B T (%) =9 9 g+

For demand the factors are necessary.
(a) Desire for good (b) Means
(c) Willingness to Spend (d) All these

30. sfrard s W Wi B @
(F) TR (@) dA=ER



(1) Afereh dERR (9) e AMER

Demand for necessary goods are.
(a) Elastic (b) Inelastic
(c) Relatively elastie  (d) Unit elastic

31. Frefafea & 9 frg og %1 7 Se=ER B 22
(F) | (@) ™F (M) ER- Soeqd  (9) TH ¥ HE T2

From following which commodity demand is elastie?
(a) Wheat (b) Salt
(c) Dimand — jwellary  (d) Non of these

32, ICARA T A8 T
(%) qfa (@) 3949 () fafma (9) =9 9 i 6l

Factor of production is.
(a) Land (b) Consumption
(c) Exchange  (d) None of these

33. SR 1 Y B
(%) SN & L KT (@) a& B 400
(1) YA T o (%) =79 9 |l

Production means :
(a) To destroy utility (b) manufacture commodity
(c) To Create utility (d) All these

34.3fq gfg Frem & eiqia Scare agar @
(F) A E I (@) T9H X °
(M A ERA  (F) g9 NI

Under low of increasing returns production increases.

(a) Decreasing (b) Constant rate
(c) increasing rate (d) none of these
35.51 H q&q ®9 9§ fwanha e @

(%) 3Iaafd gfg fram (@) Iafa g9 frem
(1) S@fd gig e () =79 9 9+

Which law operates mainly in agriculture.
(a) Law of increasing returns  (b) Law of decreasing returns
(c) Law of constant returns (d) All these

36. 39d @ § HH ® 9S4 o
() e (@) =g @ (M) feR wA & () TH 9 FE

When average cost decreases, margainal cost
(a) decreases (b) inereases (c) constant  (d) none of these

37.59-519 TRt &1 Tehigdl Tadl €, S 3T



() =t (@) F=dt © (M) fer @A 2 (9) T 9 =
e

As units of sale increases average revenese
(a) Increases (b) Decreases
(c) Constant (d) none of these

38. fantel & @R ol wfaeifiar & qog &1 faeior =i @

() IUEA =49 g (@) dmd TR g/
(1) 7 W@ gfd g\ (%) 399 9§ @iz &l

According to Ricardo under perfect completion price determined by
(a) by production cost (b) by maginal utility

(c) by demand and supply (d) none of these
39. STt WM qod &1 feior g €

&) HIT g (@) 91 1@ gfd & 3T
EESERAN
(TT) W qe 9fd % TE HeH N () 38 | HE &l

Long run general price is determined by
(a) by demand
(b) (b) by temporary equilibrium of demand and supply
(c) permanent eqquilbitrium of demand and supply

(d) by all these
40. THTIFRTT SO oe af) S1fehay e gehdl © d:
%) IHHI I kAT @ (@) IHHT FHHd AfF 8
() SEd AR a9 © (%) HHId T, HHd 3T & SR
2

A monopolist maximize his profity when
(a) His production is maximum (b) his price is maximum
(c) average cost is minimum  (d) marginal cost is equal to marginal revenue.

Short Answer Questions:
1. U o oA & foheet S STANT i S|
Mention any two uses of national income accounting.

e i | e 22
1. Ffg | SUHm w9 (APC) 0.2;0.4;0.7 © a1 3ed ==id Watd (APS)
I IO hifSIq|




If Average Propensity to consume is 0.2, 0.4, 0.7 then calculate the average
Propensity to save.

2. SAUR - Y A1 AW € 2
What do you mean by Balance of trade?

3. focuit fafma amm =1 ftam s

Define Foreign exchange market.
1. SNIR A1 & f9Re ®Re aqm|
Discuss the determinant of market demand.

|. SUIT e § F1 AW 7?2

2. T g8 WiHiq yfakem s X 9 R GHYRd B

3. GUICRSE W 9 F qHEd €7

4, U o HI KHI-GT A 2 T A 0 H wEn H 10 gfaw w
I5fg Bt & df wwa o e gfawra afteda gm?

4 3WT 99 (Long Answer Type Questions)

1. 9NR 9o T M qed & o dadi a1 foero 3

2. 9ot wfqefiar o eyl wfaefiar A oftgd qen dmiq o w5t wHfa i
A H|

3. o W MY FA THEA B? HT dF B wAl w1 G o i w|

4. TEE @ W MY 1 GHE B SHH! WH hI YA HicAgal 1 ol
Eal

5. Ul T TR § @ iR 22




SET-9
fawg - srdymer
ITATHTAT

1. (1v), 2. (1v), 3. (1v), 4.( 1), 5. (111), 6.( 1), 7.C 1v), 8. (1), 9.( 1i1),
10.C 1), 11.( 1), 12. (11), 13. (1), 14. (1), 15. (11), l6. (1), 17. (11)
18. (1v), 19. (i11), 20. (1), 21. (1i1), 22. (11), 23. (1i1) 24. (1), 25. (i1),
26. (1v), 27. (11), 28. (1), 29. (1v), 30. (11) 31. (1i1), 32. (i), 33. (111),
34. (1i1) 35. (i1), 36. (1), 37. (i1), 38. (1), 39. (iii), 40. (iv),

Short Answer Questions

1. U 3™ oi@isd & foh=l & ST &l aard|
Mention any two uses of national income accounting.
I - TRG @ d@iHd & & 39am Ffated 8:

(i) oTfefeh IYAfs 1 Fadh - Teh I hi A TS i ST d AU
T @i Fed SRl W U §qfad @ieE @1 98 B9 T <9 %
GTehfcieh, AMET T Sl ieF & YA @ 9 SqAfsu ol s 2|

(i) oM fasrm@ 1 AT - UEE oGl & e TH Uk I & STYH
famg wd onfles Foam & R T Ken oA A ot g wd €3
T ool faerd 1 X we wiet gumEre & 9 H ff Sent 29 2

2. gra fafo 9 w7 ewa 72

What do you mean by creadit creation ?
I - gr@ i St S &1 T ot € meayel & @1 9ra fafor 9
AR B ok S w1 i steen A st § gfg) aifted W ko we Shm
TR AT weti 1 faER wd €1 9 o fawg <@ fein wd € oIk SER
o arell & uet o st &1 fef w2

3. A 3ffEa SUAM Yo (APC) 0.2;0.4;0.7 € @ ¥ &= 9gfad (APS)

T TUET HifST

If Average Propensity to consume is 0.2, 0.4, 0.7 then calculate the average Propensity
to save.
3 - : APC+APS=1
: APC=1-APS
(i) APC=1-03=0.7




(i) APC=1-05=0.5
(i11)) APC=1-0.8=0.2
4. SR - I 1 A T ?
What do you mean by Balance of trade?

S - AR - Y © qqd Th 99 % SNE U ¥ % A FAEW AR 39
fafdl & oqafted e @ 21 a&gel & fafd iR o & 99 % =uR 9
Fed B TR vl °, 99 fafal § 9 393 ol Y SRl 89 T 29 % SAUR
~ 99 I e R Hehd &

MR - 9 = 339 T - 99 3T

afz 391 % frafq ol o eifisk € A SR 99 eTgshd (S=d ) Bl @ @R
afx e Frafdl @ eIt € A SR - 99 ekl (S M) BT R

&g H,

IR (A F=d k1) MR A9 = fd > e

gfdeRd (A1 =1 1) MR A9 = 36 > i

TH W F A SR e gfved ¥ & TR B 71 TR off wk efy ®
I HT AMR -9 A TR (T9d H1) a1 & A1 Y (S H1) el B

5. facsft fafma s =1 wftamn <ifsu)
Define Foreign exchange market.

SW - fagsht fafma 99R 98 9=R e @ faed fadeht qered & @de o s
ST €l 3@ YHR U8 fassht gm @ wig 9 fawl % 0% wer ey 2
frafaenal fagelt qEieti &1 faswl &1 T Geam qEiei &l fawl | € Seih
AR kT TR I 2| STEE-fald i aret S et fadeft et
% o oo facelt gwetl ot T el o 9o € SR STl SR gEreH
foelt qgret a<ed €)1 fosht fafra amm o qea wiaunht € aifiea o=, fokeh
fafma <o, s sifugd Sier @ik Al Wi
6. SNIR A & fufter sRe sqm|

Discuss the determinant of market demand.
I - 9t FReE S sfedra - gfer @t 6 ot gaifed s ®, o a5

w1 ot g w2

g

@) oG I BT

(ii) IUMEIST i 3T H gRadH|

(iii) Hafq a&gsti &1 wimal 5 gied|




(iv) el 5 afedH|
T HRH & @I, TR AT 6 gAfad FH A T HeAdU HRE

frefefen 2:
@) SEE UE URarl &t 9E&
(ii) A 9 g9 k1 Taaio
(iif) TERAT Hifd

7. SYAITTA fogetor i Hmet &1 Seoiw Hi|
Decribe the limitations of utility analysis.

I - (i) STAITE o™ &1 Tk yq@ H€\ gg ® T STAiin s Heds
a9 a2l
ST Teh T U6 HEHE STEUN0T B 37d: TH T et
T &1 Sarn S g

(i) SyAfiT fagewor @t @8 A= o g & @aia SwEfi fer ®d 2
IRAfad AT €1 aRad W @ g1 1 ST U Al @ Al
% foIU STer-atem Bt 21

(iii) =8 fovemu sfaasHeia asgsii W @] &1 8 9l

(iv) Uk o&] i YA & THF, M IR oAl & e Uied oAl @l

21

3d: TH YHR h1 AR d8cld ©d dTcl SE9RT & IR § fefaa fm
&l SFIE S Hehd |
5. U Fqeld W I SR 82
I - 99 T I AT G gE T i S gE dmdl W aggei & foedt
= ¥ W 39 THR ©E HL fh IR 39 AN ¥ Afwad dqie I
B @ Fatta 94 fog 3udea & fau Sged fog weanm 98 39 S |
HE IREAT R HAN Hifeh TRadd HE H ITRT HdW STYewan &l @I
WM ST Ui STo fAfved o ok §t g Fiudl @ sifreham gam i
W T H FI HA T AR L Afaehan Gdm 1 fag SUSERT Sqo
FHEA 2
6. FId g8 diHid wfaer R @ 9 qEEd @)
IW - Fedl gg HiHa YRieer T X &1 a9ig 9 ¥ ST 9% g fag &
3R SAIRT Bl 1 SuieRT S-S TRt o SoRial ShTEAl bl ST
FA B 9 99 98 ToE oifafed TR & fau Sl 9% *1 wH sl
I 1 dIR Wl 8 39 YR Th SUHiST 5o 370 UM H X %] hl TS




1 dGd € a9 ¢ HA ¥ e % Ul Gqte Ww wd & faw y awgeti i
RIS ! AN T T VR W, & gE AG 9 3@ o eifuw wgfe foa
W@l ® Saft € wite ) i W T oeg | ' =R

7. HHCGSE Tl W F GHEd §?
I - AR o Scaid & & @EAl & U@ fafa= g9 sy e @
S ScIeeh Teh T SCURH WK Y Hehdl €1 3H YR, T HHIES o
el (3w ud Yot & 39 fafu= g s weiia sear @ S wmE amn
o Icued B 81 1fITeT i % SER YU UH IR o 98 o el ©
S W SeIEA i Afehad Wit 8¢ fer gt =
I. T 9% HI FEI-AT @ 2 1 AR G H A H 10 gfawa w1 gefg e
g a wmd o feraen wfae 9iedq &m?
SW - TEl, ep-2 ; A ¥ wlav 9iexdq = 10 %
A foe wia o gfaea 9iadd = A
ep— T k1 gfaerd Ified
Hid | gfaea qReds

10 10 ~ ¢ o o (o
2 = I A = = 59 (h¥d H gfqed 9fedT)

" 9 v

1. 9NR ¥ed Td 9MH qod & ot dadl 1 faero <)

IW - INR Jod Td 991 Jod | 9gd §R SId % W®d gL Al o STAE Hed
o g § SofR 9 qed SHl % T Gged %1 gRemd elar @1 dfRd, SR
Td ¥ U e & The T &1 Wafa BN €1 sEfee a8 %El S © S 9eR qe
A O & 32 9ot hiedl @1 SR Jod I 0o § SAfUaR ST TR a1
H B Gehdl ¢l ST o GaY I Tk @rEy gN Ueid TR ST g 2

o 9M ged &1 @ disft W € Jefe fagaret e aeR qed @ et 2l
o ¥ 9% @< T fF 99N o 9 o % 58-I g9t wedl € Afd STl
i A Hod & T T I e 2

R 9K god § 9F ol ¥ IR A1 A" T ol Rufd 9gd R ak TWER 6 ®
Tl af IR gou ofusk € a1 udt frafd § ovg 1 SaeA eifus @9 o




FOETEY hiAd U HH AW, Wik g qul IRl i =2 gl I8 fufd 99 a&
T /N Fodeh R Jed 9 4o % a9 7 WUl 59 aeR ol 9 Jed
9 9 3 q9 sud Rufa sl wi &t ger |/ gfd w9 g, e waesy 9eiR
qod @M 39 YN, 9K Jod 9E god % seR 8 WU of: 3 T gl @ fR
IR qod § W= god §HIY T 1 g e 2

2. qui yicEfiar ud erqul wfeifiar ® ofwa denm WiHiq T i Whfd @t e R
SW - 30Ed ™ % Wy § 9 Hewyul 9 € fF

(i) S9d 3 (AR) & JoI a1 HHd el St 2

(i) 3Eq 39 e & W ¥ (demand curse) Bl B

(iii)y gl Tfaafiar & ofgq o Y@ U<t g @ Bt ® wafk ol wfadifiar
affea o Y@ e AR e 2
i gfeifar & ot g8 AR W1 9% 9ardt © fF Uw & g wHd W wH SIut o i
fhat ot AT S Hehd! @1 ®H W 3% THE #1 faw O TH € ged W B ®, or:
AR =MR Bl 21 98 o9 @ T ¢ o%] & G gohE & fau s & &md e 2l
arqul gfqefirar o firdt g8 ofed 3@ (AR) Y@ 78 =l € fF ®d +8 #md W
IE] w1 3Nfesh TR o= Tehdl B g AR o7 a%g H Ak gREA S AR @S9
%0 ®Ad W& 99 i fam ¥ sfEd e (AR) 9 i 3 (MR) i Y@ e
# R Rt g2 & “ofer sfigd o 1 qort & Hmid o 1 e sifysk oSt & fiw
& U sufere B € fop etfafiad s a=m & foru hiva s qgar ©1 erqul Wi,
THITYRR, TIIIRR, Theehil giaaifimar fefaai § AR 921 MR &1 @MW = &1 31X
firdt &8 =t 21

(qot i) y
AR = MR (ol wfaaifiar)

: 5 \

MR

AR

O Y
O SIS HIEAT Y

3. A% 9 39 N GUWA § ? BT §h B KA K1 Wiww H gl i




SW - ok I | ok wewqu ween ¥, SR enfdw fawm i diewfza fean 2
dh 1 RY qUT T AlBTT B THS g GAMKd HrEl o ST g3 81 o 95 o
Y ferett 81 30 Wsg 1 1Y A1 oW W dSH qS1 HT SEA-8A AN FHE TRE
3faer wTHT AT 21 HE W 9 TSR S odq feafa § uget @1 MR qen il
& HE T TYfE Skl & fawd H grm o fEmmn ge A S €@ 7 1694 § o &
AT TATS ot TN & WY MY SfehT w1 foshma gRw g

S 1 AR FE IER ¥ G T T fage H g w oo maeR § g§fan
HE GoErg gReET T8 ?1 feh 37 uRWiet § g d O de & i o uieEd
firer < 21
W0 Yod & oER” dF o% Gwen T faue wOl TR AfFE & kUi & ifaw
T & Ty foqa &9 9 iR fhan s 21"

i 23§ Hifgw g & el W TF =g o Bl 2| g deh TR
& o7l Bl €, S <% % Seddl e Hifger Hifd w1 fAEior s € qen S§ femefea
A 1 GAE Al &1 BT Ao & FrAfetea 2

1) e FA 1 TfaeR

2) WHR 1 G SfemT qen T Yensti 1 Hered

3) SAEENTR Sehi & Tehs hIT hl HE

4) I S STAWSIA HIGT T T GV qAq Jae

5) Sl & o qen SAfaH HURH w1

6) Sehl % o= FHARNY & 1w

7) |r@ <1 I

gt 3 A T o T wE B GIRT B E| ARG e oo off

3 Gl w1 G, <91Ed 1 e W W gl @
4, TSF I W Y FA GUW T ST AU 1 G&A HiSAEAl H Gui |
S - famor & &9 § U o Y UROn % Hewqul T ®1 <9 W OSARd &
fafa= weml & Wedm 9 S UG ™ 1 IART B © sS4 fRE 9 S uefl el @
s foadia o fean San @1 U 3 qen 2w & anfdes fasm | e Hey g €
9 29 #1 TS A AR Bl ¢ SU foRfd wEl ST @ Seih % U e
<3 ol rEfaenfaa 1 9oft o T W R
aefel & AR “TREt 39 w1 W qen US ael & wigfae @Al W feemia g
wiaad fifass qen 1efifas oegel 1 Y 99 S FW ¢ foad gt we # gand o




A welt €1 TE 30 1 g aftieh 7 I TF ey 21" UL S T MO o

3 HISTEA 1 GEAl HE ggar & e Fafafea @ @:

(@)

(i)

(iii)

(iv)

V)

(vi)

TEE A9 1 MOAT § el TOAT 1 HHEA oA Wdl g1 59 HHEN @6
GO T ISl B
faveia STkl &1 19d T Tyl HieTE T TEH, IRd g <

o et fata = 2

agd W aEqy qen Ferd e gE @ g OH-3F & Bl SAR! O
T g o & 8 U, Fifeh U 39 i M0k go9 H i Wil @1 R
1 dfecnstl &1 For I W@E I o&gel w1 W W YN W IR0 ®
o Tdtg o o 9= qen e f S 3@ wRer U e &l gEl
RGBS U B il

TR 3T sl TUAT qA1 ol H Jod IRel & Rul ot wfcAsal gidl
21 Tea-URadl 1 TS i §C 9 god FEees 1 WA A e
Afed, gea ol & fmfn & e wfoal gt @ den 9 gofa: ol
T Bl

srafasfad 39 § UK 3= i TUAT WEl Rl 8 Ul i sreferewen
% Th 98 9§ a& fafa wEfad g € qen 98 ersita Biar B
TWHR & G a1 HU, & HRO A e et B Wy & fafa= <o o
9 Hatyd Fifaal | A ot gl g1 3 el 7 fRe off geurt w
fagis eam g7 3= 9gd €< ek A fhAT S Hehdl ® O UK M Y
T T S Hehdl 2

5. ol gfeEifin ud UhfueR | @ SR 7?2
SW - g yfeEifr aeR w6t 9w feufd s @ oo saet qen faswaret & gen
Afes Bt 71 FIE T sal A1 fapwar 9 1 A1 YA gR SR od ol gefad el

gehdll IR ¥ Tad gfadifi et €, 95U 99Ey Bidt § aur Sqol SR o HHeEar o
Sl 21 THfUHR ek B 9% w1 THAH fahdl g § R o%] i gfd W S
0T giar ¥1 ol 9@ o ThfueR aR i fefa w 3Ed g e IH B SRl
1 fagreuor 9 ahd 2

[N

quigfaaimar TERITHHTT

1. qoigfaefrar & fosharel 1 GeA| THTUHR § THAE foashar g 2l
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. fagarett =t gem efus g9 & | 3o it w1 qof st qren S €
B R e B T g

. TN THEY Tt 2 TAM o] H1 SR Bl ®, 9%
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TS &A1 ¥ 40 Toh, TAH T T G IR A

40x 1 =40
Select the correct Answer of each Question from Question no. 1 to 40.

1. %] 1 A gefad e @
(i) SHER@E (i) STRHA 9 (iii) AHEERA § (iv) TH W B TR
Demand for any commodity is affected from

(1) Utility (i1) Productivity (ii1) Profitability (iv) None of these
2. T &% HoI H glg 81 W == i AT

()  ed @ (i) et & (i) SMuRefdd @dt ® (iv) 3T @ ®iE e

When price of coffee increase the demand for tea

(1) Increases (i1) decreases (iii)) Unchanged (iv) None of these
3. U % oA § gfg | HR H AU H
(i) dfs (i) (iii) TR (iv) sTgsrferd

Due to increase in Patrol the demand for car will

(1) Increase (i1) Decrease (iii) Keep constant (iv) No effect
4. ¥9 & I ° gfg & RO 99 &I T H

(i)  wH (i) fo=r (iii) Ifs (iv) sTgsTfaa

Due to increase in price of apple the demand for apple will

(1) Decreases (i1) Extend (ii1) Increase (iv) No effect

5. STEfiTen faehtd & HROT Heigd &1 A gy S ©
() T = (i) S/ H (i) e W (iv) SRERT me

Increase is the demand for wages due to industrial development is an example of

(1) Income demand (i1) Cross demand

(ii1))  Derived demand (iv) Competitive demand
(R [ 1 - (— el o g aReada el gt

()  fer (ii) wRex=sie (i) AFEE  (iv) wifaes

In short period there is no change in --------------- factors.

(1) Fixed (i1) Variable (iii)) Human (iv) Physical
PRI BE T D) = i — % | & dog foe

(i) 3dfq gfg fem (i) Icafd g™ |

(iii) Ifqa g#ar = (iv) dfafda st fr=m

Modern economics have propounded the law of ----------------



(1)  Increasing Return (i1) Decreasing Return

(i11))  Constant Return (iv) Variable Proportion
. SEA & gt weE H uRedd w2
(i) TP (i) I&R@ (i) ASE @A (iv) TR S
In the -------------- Change in all factors of production is possible
(1) Short period (ii) Long period (iii) Intermediate period (iv) Market
period
9. Thel 3IdIQ
TRedeliel | HT THE
S0 | [— % A HH H IYEM Bl ©
(i) el Seare (ii) rEd ScareA (i) Hd AR (iv) i SR
Total Product
Units of variable factors
The above formula is used to calculate -
(1) Total Product (i1) Average Product
(111) Marginal Product (iv) Annual Product
10. =fte stefoen st ©
() U< S w (i) U&= IR
(ili) T fafere wd & (iv) 38 & 9+
Micro-economics is the study of
(1) National income (i1) National Production
(i11)) A particular firm (iv) All of these
11. f= & @ fpad foft wd givife & &1 9 sifee e €7
(i)  YSirerdt erefezrasen (ii) FHTSTETE! Srefesereen
(i)  Thfya stefedereen (iv) 9 & ®Fg &l
In which of the following, that is coexistence of both private and public sector?
(1) Capitalist economy (i1) Socialist economy
(i11))  Mixd economy (iv) Non of these
12. SCUEH FH9EAT ok ! AR ST ©
(i) Y=o ¥ (i) Tt 9
(i) fea @ (iv) o= 9
The concept of production possibility curve is associated with
(1) Samuelson (i1) Marshall
(iii)  Hicks (iv) Robbins
13. Freifera & Qa1 & SSE @

(i) Tafecs & & (i) =TIl & wE



(i) Twial & &M (iv) =79 |+t
Which of the following is the example of service

(1) Work of doctors (i1) work of teachers
(111)  Work of Lawyers (iv) All of these

14. Tr=ifera o 9 A enffer g 22
(i)  cfifaem (i) = (iii) ¥& @t WA (iv) &I G

Which one is economic good in the following?
(1) Television (11) Air (i11) Sunlight (iv) Water of river

15. A9 k1 THEN 3UfT ¥ HifR AR WA €

(i)  ordifua (ii) Sifga (i) 9@ (iv) 9gd =
Scarcity problem arises because our resources are
(1) Unlimited (i1) Limited  (iii) Sufficient (iv) Vast
16. fFg JhR T refcgemen wi qa oTfeld qHesti 1 WEAT HA TS T
()  Ysireret (i) FarSerst (i) fhfsa (iv) gt
Which type of economy has to face the basic economic problem?
(1) Capitalistic (i1) Socialistic (ii1)) Mixed  (iv) Every

17. gt enfier TmEmet % HRo @
(i) orefifad s=od (i) ©iffa @mem (iii) fof= gamar  (iv) 39 @+
All economic problems are due to
(1) Unlimited wants (i1) Limited means
(ii1))  Different priorities (iv) All of these
18. Fr=t & @ i o i fesivar @2
()  SyAfm (i) Sfmaar (i) fafma-merar (iv) 99 9@ 99

Which one is the characteristics of wealth?

(1) Utility (i1) Scarcity  (iii) Exchangeability (iv) All of these
19. STfeTaEn HT HT FHET F §?
(i) el HT AEeA (ii) ST ST HIAH FAM
(i)  oTf¥w fawm (iv) 9 & ®ig &l
What is the central problem of an economy?
(1) Allocation of resources (i1) Optimum use of resources
(iii))  Economic development (iv) None of these
20. IAEA HHEAT F T glel T €
() IR (i) <= 9
(i) & ¥ I (iv) W g =
The production possibility curve slopes
(1) from below to above (1) from right to left

(111)  from left to right (iv) from above to below



21. Uk =91 w1 omfefe foeme fsflt wvear 2

()  gSi "ErE (i) SIS =1 SR
(iii)  Urpfdes @fst (iv) 38 |
A county development depends
(1) Capital resource (i1) Size of market
(ii1))  Natural mines (iv) All of these
22. U GHNEE] Sefeqeree 1 9 Segd el ©
(i) o9 ewfSia & (ii) TTeRTe gfqafT
(iii)  TEOT Herd oFereen (iv) SAIRdH Tk Hed

The main objective of a socialist economy

(1) To earn profit (1) Cut-throat competition

(111)  Control free economy (iv) Maximum social welfare
23. U TR TGT Al B~

()  =Afe srefme o (i) T sTefeome o

Gii) (1) R (&) < o (iv) 39 o freht o =&

Consumer’s behaviour is studied in

(1) Micro economics (i1) Macro economics
(ii1)) (i) and (ii) both (iv) None of these
24, ST FT A9 FH S Gl 7
(i) gt & fafem g| (i) % & =@& g
(iii) | gW (iv) 38 9 ®ig -l
Utility is measured by
(1) Exchange of commodities  (ii) Sale of commodity
(ii1)) By Money (iv) Non of these
25. TR T gerd Frem @ @7
() T w fem (i) T9-HH Swafimar f=m

(i) HHM SHEIR g9 W (iv) U @ a=d
Which is the first law of Gossen?

(1) Law of demand (i1) Law of equi-marginal Utility

(ii1))  Law of diminishing marginal utility (iv) Consumer’s surplus

26. FH-THId ST 99 & ufaaes @

() TR (ii) ] (i) weu f@my  (iv) Re&rEl
Law of equi-marginal utility is propounded by
(1) Gossen (i1) Pigou (iii))  Adam Smith (iv) Ricardo

27. TG YA Y O B S



.. ATU ... AMU ... AQ . AQ
(1) AQ (i1 AQ (111) ATU (IV) AMU
We calculate Marginal utility as

.. ATU ... AMU ... AQ .. AQ
(1) AQ (i1 AQ (i) ATU (iv) AMU

28. W& Hel SYARTN (TU) 3ifushad gl € aa dmid i (MU) =i €
(i) T THE (i) TS (iii) A (iv) 9 & =g &l
When Total Utility (TU) becomes maximum then marginal utility is

(1) Positive (i1) Negative (iii)) Zero (iv) None of these
29. f=1 & § % 9

() TU @9 d% S99 eIl © 5 dF MU YA Tl 2l
(i) TUE Seoa9 gl € 5 MU I & ek & <l &1
(i) TU 9 fiRA ofrean @ sfa MU SRUIcHeh € ol @

(iv) STgF g
Which of the following is true
(1)  TU increases till MU is positive (i1) TU 1s maximum when MU is equal to

Zero (iii)) TU decreases when MU is negative (iv) All of the above

30. IS T Bl ©
() 3T HI AR ITA (i) ST™ FT R A
(iii)  (37) 3R () A A (iv) |t e

Indifference curse is

(1) Convex to the origin (i1) Concave to the origin
(i1) Both (a) and (b) (iv) All of these

31. IUATA 1 A e fagia feem f@n
(1) BN (i) 9 (iii) fewm  (iv) Ufa=

Who gave the cardinal concept of utility?
(1) Marshall (i1) Pigou (ii1)  Hicks (iv) Ricardo
32. Woh AWK % &9 H 39

() ST & stfieRan wE (i) S § sifue axqu Wk

(ili)  ITURA AN HH KT (iv) o] SRS T9% &l w4l

As a consumer you will

(1) Maximize utility (i1) Purchase more and more commodity
(i11)  Reduce production cost (iv) Not like purchase commodity

33. | & fou g Sl 8-
(i) % & T (i) WEA (i) @9 & H qORA (iv) 3TH &
For demand it is essential

(1) Witting for commodity (i) Resource
(ii1))  Will to spend (iv) All of these



34. 5t Tordlt a%g % Hed | wH ol € 7

() | wed ® (i) =T st @
(i) W feer w2 (iv) AT S&d 3K e o 2
When price of a commodity decreases then
(1) Demand increases (i) Demand decreases
(iii))  Demand constant (iv) Demand increases and also decreases
35. wra ¥ fafqg o 2
(i) 1 3 9 31 @ (i) 1 et § 31 fegwr

(iif) ] SRR ¥ 30 faamr (iv) TH ¥ = Tl

Financial year in India is:

(1) 1 April to March 31 (i1) 1 January 1 to December 31
(ii1) 1 October to 30 September  (iv) None of these
I I R L f—— T defed ©
(i) HIgsh! STefeTe (ii) Forl srefemren
(iii) EENORCR (iv) T (&) T (@)
Study of national income is related to ----------------
(1) Micro economics (i1) Macro economics
(ii1) Both (i) and (ii) (iv) Neither (a) nor (ii)
37. 3 SR R A TATUHT S0 TH Tl ——ommeeeee g foren o @
(i) 1N (i) TR
(iii) Eins| (iv) Terret
The General Theory of Employment, Interest and Money was written by ----------
(1) Marshall (i1) Ranger
(111) Keynes (iv) Ricardo
REIR Tl | - J——
(i) e g (ii) T o
(iii) arefass st (iv) SR qsht
Mountain and rivers are ----------
(1) National Capital (i1) National wealth
(i11) Real Capital (iv) International Capital

39. Uk sreforaen fore onfier ey SR <9l @ efar @ & S Sl ooeeeeev

@) a5 afefeTeren (il) Tl stefeaeen
(iii) @ sredeEeen (iv) 3TH ¥ ®E /I

An economy which has economic relations to other countries is known as----------
(i1) Closed economy (i1) open economy

(ii1) self-reliant economy (iv) None of above



40. BB & Yed H gl B W A I AN
() 9ol & (ii) gl € (i)  omURafd wWA & (iv) T | B8 TEI
When price of coffee increase the demand for tea
(1) Increases (i1) Decreases (ii1) Incheanged (iv) None of these

(g AT Y9 )

Short Answer Taye Questions

T 1. - USiraret srefereren @t Heequl favrsand o 272
o 2. - A o8 X 1 g (5 ®kg) W TRER (4 ®/Kg) & S @ 3R g Susiemn ‘A’ SHh!
A ST 4 kg | 6 kg o a1 @ Ut frafq o awg X & forw A @ @ @ en?

The price of a ecommodity X falls from Rs. 5 kg to Rs. 4 kg. per kg. and quantity
demanded by consumer ‘A’ increases from 4 kg to 6 kg. Comment on the nature of
demand for Commodity ‘X’ in this case.

U9 3.- HATE AN hl UG R

Define Opportunity Cost.
U9 4. - HHTSAT ok § T &1 HHSA 87
what do you mean by Production Possibility Curve?
Y9 5. - oA SAImET ¥ R WHHAd 87 THeh hid-ohid § &7 B

What do you mean by micro economics. What are the scope of it?

YT 6. - A a5 T e o W A A
Differentiate between superior good and inferior good.
9T 7. - W & TEW Sl AT gEeRt ST T HIRaTd 2

Define law of demand. What are its assumptions?

YT 8. - WA YER Td Wi Heper ol TR &l

Define extension of demand and contraction of demand.

Y9 9, - hiAd el W T GHSAT 87 o fehdd 9 & 3ia 2

What do you mean by Price elasticity? How many types it is.

10.3wfa gfg From ar sware e g fem ar quzm)

Define law of increasing return or law of decreasing cost, theory.



4 39d 999 (Long Answer Type Questions)

Y9 1.-STET e hi SUT hl SAAT ShitaU|
Explain the term production function.
U 2.- Hifgen orE @ € 2
What is monetary cost.
Or
U@ @ Ta U¥eh o el W &
Define prime cost and supplementary cost.
Uy 3. Hiuld MW Ug 3ifrEd W @t uitifia s
Define Marginal Revenue and Average Revenue.
T 4. -USE E W MY o HHWA €| THH! WY h YA Sl i FuiH
H|

what do you understand by National Income? Discuss the difficulties of its
measurement.

T 5. wfe srdfumer @ @ 9uE 22 U d-d ¥ a7 B

What do you mean by micro economics. What are the scope of it?
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(Answers)

1. (iv) 2. (i) 3. (ii) 4. (i) 5. (iii) 6. (i) 7. (iv) 8. (ii) 9. (ii) 10. (iii)11.(iii) 12. (i) 13. (iv) 14. (i) 15. (ii)
16. (iv) 17. (iv) 18. (iv) 19. (iv) 20. (ii) 21. (iv) 22. (iv) 23. (i) 24. (iii) 25. (ii) 26. (i) 27. (i) 28. (i)

29. (iv) 30. (i) 31. (i) 32. (i) 33. (iv) 34. (i) 35. (i) 36. (i) 37. (iii) 38. (ii) 39. (ii) 40.(i)

(oTg ST q9T)
Short Answer Type Questions

U9 1. - UsHarel sreferawen @t wgaul fagaand o €2
What are the characterstics of capitalistic economy?

I - Yool sreferemen ® S fwan st geT &9 9 Yeiar sefrEl & gr fRe S €
et fafre gofiardt som & wh o oFe SuHl e B doflerdy sreferemen wh U
sreferereen ® foraw stfrentar fopamepedl & Frefafoa sifireer g 8-

() SeAEA & el ) St g ®
(@) =) ® frfd & s=n & fau @ saea fean S 2

() #fHehi kT Heetl w1 HA-faka wh Ffyed #Ha W e §, Y aeigd B W
FeEd T

9T 2. - A% w%q X 1 99 (5 ®kg) W RS (4 ®/Kg) & Sl & AR g Sudiem ‘A’ @i
T SR 4 kg § 6 kg Y a1 € e feufq # ovq X & fow @i o @ gni?

The price of a ecommodity X falls from Rs. 5 kg to Rs. 4 kg. per kg. and quantity

demanded by consumer ‘A’ increases from 4 kg to 6 kg. Comment on the nature of demand
for Commodity ‘X’ in this case.

A P - 5 5
W - Bd= Sxo= (k2= 2431955 (>
AP T Q 5-477 4 174 4

& o € foh Wi dreRr @ 9 g 9 e R

U9 3.- HTE AN okl TN e
Define Opportunity Cost.



ST - IR AN 1 YR 1 MR I8 € fF 97 o0+ oreiifyd seotefl =1 difaa aeei o
o e Aferemam G qE HE HT AT B B OUEN FE B AU SH o weHl &
Aenfeqen wANT erefd el 1 gAE T Usdl €1 W, Y w1 g - wH & faw qeE
T, IH N HhaRd TEH, WA FH AR & AU fFa 1 wha 21 gH YRR g STe
THg 1 ST TRt wREm H #E w91 N e v w21 A gff | Aeie
AN St € A HehM S A1 Tl S & HH Hl AN KT UM T YHR A% AfFw
e e B d SH $R@M % M Sl @M HET US| TE YR H N i €l e
AN & A W YHRd &1 W4 Tk HH H HH & A TR FHH H ST Ted1 @ a T
M T (A HM) T AN SR IRA & & § 59 Th IR § IRA o HIEHl
1 B H T SRA W O Sl © A S SFHE W S 3 3= W el § 9 Ied
SIIEME 1 ST AN el 2

U9 4. -ITST WS ah W 3T T GH ¢2

SW - TF SAGT WG o9 ST TEEA H T q UGS WeIfwE 99 % 5W

Ieqfed
H S Gk et el oegenl den densti & @t gnfod "Anl & WHE Wl &an @l
SYSS WHIEHA T WE 99 IUCs WeifTwE 99 ¥ w6 U fifewd A 9 @ sea
# Thd | 3@ uRfeafa o A en fordl T @™ o%g & SR Sl S Ml =Ed ®
e fFdt S oRg H W WMl USdl €1 S FRU SR GEAT 9% kI e
TARRATH oeh i HEd 2| T@ b B WEHdl W FAE hl GHEN I GH YRR & qfin
TSNS H AR S Gehel B

Y9 5. - i Ifumer ¥ R WHIAd 87 THeh hiM-ohid 9 &7 B

What do you mean by micro economics. What are the scope of it?

I -3USH 1 HEsh! V5 Ufeh & HIEHIE (micros) ¥ Ieq=1 g3 7| SAfe sreferred & @

T R o M1 s
AE G T AT Bl 2| AifeeT & SER “oAfe sdvyrer fem wel, fawi
Jaferder i, TergiEl, sfam e qen fafufe awget &1 s 21

T YhR Afe Aqems H St e 9|, Suden &t "=d fagid, Iw-dimid
Syt g faw, Susien 1 d=d fogid, sfera wH, fei-sam snfe snfier sian
T 9% ‘qoa fagia’ & W W St S S @1 ] vt 9ok cAfe stefee, st &
eI W 5 o Gl

=it gy & 87




(i) = s fEm

(i)  IUEA W AFd A Tagid
(i) @A o fagia
(iv) T e w1 fagia

U9T 6. - A 9% TS e a%g | 3 &
I - G a5 9 ¢ TSE wn W o gfg & WY ghg g @ SR o H e % |
i

o oft et g o @1 ' S oft oy S hd ® S 9 stfushal W aEqy @)
Tel @19 T A 9% k1 Gl A Bl @ T8 SW Kl Wk St g2 W@ gl g1 s
Il 3 ® ot 7 o gfg & Wy % B W € SR o W wHl % @Y §g Sl
21 UE uRfterfa § oma we A A faufa e g ® SR Mg U Wi 9% % HOTHS
Qe Bl ¢ | SN, HiEl HUgl, SIetel, siel g s& St § e 2l

U9 7. - W & TE0 Al AT SRl 9T =T WA &1

Define law of demand. What are its assumptions?

IOL- | 1 FEH g s © e A o o e ®@ dl 9% % god ® wHl o % i
i
¥ gfg et & ik win e ° gfg @ A A w g 21 Sed @ R R iy gu
g W frdt ovg * AT 3@ 9 kI 9% A € W 39 ged W R foniw wm o
ECH IS |1
AT - YIS i 3T § HIE URexde &l sl
o TRy o & TI | HE UREdd T Bl
STl & WIS, WE T hed | ufedd T@él e
g T wiaeama= a% e 2l
SEE ¥ 9iadq 7 @l
Afae H o%g & Tod ° IREdd i geed 7 8l

U 8. - HET WER T Wi Hepad ol TR &

Define extension of demand and contraction of demand.

IW - AT GER:- A 37 o1d {EeR © R o & 0 § il & ol o%q w91 4 ghg Al



YT 9. -

T JHR HE W@ 21 THY T H W SR G A € AR I T H TER G B
f @ dafm €1 A TOR & 99 Ie & ofafem ok medt fruftr feer wd €1 Sern:
qH o for foRelt % 1 G 10 o B SR I 20 THEA I A Bl 1 AR SH %]
I HFd AR 8 Fo B T df T T AE 25 THE & SO TH il Wi fowR wed
2l

URT Gepe - 379 a1 (2R ©1 W A 9% & o ¥ gfg & R0 3UD! /T H HHl 3T
ST A I W Geped wed ¢ UE feefq o A w1 W@ = 9 SR 3R SSH ot B
ST - UM o & R 9% # ged 10%0 ® W IHH! 20 THEE HT T I ST 2
I 3T T P SIAT 1080 ¥ TGHL 12%0 8 AT Al IHH! 15 THISAN I | i ST
70 & &9 Wi Ghud wed €1 3 <Al bl eH Whfd g ot g9 HeRd 2

Y ‘ Y
D HIT 99X D E E‘)
10 A 12 A '
B
8 B 10
) N
O 20 25 X 0 15 20 X

T AT W FT AT 22 ¥ fRe TR @ 2 R

What do you mean by Price elasticity? How many types it is.

wd e - foRdt a5 = & ged o ufad & Therke®d 39 i Wi § uRed @i 8w

F HITd @ Fed g1 T T I gR A S G )
Fd A (ed) = AT ST 7AET | gfava qRadA
7ed ¥ gfaera afteds

HAA el & YR - o § IRadd & IRomasy 99 aigsli & i § 99F €9 9
fedd 7 BN -t qoa ¥ gl qfadT g9 W A A sifusk qftada @ S @ eI
Ffi-wfl goa # stfues 9Radd 8 W ot 7 W YR g Y9E T8l gedl 39 YRR TR
a%g H H H ufadd ged ¥ ufedd % oUW e gen dl 1 Wl Vsl H, 9%
qm # uRedq wt G THe goa H ufedd w1 vfq ot erden & o oifusk © ekl @l




FEd: fafa= awget =1 @9 $F% YRR &1 Il ¢ WHR: HIEd Rl A " YR
Bt 2

@) quidan @ERR AT (EP = «)

(ii) qrufer deRR 7 (EP< 1)

(iii) HAAERR 7 (EP=1)

(iv) ey SRR 7T (EP > 1)

) quiqan Se=_R ' (EP=0)

10.3fq gfeg Fam ar shume @re gw w0 Jusm)

Define law of increasing return or law of decreasing cost, theory.

S Scafd & foret off WA w agH @, SR i A0 § gfg B © Ol 99 STeee Wi

UM Scafd g 90 w8d ¢ UE 36 HROT el € fh WeFl @ Ann sed @ Scdfq @
Yo 9@ Sl €, SR SH W€ YAM Wl Sdfd %1 WX S=d 9| 8 S g1 W0 ARt %
TR o T Uit ¥ gfg @ " sifuss o=t oaeen ® Wit @ fags ufomm
wWEY 91 TS Yt i wE emar o Sl @1 3 fagid s EU AW HHNd drd e

fm 21 W Sue § orud ¥ otfrk gfg BN ® @ SERH oIF SE Sl @1 Wi Wi
srfeSTiar, Scafd 1 ol Td S a3 % R SdRd g FEm @ e @
SEr-v ¥ g from foviw w9 9 an g €, FifE sam ddf § fammem w owEm,
HH-TaueH @R <t Safd & fau oga @g1 &9 g 2l

e 39d w99 (Long Answer Type Questions)

U9 1.-IATET Tl aht RO &t SATEAT hifSU|

Explain the term production function.

IW - SR % fagld § SOM oM *l YR Yd Hewqul @1 %H i el *l Sue @R

IqH

T SARSH SARMN & el (Inputs of productive factors) & aRfash Tad Hi & Icdd
~ el Hed gl ST e USdl Ud Scded | asheiehl He st € fob Afe deheiel 9
A ey A §F gE © i Scued Wi At ueal 9 feha Seared € W S Afg g,
qfF ue qft * A S gE & Al SR fRa B g% dehdiekl feafd & e AR s
Bl S bkl T o@ STl S WAl 9 SAfen Saed W A S Hehan €




gy 2.-

(1)

99 3.

YE[erET & IR “STRA el dehis! a9 € S 98 o ¢ T Safd & aee &
Y& Gar R a1 IeaRT urw fRar S g | s9eht qRen fU gU dehdieRl 9 % deH
H 1 oI 21

Tifger @ @4 § ?

What is monetary cost.
Or

U@ TR TS YIeh AT hl W i

Define prime cost and supplementary cost.

S & ol el 1 551 % B9 W S YRR G S © SH ifssh @ shed g
Hifsehr @ = d A Al fasfa fe wn @ (1) wqm A (i) e el

TIE N - Foish Scled | & YR % o i USd e- U TR oFF 3R qEd Ireers
9| Wt = & Afafed W oIk 99w Usd € W9 hedl Wiel &1 god, ATl 6
da, S T Herer v W o, 3 W@ And % faiid ofd 1 T erqu # Seured
a1 W@, THE N R oHF U ER § d@dl W AR o%g 1 IcARA HH BT § Al
T AN W S HH B ST AR IARA S8 § ST @ A St 5% g S ¢

eh AN - SR & § T AFd o3 &l vedl © o &d AN hed 21 39 YER
F AN e Th IR B A6 T q9 IqH FF H IS uRadd € g =R Scfa w6
TN B & ST LAl 9@ & WU 39 YRR i AR & FAaid fH d HeRH 1 A,
HeiHl W e S, g shHeiEl w1 dqq onfE wiwmfed @ Wen @ w1 fastwn @ fR
M I B A A B g 9% =g W & U 2

Hraiq 3N UE 3 31T wht uRefua Y

Define Marginal Revenue and Average Revenue.

Heiq e T SAfafied g ol 9= 9 el W W S gfg Bl @ 6 Hmid 31 whed
Bl 3 vkl o, fohedt o%g R A1 W U IHE %H A1 ofus 1 U g 9@ ° W dfg
1 it Bt ¥ SH diid o whed €1 59 fm 100 sfgat wt fat @ 10,000 €9 HY g

A@ W e €, I 101 ufEA W 10,500 ®UF H gl @ G Al FE 500 Fo

ATR
(10,500 - 10,000 =500) BrT MR = E

e o - okl § Wi el STFTH W Sl T A Rl 9N °F @ SiEd S Wiw gl @l
TR

TEfAT 3iiEd 3 = %ol 3 AR =




IEEANCARCIE!
%o refered Slga SR Y@ (AR) i Wi &t @ a1 fashd W@ (Sales curve) HEAl
g HW 2

e 4. -USF 3T § 37T F1 U T THH! A9 1 G&I Hicagdl w1 aui |
what do you understand by National Income? Discuss the difficulties of its
measurement.

I - famo & &9 o U o H YN 1 WEeyul T 21 29 W OIARA &
fafe= werl & "edm @ S UT o o SR Bl €S9 fee § S meft el
& e i Y fean Siar @1 TN S O 2 &% onfYes o | uf e Hey g
2l 5| 2w =t U< o eifues el B 99 fasfad el S € wefh e R
ST 39 1 SEfaeRfad w1 SOt § e S 2
aRfedl & ST9ER “Tdt 391 &1 o9 den gSt w@l & Wgfaw weEl W fwanie g
afaard wifaes qen erefifass a&gsti &1 s T S A @ fed gl w®e H A
ff wfer @t B 98 3@ @t Fagrg aiffie et U wndiw 21”7 U ST Wt
T § 3T HSAEAl 1 WHAT AT ggal § o fafafea 1@ @:

@) T 3G 1 TUAT § el MO hT HHE S Edl 81 39 HHE

T ST IEal B

(i) favaaia SThel 1 199 T HeoTyul HhiaAE 81 WEH, 9Rd Sig 3

o gt fraiq & 2

(iii) gd H I&qU qUl YAl SR X % R -3 Tl Bl Sl T
T o o A B U, Hbifeh U STt MU %od W sl Wil 2
R i Afgenstl I Gl A WE Icwifd oGS k1 R H IUAN TH
ST € T Ui ot o wmr qen [l f San 39 SR U
3T ! T IO R @ |

(iv) T 3™ &t AN qe ol § oo IRaddl & SRuT o hicasal sl
Bl TeI-UREdEl 1 EEeE #Rd ¢ HE oo R w1 §Ene
qS AAfer, gea Fieiw & fofor § eme wfeeal et @ qen 9 gofa:
et &l B

) afaenfad <M H UL 3T i AT W&t el & Uil Fifer qefeawen
* TF ST 9§ a% fafma yafad e € 9 98 STkied B 2l




vi) R & 49 q901 U, % HRU W HicTE et &l Wy & fafw= wi o
T Hatyd ifaa § S Wt g 21 3 wfsaal @ e o geur
fogis & g 3% 98 ©< d% HH fHAT S Hehdl € q1 TT ST Y
T T S Hehdl 2

Ty 5. - Tax @t "9eEar 9 g/l F|, el RO @ 9T el UREdaviel @R ohl

IR

Define TC, TFC and TVC with the help of digram.

I - =9 Y@ o9 § OX ¥e W IART I OWE 99 OY W AN bl 29iA W @ TFC 9%
el fe @ 1 il 81 ¥€ OX % HHAH 2| 9 % W J8 Ul derdl @ foh fEer
A IAEA & TR A URadd ofF Wt oraRedeia ®d 7l

Y a A @Fd TC

FHa gRafid @ (TVC)

E % fer @FE (TFC)

@) »X
SR i Sh1Al

I SR B ¥ ANl % e et @1 g Tl H I A gt ] TVC 9% H/d
REdRiel T i <l 81 € o O forg @ IR grer g3 ¢ ¥ <F FW H AR
Sl 31 3O U el ® R SARd & I W R uRadsia a3 B ® eI
SO & T P TG b Y F gl 21 AT H A A wedt g8 ) W wgdt €, W
T % UvEn d 9gdl < 9 wgdl 81 TC 9% el @ i Sl €1 TE dh TEeR
ARG A hel IREdSe AR S-Sl @rmdl & SIg ol Yehe Hidl 21 I8 ok o
fog & 3Iea1 31 W U o € fF Y SR % WR W KA Ad I TEl g
I SR &1 feefd o g7 fer @l & seR e 81 TC % TVC 9% & THMRR
Afq TOF T W Tl B T8 T% FHW TVC & FR Tl ¢



